DNV

DNV BUSINESS ASSURANCE

CERTIFICADO DEL SISTEMA DE GESTION

(MANAGEMENT SYSTEM CERTIFICATE)

Certificado n° 130981-2013-AQ-IBE-ENAC

Se certifica que el sistema de gestion de la compaiiia
(This is to certify that the management system of the company)

INDUSTRIAS TECNICAS DE VALVULERIA, S.A.

C/ Bergueda, 14-16 P.I. Can Bernadés Subira, 08130, Santa Perpetua de la Mogoda, Barcelona

es conforme a la norma
(complies with the standard)

ISO 9001:2008

Este certificado es vdlido para el siguiente campo de aplicacion
(This certificate is valid for the following scope)

DISENO, FABRICACION Y COMERCL’ALIZACI()N DE ACOPLES RAPIDOS, VALVULAS
ANTIRRETORNO Y VALVULAS DE CIERRE ESFERICO.
DESIGN, MANUFACTURE AND SALES OF QUICK COUPLINGS, CHECK VALVES AND BALL VALVES.

Fecha certificacion inicial: Lugar y fecha:
(Initial Certification date) (Place and date)
19.02.2013 Barcelona, 19.02.2013
Este certificado es valido hasta: Uniidisdd serodbradis

(This certificate is valid until) (eeredited Unit)

19.02.2016 E C DNV BUSINESS ASSURANCE ESPANA, S.L.
La auditoria ha sido realizada bajo la

supervision de CERTIFICACION
(The audit has been performed under the N° 03/C-SC005
supervision of)

Federico Mata Albert Canadell
Auditor Jefe Country Manager

El incumplimiento de las condiciones establecidas en el Contrato puede dar lugar a la cancelacion del certificado.
(Lack of fulfilment of conditions as set out in the Certification Agreement may render this certificate invalid.)

ACCREDITED UNIT: DNV BUSINESS ASSURANCE ESPANA. S.L. C/ GARROTXA. 6-8, PL. 3 OF.1, 08820, EL PRAT DE LLOBREGAT, BARCELONA, SPAIN, TEL:+34 93 4792600
www.dnvba.es



= 999
| THREADS
TABJIULUA PE3bbbl

BSP NPTF BSPT
PESSBA pO3ETKA  WTEKEP PESSBA po3eTKA WTEKEP [l PE3EBA pO3ETKA  WITEKEP
(aronmbI) (OAOUMbI)
e AA AL e BA BL
Ya” AB AM Ya” BB BM Vi DB DM
%" AC AN %" BC BN ¥e" DC DN
Ve AD AO Vs BD BO Z3 DD DO
Y AE AP Y BE BP Y DE DP
1 AF AQ 1 BF BO 17 DF DO
1% AG AR 1% BG BR 1% DG DR
1% AH AS 1% BH BS 1% DH DS
2" Al AT 2’ Bl BT 2’ DI DT
2% AJ AU 2% BJ BU
3’ AK AV Sk BK BV

DIN3852 UNF CNEUMNAINBbHBLIE
ORB
PE3bBA PE3bBA PE3bBA PO3ETKA LUTEKEP PE3bBA

e CL M14x1,5 NC 7/16”-20UNF GA HA KFA M20x1,5 @13,5
Zs CM M16x1,5 ND 9/16”-18UNF GC HC KFB M20x1,5 KoHnyeckas 60°
%" CN M18x1,5 NE 11/16"-16UN GE HE HFA ¥2"-16M. bes 37°
Yo" CO M20x1,5 NF 3’-16UNF GF HF JDA M16x1,5 CraumoHap. M20x1,5
8 CP M22x1,5 NG 13/16”-16UN GG HG GFA ¥4"-16UNF Liunungpuy.

1” CQ M24x1,5 NH 7/8"-14UNF GH HH JGA M22x1,5 YanvHeHHas
1% CR M26x1,5 NI 1 1/16”-12UN GK HK JGB M22x1,5 15L Long. Hex 35mm
1% CS M30x2 NJ 1 3/16”-12UN GM HM LGA  M22 CraumoHapH.YanvHeHas

2" CT M36x2 NK 1 5/16”-12UN GO HO

M42x2 NL 1 7/16”-12UN GQ HQ
M45x2 NM 1 5/8”-12UN GT HT
M52x2 NN 111/16"-12UN GU HU
M30x1,5 NS 1 7/8”-12UN GV HV

DIN2353 DIN2353 CTAUMOHAPHbIE
PE3bBA PE3bBA PE3bBA PE3bBA
M12x1,5 6L JB M16x1,5 8S KD M12x1,5 6L LB M16x1,5 8S MD
M14x1,5 8L JC M18x1,5 10S KE M14x1,5 8L LC M18x1,5 10S ME
M16x1,5 10L JD M20x1,5 12S KF M16x1,5 10L LD M20x1,5 12S MF
M18x1,5 12L JE M22x1,5 14S KG M18x1,5 12L LE M22x1,5 14S MG
M22x1,5 15L JG M24x1,5 16S KH M22x1,5 15L LG M24x1,5 16S MH
M26x1,5 18L Ji M30x2 20S KJ M26x1,5 18L LI M30x2 20S MJ
M30x2 22L JJ M36x2 25S KK M30x2 22L LJ M36x2 25S MK
M36x2 28L JK M42x2 30S KL M36x2 28L LK M42x2 30S ML

M45x2 35L JM M52x2 38S KN M45x2 35L LM M52x2 38S MN




ISO 7241-A,

Mpoun3BoasaTca B COOTBETCTBMM C HOPMOM

.................. ISO-A Series (Multi-threats)

[MponsBoasTcsa B COOTBETCTBUN C HOPMOW

ISO 7241-A,

Mpoun3BoaaTca B COOTBETCTBUM C
Hopmow ISO 7241-B.

Mpown3BoaaTcs B COOTBETCTBUN C
Hopmow ISO 5675,

pa3vep DN13 cooTBeTCcTBYET
TpeboaHuam ISO 7241-A.

MponsBoaATCs B COOTBETCTBUM
¢ Hopmon ISO 7241-A
/1SO 5675.

Mpoun3BoaaTca B COOTBETCTBUU
¢ Hopmon ISO 5675.
[ns AMeprKaHCKOro pbiHKa.

MpounsBoaATcs B COOTBETCTBUM C
HopmoW ISO 7241-A/1SO 5675.

Mpoun3BoasATca B COOTBETCTBUM
¢ Hopmon 1ISO5676 /
ISO/TC23 / NFU16006

Pe3bboBble coeanHeHus .
Co3aaHHbl AN NoaknioyYeHns
rMAPaBMYECKNX CUCTEM
TpakTopa v arperara.

ISO-B Series

...... DIN Series

..... PSH Series

....... DIA Series

... PSM Series

....... IFR Series

..... AGR Series

................................... AGR + ISO-A Series

Pe3b6oBble coeanHeHus.
CosgaHHbl 4NA NoAKMoYeHns
rMApaBMYecKkMX CUCTEM
TpakTopa v arperara.

Bbicokas nponyckHada
CNoCcoBHOCTb, MUHUMarbHOe
nageHue gaBleHua.

...... TFH Series

bl i



126 ... TPL SEPIES

Bbicokas nponyckHas cnocobHOCTb, MMHUMAaNbHOe
nageHve gaBneHus.

CBobopHbIi npoxoa 6e3 knanaxa.

Cdepa npumMeHeHus: YncTka nog AaBrieHNeM.

A7 s resneeeeeeeeens. JAP SePiES

MpounsBoasTca ana ANOHCKOro pbiHKA.

2. - S————————SSOL |V 1 = (=

Mpoun3soacTBo No 3akasy
aBToMobunecTpouTenen
cnaHuu.

| =: [ESPIE—— ISO-A Series (Safety Sleeve)

CronopHoe konbLo. [Npon3BoasTcs B COOTBETCTBUM
¢ Hopmon ISO 7241-A,pasmep DN13
cooTtBeTcTBYeT TpeboBaHuam ISO 5675.

AT sesseneeeneen: PR Series

Mpoun3BogaTcs B COOTBETCTBMM C HOPMOW
1ISO 16028. ¢ nnoCKoW NOBEPXHOCTLIO,
YTO MO3BONAET CBECTU K HYIIO

notepu paboyeri cpefbl BO Bpems
coeavHeHusi/pas3begMHEHNS.

140.... e esseneeeeeeenee. GVF Series

CBobopHbIi npoxoa 6e3 knanaxa.
Cdbepa npumeHeHns: YucTtka nog BbICOKUM AaBEHNEM.

[1ns cuctem ¢ BbICOKMM OaBrEHUEM.

o 1= | L = | = | = 1Y -1

[nsa Hu3koro gaBneHuns oo 35Bar.

Cdbepa npvmMeHeHusi: OxnagnTernbHble CUCTEMBI.

2 - PE3bBOBbIE COEQUHEHUSA

201 e VCR ser.ies

Co3saaHbl Ans rpy3ono4beMHbIX CUCTEM
aBTomMobunen.
MuHuMansHoe nageHve gaBneHus.

P2 1 HPA Series

CosgaHbl Ans LUnmMHOpPOBbLIX CUCTEM
[OMKpaToB 1 HAaCOCOB.




P03 .. ———— TGW Series

CospgaHHbl 4N UCMoNb3oBaHUs B
rMapaBnuyeckmx
cuUcTemMax BbICOKOro JaBreHus.

2 1 4 e R Y AEV Series

205 ... ————— STG Series

Co3aaHHbI AN UCnofb3oBaHUs B
rmapaBnmMyecknx cuctemax

24 1 | - F O — SRK Series

Co3pgaHHbl 4N MCnornb30BaHUs B
rmagpaBiiM4ecKnx cnctemax

207 e —————— CAT Series

Co3sgaHHbl 4N UCNoNb30BaHUA B
rMapaBnuyecknx cucteMax

4 - WIAPOBbIE KPAHbI

Q02 ... V2RH/V2MT Series

,U,ByX-XO,D,OBbIe KpaHbl

R I V2RD Series

[Byx-xo00Bble KpaHbl
LUunungpuyeckon dopmbl

T2 % 1= V3RH/V3MT Series

Tpex-xonoBble KpaHbl

L e 1 VV3RH Series

KpaHbl FEMALE — MALE -
FEMALE




452 ... eerereeeeeeeeeseeseesenseanen V2CR Series

BkntouyaeT B cebs pe3bby u raviky
AN KpENneHUs Ha NnaHenu.

04 1SR R ¥ £c | 0 = = T-Y o1 T-1-)

BkritouaeT B cebs pe3bOy 1 ravky
ANs KPenneHus Ha naHenm.

47/ HELLWAPOBbIE KPAHbI
- EK?2 Series

He wapoBbie kpaHsbl.
OTKpbITUE /3aKPbITVE NPOU3BOANTCA PYYKOM KpaHa.

2 Ny At [ =1 |40 I == o 1= 1<)

He LapoBbl€ KpaHbl.
OTKprTMe /38KprTI/Ie npon3sBoanTcAa py‘-lKOI7I KpaHa.

4 Ny VPN Series

[na nHeBMaTUYECKMX CUCTEM IPY30BbIX
aBToMobunen.

5 - BO3BPATHbIE KITAMNAHbBI
Lo ] O 1= RN 1 | = | 0= 1= 1 o 1= 1)

[ins 6e30nacHOCTM Ha cryYait yTeuku B CUCTEME.
BrokupyeT/KoHTponupyeT cnyck rpysa, npefoTepatlas
GbicTpoe NajeHne AABMNEHNSI B CUCTEME U BO3MOXHbIE
aBapuu.

BOAG.....eeeereeereressesneenneneene. ATR Series

Co3zfaHHbl Ans NpefoTBpalleHusl Bo3paTta
pabouel cpebl B cucteme.

Bblicokas ycTon4MBOCTL K Nepenaaam
OaBneHus.

5] 0 15 J N A ¥ I = = T-T o T-Y-)

CospaHHbl AN npefoTBpalleHnsl Bo3BpaTa
paboueli cpeabl B cUCTEME.

Bbicokasi yCTOMYMBOCTb K Nepenanam
[aBrneHus




101 CEPUA
ISO-A

MpousBoasaTca B cooTBeTCTBUM C HOpMmon ISO 7241-A, pasmep DN13 cooTBeTCcTBYET TpeboBaHUAM
ISO 5675. [loCTynHbI WapoBble U KrNanaHHbIe.
Pe3bb6a: BSP, NPT, SAE/ORB, Takxe pe3bba nop 3akas.

Marepuan * Pa6ouas TemnepaTtypa (Nnpoknagkm)
Kopnyc: Yrnepoguctas ctans EN -

10277-3

Mpoknagkn: NBR, ButoH unn EPDM

3awwmTa oT npogaenueBaHus: PTFE

LWapsbl: AISI 1010/1015

MpyxuHbl: YrnepogucTas ctanb
DIN 17233/84 (B)

* Applications: Designed for Oil hydraulic Applications * Cpepa npumeHeHus: CenbxosTexHuka,

according to European Directive 97.23.EC POMBILLAEHHOCTb
CO3,ClaHHbI Ana ncnonb3oBaHNA B rnapaBlind4eCcknx cuctemax B
cooTBeTcTBMM EBponerickon anpektuson 97.23.EC

* AHANOIM

FASTER ANV DNP PAV

AEROQUIP FD56  STUCCI BIR

PARKER 6600 SNAP-TITE 61
CTPYKTYPA APTUKYNA

NMPUMEP:

101.11112 BC
| \

101. 1-> Carcon Steel 1 > Male/ 0 - Without/ 0 > bes DN 2 BykBbl (CM. B
Yrnepoga. ctanb Ltekep bBes 3akpbiTns 1-> NBR 1> 06 v Tabnuue pesbb
2 > AISI316 2 > Female/ 1-> PoppetV./ 2 - VITON cTp. 999-1)
Hepxasetowy. ctanb Po3seTka KnanaH 3> EPDM 2> 10 W
3 > AISI303 2 > Ball/ Lapwuk
Hepxasetowy. ctanb 3> 13 W
4 > BRASS/NaTtyHb

4> 20 W
5> 25 17
6> 32 1W
7> 40 1%
8> 50 2

L
INTEVA S.A. Reserves the right to make modifications in its products without prior notice lNTEV A



L1
CH1

]
F

NG
—
\

MALE/ Wrekep

LUTEKEP

PO3ETKA

&)

MponsBoaeHo B COOTBETCTBMM C HOpMOM ISO 7241-A,
pa3mep DN13 cooTBeTcTBYET TpebGoBaHusim ISO 5675.

L - obLliasa anvHa coeanHeHus

06 19 36 11,80 72 0 _Y/BSP__ 10111111AB 10L12111AB , .
10 22 4050 17,25 81 Y NPTF__ 101.11111BB__ 101.12111BB
27 46 % BSP _ 101.11112AC _ 101.12112AC
B 73 YR I 10 _Z'NPTF__10111112BC  10L12112BC , o
20 36 56 29 112 % BSPT _ 101.11112DC__ 101.12112DC
25 41 63 3430 126 9/16" 180RB_ 101.11112GC__ 101.12112GC
32 50 75 44,95 150 %7 BSP __ 101.11113AD _ 101.12113AD
40 60 835 55 167 %’ NPTF __ 101.11113BD _ 101.12113BD
50 75 105 6510 210 13~ M22x15  101.11113NG 101.12113NG 300Bar
%’ -160RB 101.11113GF  101.12113GF
7% 140RB __ 101.11113GH _ 101.12113GH
% BSP _ 101.11114AE  101.12114AE
2
20 /141'71%-[!: 101.11114BE _101.12114BE . o
1ooRs  10L11114GK  101.12114GK
1"BSP __ 101.11115AF 101.12115AF
- 11 ;\;1P6TF 101.111158F 101.12115BF o0
1ooRs 1011111560 1011211560
1Y’ BSP _ 101.11116AG 101.12116AG
32 o NPTF 101.11116BG _ 101.12116BG 2°0Bar
1% BSP _ 101.11117AH 101.12117AH
40 T NPTF 101.11117BH _ 101.121178H 200B&r
o 2/BSP ___ 10L11118AI 10L12118AI .o
2"NPTF_ 101.11118BI _ 101.12118BI

F

TTLRZRILILSS
300RRIIIRLLIIE
S0RILRIILHLILSL
RS

L2

CH2

oA |

FEMALE/ PoseTka

06 19 51 26 72
10 24 58,50 32 81
13 30 63,50 38 87,50
20 38 83,50 46 112
25 46 97 55 126

32 50 117 70 150
40 60 133 84,50 167
50 75 165 100 210

INTEVA S.A. Reserves the right to make modifications in its products without prior notice

-
INTEVA



101 CEPU/A

ISO-A

TEXHUYECKUE OAHHbIE. KoacdhdumumeHT 6e3onacHoctn 1:4

Rated Flow Min Burst Pressure (bar) Max. Working Pressure *
Male Female Coupled
06 151/m 1650 1800 1400 350 bar
10 351/m 1250 1350 1200 300 bar
13 451/m 1200 1300 1200 300 bar
20 741/m 1030 1200 1000 250 bar
25 1001/m 950 980 920 230 bar
32 118 1/m 800 950 920 230 bar
40 4101/m 750 850 800 200 bar
50 8601/m 620 650 520 130 bar

* Safety factor 1:4
Data of Carbon Steel models

0 50 60 70 80 I/m

50
>

D7 4PZEr=

0 100 200 300 400 500 600 700 800 900 I/m

1013

.
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA




101 CEPU/A

ISO'A AlSI 303 < HEPXABEKOLWIAA CTAJlb
AIS| 816i- HEP)KABEIOLLI,AFI CTAJlb

lipongBoAsITCH B COOTBETCTBMN C HOpMOon SO '7241-A; paamep DN13 cooTBETCTBYET
TpeooBaHMaAM ISO 5675, HOCTYNHLI WAPOBLIE U KilanaHHbIEe.
Pe3bba: BSP, NPT, SAE/ORB, Takxe pe3bba nog 3akas.

* Materials * Paboumne Temnepatypbi(NpoKnagkm)
Kopnyc: AISI 303 / AISI316 Hepxasgerowasa cmarib

BRASS DIN-EN-12164 - JlamyHb
Mpoknagku: NBR ,Viton or EPDM
3awmTa ot npogaenueaHus: : PTFE
LWapsl: AISI 316W 14401

MpyxuHbl: AISI302 DIN 17224

* Applications: Designed for Oil hydraulic Applications Cdbepa npumeHeHus: Xummndeckas, Hecbrerasonobeiaiolas
according to European Directive 97.23.EC lMuieBasi NpoMbILLNeHHOCTL, MallHocTpoeHye,

CO3,ClaHHbI Ana ncnonb3oBaHNA B rmapaBlind4eCcknx cuctemax B

cooTBeTcTBUM EBponerickon agnpektuson 97.23.EC

* AHATIOIU
FASTER ANV DNP PAV
AEROQUIP FD56  STUCCI BIR -
PARKER 6600 SNAP-TITE 61 ===
CTPYKTYPA APTUKYIA
NMPUMEP:
Part/MacTb 3akpTbiTHEe Pasmep
101. 2> AISI 316 1-> lWrekep 0> Ges 0 > Ges DN 2 6ykBbl (CM.
Hepxasetow. cTanb 2 > Posetka 1 > knanak. 1-> NBR 1506 W Tabnuiy pesb6
3> AISI 303 2 > wap 2 - Viton cTp. 999-1)
HepxxagetoLy. cTanb 3 > EPDM 2>10 %
4 - Brass/llaTyHb
3>13 Ww
4>20
5325 1
6>32 1%
7240 1%
8>50 2

1014

INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA




101 CEPUA

ISO_AAISI 303 -.HEP>XABEIOLWLAA CTAJIb

AlSI 316

DA R MpousBoaaTcs B cOOTBETCTBMM C HOpMol ISO 7241-A,
" L MALE/ WTekep paamep DN13 cooTeTcTByeT Tpe6osaHuam SO 5675.

C B .. STANDARD MALE MODELS

MATERIAL  APTUKYN (@)

AlSI 316 101.21123AD 100 Bar

13 2" BSP AISI 303 101.31123AD
BRASS 101.41123AD 80 Bar
2" BSP M. AISI 316 102.21123A0 100Bar

hm‘“ MALE/ WTekep

iﬁ@ 13 27 59 20,56 83

L1

STANDARD FEMALE MODELS

FEMALE/ Po3eTka

DN oA MATERIAL  APTUKYN &9

AlSI 316 101.22123AD 100 Bar
13 %"BSP AlSI 303 101.32123AD
BRASS 101.42123AD 80 Bar

-9

CH2
l

FEMALE/ Po3eTka

CH2

il
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



101 CEPUA

PLUGS 3AI'J'IYLLIKI/I HA PO3ETKY

TpeGOBaHMﬂM 1510 5675 CTaHnapT KpacHOro LBeTa, ocTanbHbIe nod 3aKas.
Co3paHbl gnsa 3awmnTtbl BPC B He noacoeAMHEeHHOM COCTOSIHUM.

CTPYKTYPA APTUKYNA
AT J1YLIKH NPUMEP:

101.5313 AA

W/qéj—;

101. 1 -> Carbon Steel 3 - plug/ 0 > Metannuu.
Crans yrnep. Ha poseTky 1> Red >1
105 5 plastic/ 4 Capl 2 > Blue 1 % |os
107. Mnactuk Ha wrekep 3 - Yellow >2 3% |10
5 >Parking/ 4 > Green
CrauvioHap 5 > Black >3 % |13
6 2> White
24 ¥ |20
25 1" |25
>6 1% 32
>7 1% 40
>8 2 |50

PLUG/ 3arnywka Ha po3eTKy

YELLOW WHITE

06 101.5311AA

10 101.5312AA
13 101.5313AA
20 101.5314AA
25 101.5315AA

E B B B
E B
E B
E B
E B

CAP/ 3arnywuka Ha wtekep

YELLOW WHITE

06 101.5411AA

10 101.5412AA
13 101.5413AA
20 101.5414AA
25 101.5415AA

El B B B
EC B B B
El B B B
EC B B B
E B B

* Available upon request.

INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



101 CEPU/A

ISO_A PARKINGS -

SAMIYLWKNA CTAUMOHARHBIE

NiE©

lipongBoasiTCH B COOTBETCTBMN C HOpMOou ISO'7241-A; pasamep DN13' cooTBETCTBYET
TpeooBaHuaM SO 5675. ocTtynHbl 3 mogenu 3B, 3T n 6B.
Co3aaHbl AnA CTauMOHaApPHOro 3akpensieHns WTeKepa.

W PARKING 3B
< B]\\ APTUKYN DA L
S B 13 101.1533AA 32 34
L
i PARKING 1T
< B]\\ APTUKYN
S 13 101.1533AC 30 38
L
A PARKING 6B
< - O DN APTUKYN DA L
S 13 101.1533AB 34 38
L

101=7

i
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA




102 CEPU/IA

|SO_A MULTI —=THREADS

MYJIBTW— PESBEbI

Nic

lipongBoAsiTCHA B COOTBETCTBMU C HOpMOou ISO'7241-A; pasamep DN13'cooTBeTCTBYET
TpeoboBaHMAM |SO 5675, oCcTyRHbI LWWapoOBbLIe U KianaHHbIe.
Pe3bba: BSP, NPT, SAE/ORB, Takxe pe3bba nog 3akas.

* Materials » Pabouas Temnepartypa (O-Ring/lpoknaaku)
Body/Kopnyc: Carbon Steel EN -10277-3
Seals/MNoknagku: NBR ,Viton or EPDM
Back-Up-Ring/3awmTa ot npogasnusanus: PTFE
Balls/LLlapbi: AISI 1010/1015 “ = "
Springs:IMpyxuHbl Carbon Steel DIN 17233/84(B) -30°C 10°C -40°C

* Applications: Designed for Oil hydraulic Applications * Ccrepa NnpMMeHEHUs: CENbXO3TEXHMKA,

according to European Directive 97.23.EC
NPOMBbILLIIEHHOCTb.
Co3aaHHbl AN UCMONb30BaHUS B rMOpaBiMYeCcKUX cuctemax B
cooTBeTcTBMM EBponerickon anpektuson 97.23.EC

* AHanoru

FASTER ANV DNP PAV

AEROQUIP FD56  STUCCI BIR
PARKER 6600 SNAP-TITE 61

CTPYKTYPA APTUKYIA
NMPUMEP:

102.11112 JE

Y

102.  §:3,Carbon Steel 1> Male/lLitekep 0 > Without/ 0 > Without/bea DN

2 BykBbl (CM.
Zznglé:nselpeon. 2 > Female/ Bes 3akpblTus 1 > NBR 3 08 v Tabmuuy pess6
H PoseTka 1> Poppet V/ 2 - Viton Ha cTp. 999-1)
epX. cTanb K .
3> AISI 303 JlanaH 3 > EPDM 2 10 %
H 2 - Ball/llap
epx. cTanb o 13
4 - Brass/IlaTyHb
» 20 W
% 25 1
% 32 1W
> 40 1%
3 50 2

i
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



102 CERPVIA
|S(O-/A PE3bBbIDIN 2353

APTUKYN
2x1,5 6L 02 B . .
06 o = o 2 3s0Bar 19 118 12
8xL,5 oL 102 E —
4x1,5 8L 02 [ . . =)
& 10 e IS d00Bar 22 1725 12 =1
CH1 8x1,5 12L 02 2JE —
4x1,5 [ 02.11113JC wn
M16x1,5 10L _ 102.11113JD @
13~ Misxi5 120 102.11113)E 300Bar 27 * 2056 12 * =,
M22x1,5 150 102.11113JG o)
M26x1,5 18L 102.11113J1 wm
M18x1,5 120 102.11114JE
M22x1,5 150 102.11114JG 12
————————————————————————————————————————— * *
20 Tweeas 18 _1oziiiiay 2% % 2
5 M30x2 221 102.111143) 18
M26x1,5 180 102.11115J1 12
M30x2 220 102.111151] . .
= 25 M36x2 28L 102111150k 2o0Bar 4l 348 18
M45x2 350 102.11115JM 16
M16xL5 8S__ 102.11112KD
10— Mi8xi5 10S__ 102.11112KE  300Bar 22 1725 12 * T
M20x1,5 12S 102.11112KF (-D
M18x1,5 10S __ 102.11113KE o
M20x1,5 125 102.11113KF
———————————————————————————————————————— * *
Y Tweaas uas aceainake 0% 77 2056 12 S
M24x1,5 165 102.11113KH 0
M24x1,5 165 102.11114KH 12
_M24x15  16S  102.11114KH . _12 .
20 M30x2 205 102.11114K) 2o0Bar 36 29 16 @
M30x2 20S___ 102.11115KJ o D
M36x2 255 102.11115KK . 18 .
25 M42x2 30S__ 102.11115kL 25083 g 343 n
M52x2 385 102.11115KN 55 20

STANDARD FEMALE MODELS/PO3ETKA
DA2
@T  APTUKYN @
M12x1,5 6L 102.12111)B
S 06 —inds oL losorinc soBar 19 * 26 12 *
O 3/8” BSP M. * 102.12112AN E
M14x1,5 8L 102.12112JC «Q
——————————————————————————————————————————
| 10 Miexis 1oL fopi2112)p °S00Bar 22 i 82 12 : =
M18x1,5 12L 102.12112JE
M14x1,5 8L 102.12113)C 2
5 M16x1,5 10L__ 102.12113JD @
13 __M18x15 120 102.12113)JE 300Bar 27 * 38 12 * ol
M22x1,5 150 102.12113JG A
M26x1,5 18L 102.12113JI
M18x1,5 120 102.12114JE
M22x1,5 150 102.12114JG 12
—M22x15 151 102.12114)G . .
o %0 Twoeas 18l 10o1z11ay 0% %0 °o_
i M30x2 22L 102.12114J3J 18
M26x1,5 18 102.12115J1 12
M30x2 220 102.12115J) * .
) % M36x2 280 lozio1isik  220Bar 4l s 18
. M45x2 350 102.121150M 16
M16xL,5 8S__ 102.12112KD
10 __M18x15 10S__ 102.12112KE  300Bar 22 * 32 12 *
M20x1,5 12S_ 102.12112KF T
fii M18xL,5 10S__ 102.12113KE 19
M20xL,5 12S__ 102.12113KF o1}
M20x15  12S  102.12113KF . .
B voaas 145 102.12113KG o0oBar 27 38 12 é
M24x1,5 16S__ 102.12113KH
M24x1,5 165 102.12114KH 12 wn
—M24x15  16S _ 102.12114KH . 12 .
o1 20 M30x2 20S _ 102.12114k] 2°0Bar 36 46 16 I
M30x2 20S___ 102.12115KJ a =.
M36x2 255 102.12115KK . 18 . ]
DA 25 M42x2 30S___102.42115kL 230Ba g 55 n
M52x2 38S 102.12115KN 55 20

.
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



102 CEPV/IA

DIN 2353 _BULKHEAD
ISO'A DIN 23538 CTaumoHapHoe, KpenneHne

DA STANDARD MALE MODELS/ WTekep
BT =\
-]
APTUKYN ‘:% CH1 CH2
M12x1,5 6L 102.11111LB . 25 .
06 MLbde 8L lop1iiiilc 0Bar 10 19 11,8 > —
7 M14xL5 8L _ 102.11112LC 19 Y —.
10 M16xL5  10L 102.11112LD  300Bar 22 * 17,25 __ 26 * «
CH2 22 —_—
il M18x15  12L 102 2LE 27 =2
w M14x1,5 8L 102 3LC 19 4 —
M16x1,5 oL 102 3LD 22 5 wn
= 13 M18xL,5 2L 102.11113LE_ 300Bar 27 24 * 2056 24 * o)
= M22x1,5 5L 102.11113LG 27 a3 —
= M26x1,5 8L 102.11113LI 30 ol
CHI = MI8xL5 121 102.11114LE 24 26 0
= 1 M22x1,5 5L 102.11114LG 27 . .
¢ 20 M26x1,5 8L 102.41114L1  2o0Bar 36 30 29 33
M30x2 220 102.11114LJ 36 34
o M30x2 220 102.11115L) 36 "
25 M36x2 28l 102.11115LK_ 230Bar 41 __ 41 * 34,3 *
M45x2 35L 102.11115LM 55 36
- |
M16xL5 85  102.11112MD 22
10 M18x15 _ 10S_102.11112ME_ 300Bar 22 24 * 17,25 27 * T
M20xL5 125 102.11112MF 22 D
E MI18x15 __ 10S_ 102.11113ME 24 24 Q
M20xL5 125 102.11113MF 22
—M20x15  12S 102.11113MF 22 .
13 M22x15 __ 14S_102.11113mG_ SooBar 27 27 2056 35 é
M24x15 165 102.11113MH 30 N
M24x15 165 102.11114MH 30 29
__M24x15  16S 102.11114MH 30 29
20 M30x2 20S__102.11114M)_ 200Bar 36 36 29 36 D
M30x2 20S__102.11115MJ 36 35 =.
M36x2 255 102.11115MK 41 . 38 . D
D 25 M42x2 30S__102.41115ML 250Bar 41 50 343 20 n
M52x2 385 102.11115MN 65
STANDARD FEMALE MODELS/ PoseTka
@T APTUKYN é’ CH1 CH2 L2
M12x1,5 6L 102.12111LB
ML14x15 8L 102.12111LC
M14x1,5 8L 102.12112LC 19 34 —
10 M16x1,5 10L  102.12112LD  300Bar 22 22 * 17,25 26 * 6
M18x15 1oL  102.12112LE 27 =
ML14x15 8L 102.12113LC 19 34 =
M16x15 __ 10L _ 102.12113LD 22 35
13 M18x15 _ 12L 102.12113LE  300Bar 27 __ 24 * 2056 24 * wn
M22x1,5 __ 15L _ 102.12113LG 27 3 9]
M26x1,5 18L  102.12113LI 30 =.
—mig&15 121 102.12114LE 24 26 D
M22x15 __ 15L  102.12114LG 27 n
——————|————————————————————————————— —
N 20 gexis 18l 1022114l 220Bd 36 T4 : = :
M30x2 22L 102.12114LJ 36 34
M30x2 22l  102.12115LJ _ 36 24
- 25 M36x2 28L 102.12115LK  230Bar 41 __41 * 343 _ 7 *
T M45x2 350 102.12115LM 55 36
CH1
cha M16x15 85  102.12112MD 22
10 M18x15 105 102.12112ME_ 300Bar 22 24 * 1725 27 « T
. & M20x15 125 102.12112MF 22 )
= M18x15 105 102.12113ME o 24 Q
3 M20x15 125 102.12113MF T2 . .
;% 18 TM2oxd5 145 _10212113wMG_ S00BaT 27 57 2056 g5
=] M24x15 165 102.12113MH 30 N
= M24x15 165 102.12114MH 30 . 29 .
20 M30x2 205 102.12114m3  2°0Bar 36 36 29 36 D
o1 M30x2 20S__ 102.12115MJ 36 35 =.
2 M36x2 255 102.12115MK 21 . 38 . )
DA 2 Ma2xz 305 102.12116ML_ 20088 4l 5, 343 w0
— 40
M52x2 38S 102.12115MN 65

o
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



102 CEPU/A
ISO-

WE

MULTI -THREADS

MYJILTU PE3BEBI

N

LEVA

1024

INTEVA S.A. Reserves the right to make modifications in its products without prior notice

PA MALE / LUTEKEP STANDARD MODELS
WTEKEP  PO3ETKA (@9
06 19 = 118 0+ Y2 BSP__ 102.11111AB 102.12111AB
10 22 1725 * 06 ¥ NPTF_ 102.11111BB_102.12111BB__ 350Bar
13 27 * 2056 _* M14x15 102.1111INC 102.12111INC
20 36 * 29 * Yo BSP__ 102.11112AB_102.12112AB
25 41 343  * 1o % BSP__102.11112AC 102.12112AC
% NPTF__102.11112BC_102.12112BC
M16x1,5 102.11112ND_102.12112ND
% BSP__ 102.11113AC_102.12113AC
¥’ BSP__ 102.11113AD_102.12113AD__ 300Bar
%’ NPTF__102.11113BD_102.12113BD
13 _M18x1,5 102.11113NE_ 102.12113NE
M22x1,5  102.11113NG_102.12113NG
%’ -160RB_102.11113GF_102.12113GF
% -140RB_102.11113GH_102.12113GH
%’ BSP__102.11114AE 102.12114AE
20 % NPTF__102.11114BE_ 102.12114BE _ 230Bar
M22x1,5  102.11114NG_102.12114NG
%’ BSP__102.11115AE _102.12115AE
25 __1"BSP__ 102.11115AF 102.12115AF _ 230Bar
1" NPTF__102.11115BF _102.12115BF
FEMALE / PO3ETKA
06 19 * 26 *
10 22 32 *
13 27 38 *
20 36 46 *
25 41 55 *

- |
INTEVA



103 CEPUA

ISO B CARBON SIEEL - YITIEPOAUCTAA CTAJIb
— D AISI 316 = HEP)KABEIOI.IJ,AFI CTA.I'Ib

liponsBoasSTCS B COOTBETCTBMN C HOpMOon ISO 7241-B:
HocTynHbI WapoBbie U KnanaHHbIE.
Pe3bba BSP, NPT, SAE/ORB, Tak e pe3bba nog 3akas.

* Materials * Pa6ouas Temneparypa (Seals/O-Ring/Mpoknaaku)
CARBON STEEL STAINLESS BRASS
STEEL
Body/ Carbon Steel Brass
Kopnyc EN-10277-3 AlSI 316 Cuzn39Pb3
Seals/ NBR, Viton or NBR, Viton or NBR, Viton or
EPDM EPDM EPDM 0 0 0
P —— -30°C -10°C -40°C
Back-up-ring PTFE PTFE PTFE * Cchepa npuMeHeHus
AISI316 W. 14401 | AISI316 W. 14401

Balls/ AISI 10107015 Carbon Steel - MNMpombIwWwneHHOCTb
LLapbl
Springs/ Carbon Steel AISI302 DIN AISI302 DIN

DIN 17233/84(B) 17224 17224
/MpyXu1HbI

Applications: CosaaHHbl Ans ncnonb3osaHus B

rMApaBnMyecKkmx cucTeMax B COOTBETCTBUM EBponerickon Stainless Steel, Brass=> Xumudeckas, nuiiesas,

aunpekTtuneon 97.23.EC
HedTegoObIBakOLWAasA NPOMbILLSIEHHOCTD.

* AHANOrM
FASTER H DNP PBV
STUCCI IRB-IRBX PARKER 60 ———— .
SNAP-TITE 72 AEROQUIP FD45
CTpyKTypa apTukyna Mpumep:
Part/MacTtb Pe3bb6a
103. 1-> Carbon ST 1 -> Male/ 0 > Without 0 - Without/ DN 2 6yksbl (M.
Yrnepoa. ctans  Llitekep Bes 3akpbITs Bes npoknagki g 14+ | 04 Tabnuuy pessb
2> AISI 316 2 >Female/ 1> PoppetV. 1 NBR cTp. 999-1)
Hepx. ctanb Posetka KnanaH 2 -> Viton 1> % | 06
4 > Brass/ NatyHb 2 > Ball/ 3> EPDM
Lap 2> % | 10
3> % | 13
4> %" | 20
5> 1" | 25
7>1%"| 40
8>2" | 50

103—1

INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA




IOLLAA

|

ﬁTﬁb

L1

MALE/ LWUTEKEP

STANDARD CARBON STEEL MODELS
MOLENU U3 YTNEPOOUCTON CTANU

04 14 30 10,90 60 LUTEKEP PO3ETKA @
06 19 36 14,20 72
10 24 40,50 19,10 81 04 8" BSP 103.11110AA  103.12110AA 400Bar
13 27 46 23,55 92 8" NPTF 103.11110BA  103.12110BA
20 36 56 31,45 112 06 Ya" BSP 103.11111AB  103.12111AB 380Bar
25 41 63 37,80 126 Ya" NPTF 103.11111BB  103.12111BB
%" BSP 103.11112AC  103.12112AC
10 %" NPTF 103.11112BC  103.12112BC 350Bar
% -160RB  103.11112GF 103.12112GF
" BSP 103.11113AD  103.12113AD
13 2" NPTF 103.11113BD  103.12113BD 320Bar
%" -160RB  103.11113GF 103.12113GF
%" 140RB  103.11113GH  103.12113GH
%" BSP 103.11114AE  103.12114AE
%" NPTF 103.11114BE  103.12114BE
20 11716 103.11114GK  103.12114GK sooser
120RB ) )
1" BSP 103.11115AF 103.12115AF
25 1135’;'!-: 103.11115BF 103.12115BF 280Bar
120RB 103.11115GO 103.12115GO

L - obuwas anvHa coegnHeHns

196262 % %% %% % %%
00000 % %% %% % %%
RS

S5
2RRRIRIRILS

SRS

RRXRIRIRIRRRK, E&

CH2

L

DA

FEMALE/ PO3ETKA

04 14 49 22 60
06 19 57,70 27 72
10 24 65,50 35 81
13 27 74 42 92
20 36 90 52 112
25 41 103 60 126

STANDARD AISI 316 MODELS
MOAENN N3 HEP)KABEVI-OLLI,EVI CTAIn C

NPOKII

ATTKOU VITON

LUTEKEP
%" BSP 103.21120AA  103.22120AA
04 —50NPTF _ 103.21120BA _ 103.22120BA 2054
06 2" BSP 103.21121AB  103.22121AB 280Bar
Yo" NPTF 103.21121BB  103.22121BB
%" BSP 103.21122AC  103.22122AC
10 %" NPTF 103.21122BC  103.22122BC 260Bar
%"-160RB Upon request/ Mog 3aka3
2" BSP 103.21123AD  103.22123AD
13 2" NPTF 103.21123BD  103.22123BD 260Bar
%" - 160RB Upon request/ lNMog 3aka3
%" 140RB Upon request/ lNMog 3aka3
%" BSP 103.21124AE  103.22124AE
3/
20 /; 1I>I1F:3TF 103.21124BE  103.22124BE 210Bar
120RB Upon request/ MNMopg 3aka3
1” BSP 103.21125AF 103.22125AF
o5 11 5[\;1PgF 103.21125BF 103.22125BF 210Bar
120RB Upon request/ Mopg 3aka3

INTEVA S.A. Reserves the right to make modifications in its products without prior notice

INTEVA



103 CEPUA

- CARBON"SIEEL
ISO YITIEPOAUCTAA CTAJb

NIEY

TEXHUYECKWME OAHHBIE.  KosdduumenTt 6esonactocTu 1:4

Rated Flow Min Burst Pressure (bar) Max. Working Pressure *
Male Female Coupled
04 71/m 1650 1750 1600 400 bar
06 151/m 1650 1800 1520 380 bar
10 351/m 1580 1580 1400 350 bar
13 47 I/m 1310 1450 1280 320 bar
20 831/m 1310 1380 1200 300 bar
25 118 1/m 1200 1400 1120 280 bar
40 480 1/m 550 560 560 140 bar
50 8901/m 370 410 400 100 bar

* Safety factor 1:4
Data of Carbon Steel models

Ap (bar)

2,5

1,5
1 1
1/ / /3? 25—
0,5 i
0 20 40 60 80 100 120 I/m
Ap (bar)
5
4
. /

50

5 . / ,/

/ /
/ —

0

0 100 200 300 400 500 600 700 800 900I/m

1033

i
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA




103 CEPUA

ISO_B BRASS

JIATYHB,

CH1

L1

MALE/ LWUTEKEP

04 14 30 10,90 60
06 19 36 14,20 72
10 24 40,50 19,10 81
13 27 46 23,55 92
20 36 56 31,45 112
25 41 63 37,80 126

STANDARD BRASS MODELS

CTAHOAPTHbIE MOOENAU U3 NIATYHU C
NPOKITAOKAMMU VITON

LUTEKEP PO3ETKA @
%" BSP 103.41120AA 103.42120AA
04 =7 "NPTF _ 103.41120BA _103.42120BA 2205
06 Y. BSP 103.41121AB 103.42121AB 200Bar
V2" NPTF 103.41121BB  103.42121BB
%" BSP 103.41122AC  103.42122AC
10 %" NPTF 103.41122BC  103.42122BC 200Bar
%"-160RB Upon request/ /lMog 3aka3
" BSP 103.41123AD  103.42123AD
" NPTF 103.41123BD  103.42123BD
13 %" - 160RB Upon request/lNog 3aka3 2008ar
%" 140RB Upon request/lNog 3aka3
%" BSP 103.41124AE  103.42124AE
3/
20 /14 1I;I1P$TF 103.41124BE  103.42124BE 150Bar
120RB Upon request/Top 3aka3
1" BSP 103.41125AF  103.42125AF
o5 11 ;\;1P(;I'F 103.41125BF  103.42125BF 150Bar
120RB Upon request/Top 3aka3

L= obuwasn anvHa coeanHeHnsi

CH2

DA

FEMALE/ PO3ETKA

1034

INTEVA S.A. Reserves the right to make modifications in its products without prior notice

-
INTEVA



103 CEPUA

ISO_ PLUGS ~SAINYLUKNA HA PO3ETKU

CTaHAapT KpacHOro LBeTa, ocTanbHblIe Noa 3aKas.
Co3paaHbl ansa 3awntbl BPC B He noAKno4YeHHOM COCTOSAHUN.

CTPYKTYPA APTUKYNA
3ANYLKN NPUMEP:

103.5321 AA

—

Partl‘-IaCT Colour/uBeT Slze

103. 5 - Plastic 3> PIug/Ha poseTky 1 z Rled DN AA
4 > Cap/Hawrekep 2 2 Blue 1
3 > Yellow 1> %108
4> Green 233 |10
5 = Black
6 > White 3> %" |13
4->3% | 20
5> 1 25

E B B B
E B B B
E
L I I B
El R B B B

103.5325AA

CAP / SATMYLWKA HA LUTEKEP

YELLOW WHITE

04
06
10
13
20
25

103.5420AA
103.5421AA
103.5422AA
103.5423AA
103.5424AA
103.5425AA

PLUG / BArNYWWKA HA PO3ETKY
YELLOW WHITE
04 103.5320AA
06 103.5321AA
10 103.5322AA
13 103.5323AA
20 103.5324AA

R
R
E R
E I B B Y
E R B R

* NOT AVAILABLE

INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



103 CEPUA

DN 40/ DN*50 SIZE
EPbI DN'0,

ISO-

QF

MALE/ LUTEKEP

STANDARD CARBON STEEL MODELS
CTAHOAPT U3 YTNMEPOOUCTOW CTANU

NPOKNAOKA NBR

40 65 126 444 252 .
. R T LUTEKEP PO3ETKA &9
1%’ BSP  103.11117AG 103.12117AG
40 1 Y¢ NPTF_103.11117BG _103.12117BG _, 0.
1% BSP _ 103.11117AH _ 103.12117AH
1% NPTF__ 103.11117BH _ 103.12117BH
y 2"BSP __ 103.11118AI _ 103.12118Al
%) 2"NPTF __ 103.11118BI _ 103.12118BI
2% BSP _ 103.11118AJ  103.12118AJ
50 7, NPTF  103.11118BJ _ 103.121188J ~00B&
3'BSP __ 103.11118AK _ 103.12118AK
3'NPTF _ 103.11118BK _ 103.12118BK
:z
CH1 BV STANDARD STAINLESS STEEL MODELS

CTAHOAPT U3 HEPXXABEIOLLEW CTANU
NPOKIN

ALIKMN VITON

LUTEKEP PO3ETKA (@9
L - obwasa onvHa coeamHeHns 1%”BSP  103.21127AG 103.22127AG
20 1%"NPTF 103.21127BG  103.22127BG 120Bar
1 %" BSP 103.21127AH  103.22127AH
1% NPTF 103.21127BH 103.22127BH
2" BSP 103.21128Al 103.22128Al
. »D | FEMALE/ PO3ETKA 2"NPTF _ 103.21128BI  103.22128BI
F _‘ 50 2 " BSP 103.21128AJ  103.22128AJ 100Bar
l f DN CH2 2 %" NPTF 103.21128BJ 103.22128BJ
Wl R T 3"BSP___ 103.21128AK__ 103.22128AK
] 3” NPTF 103.21128BK  103.22128BK

50 90 131 105 262

STANDARD BRASS MODELS
CTAHOAPTHbIE MOOENN U3 NATYHU

—
- 0 P
IUTEKEP PO3ETKA @;“)
= 1%"BSP  103.41127AG 103.42127AG
40 L/ NPTF_10341127BG _103.42127BG
1%"BSP  103.41127AH 103.42127AH
——7 1% NPTF  103.41127BH 103.42127BH
o — 2" BSP 103.41128A1  103.42128A1 go
— 2" NPTF  103.411208BI  103.42128BI
@: / 5o 2/ BSP__ 103.41128A) 103.42128A)
2 %" NPTF  103.41128BJ  103.42128BJ
DA 3" BSP 103.41128AK  103.42128AK
3" NPTF  103.41128BK  103.42128BK

INTEVA S.A. Reserves the right to make modifications in its products without prior notice

INTEVA



103 CEPUA

ISO_ PLUGS ~3AMTYLIKN HA PO3ETKY
- SAMTIYILKHA HA#.I EP

lpon3BoAsATCA B COOTBETCTBUN € HOpMoW ISO'7241-B"
Co3aaHbl anga 3awnTtbl BPC B He noAkno4YeHHOM COCTOSAHUUIO

CTPYKTYPA APTUKYNA MPUMEP:

w

103.6308 AA

e A N

103. 6 > Aluminum 3 - Plug 0 > MeTannuyeckui DN AA

HA PO3ETKY 7>1% | 40
4 > Cap
HA WUTEKEP 8->2" |50

APTUKYN B

40 60 103.6407AA 70 60 609,5
50 78 103.6408AA 98 65 5755

PLUG / BArNYLWWKA HA PO3ETKY

DN DA APTUKYTN 7B

40 75 103.6307AA 68 26 609,5
50 105 103.6308AA 98 32,4 575,5

103—7

.
INTEVA S.A. Reserves the right to make modifications in its products without prior notice lNTEVA



104 CEPU/IA

lponsBoaAsiTCH B COOTBETCTBMU C HOpMOoU ISO 5675, pasmep DN13 coorBeTCTBYET
TpeboBaHuAM ISO 7241-A. HocTynHbI WapPOBLIE U KilanaHHbIEe.
Pe3bba BSP, NPT, SAE/ORB, Tak e pe3bba nog 3akas.

* Materials * Paboyas Temnepartypa

Body/Kopnyc: Carbon Steel EN -10277-3, AISI 303/ AISI (npoknapkm)/(Seals/O-Ring)
316 / BRASS DIN EN-12164

Seals/lpoknagku: NBR, Viton or EPDM
Back-Up-Ring:/3awmta ot npogasnusanusa PTFE
Balls/LWWapsi: AISI 1010/1015

Springs/IMpyxuHbl: Carbon Steel DIN 17233/84(B)

* Applications: CosnaHbl aAns vcnonb3osanus B ruapasnuyeckux  * CEKTOP MPUMEHEHMS: NPOMbILLNEHHOCTb, CeNbX03TeXHMKA.
cuctemax B cootBeTcTBUM ¢ European Directive 97.23.EC

* AHanoru

FASTER NV-NS DNP PDV / PDS

AEROQUIP FD76 PARKER 4000

SNAP-TITE 60 GROMELLE 5000
CTPYKTYPA APTUKYNA

NPUMEP:

104.11122 AC

Material Part/MacTtb Pasmep Pe3b6a

| | |

104. 1> Male 0 > Without/ 0 > Without/ DN 2 BykBbl (CM.
1> Carbon ST/ | ;rerep Bes 3akpbiTis  Bes npoknagku o v | o4 Tabnuuy pess6
yrnepoa.ctanb 5 5 ramale 1 - PoppetV./ 1-> NBR Ha cTp. 999-1)

PO3eTka KnanaH 2 - Viton 1> %" | 06
2> AISI 316/ 2> Balllllap 3> EPDM
Hepx. ctanb 2> %" | 10
3 > AISI 303/ »
Hepx. ctanb A
4-> Brass/JIlaTyHb 4> %0120
5> 1" | 25

i
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



MALE/ LUTEKEP

06 19 36 14,20 72
10 24 40,50 18,95 81
27 46 87,50
13 48 20,56 89,50
30 50 91,50
20 36 56 2795 112
25 41 63 31,30 126

STANDARD MODELS (POPPET)
CTAHOAPTHBIE MOAENN C
KNAMAHOM

LUTEKEP

PO3ETKA

&

%’ BSP  104.11111AB 104.12111AB

06 % NPTF _ 104.11111BB _ 104.12111AB 350Bar
9/16” 180RB _ 104.11111GC__ 104.12111GC

10 % BSP_10411112AC _104.12112AC
% NPTF _ 104.11112BC _ 104.12112BC
%" BSP __ 101.11113AD _ 101.12113AD
%’ NPTF _ 101.11113BD  101.12113BD

% - 160RB 101.11113GF 101.12113GF 2008
7%- 140RB  101.11113GH  101.12113GH

b0 7/ BSP__10411114AE 104.12114AE o
%" NPTF _ 104.11114BE _ 104.12114BE

o5 _ 1"BSP___104.11115AF _104.12115AF oo
1"NPTF __ 104.11115BF  104.12115BF

Mpon3BoaAaTcA B COOTBETCTBUMU € HOpMOW ISO 5675

L — obwas agnuHa coeguHeHus.

D

|

RIS,
S ;

S

FEMALE/ PO3ETKA

STANDARD MODELS (BALL)

CTAHOAPTHBIE MOAENUN C

LUAPOM

LUTEKEP

PO3ETKA

06 22 53,50 27 72
10 27 61 35 81
87,50
13 30 63,50 38 89,50
91,50
20 38 85 48 112
25 46 96,50 55 126

¥’ BSP  104.11211AB  104.12211AB

06 v~ NPTF _ 104.11211BB _ 104.12211AB 350Bar
9/16" 180RB_ 104.11211GC__ 104.12211GC

10 A'BSP__10411212AC 104.12212AC o
% NPTF _ 104.11212BC__ 104.12212BC
%" BSP __ 101.11213AD _ 101.12213AD
% NPTF _ 101.11213BD _ 101.12213BD

% - 160RB _101.11213GF _ 101.12213GF 200Ba&
%'-140RB  101.11213GH _ 101.12213GH

b0 74 BSP___10411214AE 10412214AE o
%" NPTF _ 104.11214BE _ 104.12214BE

o5 _ 1"BSP __ 104.11215AF 104.12215AF
1"NPTF __ 104.11215BF _ 104.12215BF

Manufactured according to ISO 5675 norm

INTEVA S.A. Reserves the right to make modifications in its products without prior notice

INTEVA



104 CEPU/IA

DIIN

TEXHUYECKWME OAHHBIE.  KosdduumenTt 6esonactocTu 1:4

Rated Flow Min Burst Pressure (bar) Max. Working Pressure *
Male Female Coupled

06 151/m 1650 1800 1400 350 bar
10 351/m 1250 1350 1200 300 bar
13 451/m 1200 1300 1200 300 bar
20 741/ m 1030 1200 1000 250 bar
25 1001/m 950 980 920 220 bar

* Safety factor 1:4

Data of Carbon Steel models

Dp (bar)
PRESSURE DROP

.
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



104 CEPUA

PLUGS — SAJIYLIKU HA PO3ETKY
DIIN

Ipon3BoAsTCA B COOTBECTBMU C HOpMamu SO 5675, pasamep DN13 cooTBecTBYeT HOpMam
ISO7241-A. Co3gaHbl ans 3awnTtbl BPC B He nogkno4YeHHOM COCTOSAHUM

CTPYKTYPA APTUKYJIA
SArJ1YLKH NMPUMEP:

104.5353 AA

104. 1 - Carbon ST 0 = Plain Metal DN AA
3 > Plug/
Yrnepoga. ctanb 1-> Red 1> v | o6
140 . A
h 5 - Plastic Ha poseTtky 2 > Blue
MnacTtuk 3 2 Yellow 2> 3% | 10
4> Cap/ 4 > Green
Ha wrekep 5 - Black 3> %" |13
5 - Parking/ 6 > White 4> % | 20
CraumoHap.
5> 1 25

PLUG/ 3ArMYLWKA HA PO3ETKY

YELLOW WHITE
06 5 5 5 & 104.5351AA *
10 * * * * 104.5352AA *
13 * 5 5 s 101.5353AA *
20 * * * * 104.5354AA *
25 5 5 5 5 104.5355AA &

CAP/ 3ArMYLWKA HA LWLUTEKEP

YELLOW WHITE
06 5 5 5 & 104.5451AA 5
10 s s 5 . 104.5452AA .
13 s s 5 . 101.5453AA .
20 s s 5 . 104.5454AA .
25 * * * ® 104.5455AA *

* NOT AVAILABLE

-
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



104 CEPU/IA

DI N PARKINGS
SAMYLWKU CTAUNOHARPHBIE

NIEY

) PARKING 3B
APTUKYN @A
< - 13  101.1533AA 32 34
S
L
e PARKING 1T
APTUKYN @A
é _ 13 101.1533AC 30 38
L
PARKING 6B
7 APTUKYN @A
< ] 13 101.1533AB 34 38
2 |
L

i
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



105 CEPUA

lpoVn3BoAsATCS B COOTBETCTBMM € HOpMaMK SO 724 1-AnISO5675.
HocTynHbI WapoBbIe U KianaHHbIe.
Pe3bba BSP, NPT, SAE/ORB, Tak xe pe3bba nop 3akas.

* Materials * Working temperature (Seals)

Body/Kopnyc: Carbon Steel EN -10277-3
Seals/lpoknagku: NBR, Viton or EPDM
Back—Up-Ring/3awmTa oT npogaBnnBaHus:
PTFE
Balls/LWapebr: AISI 1010/1015
Springs/MpyxuHbl: Carbon Steel

DIN 17233/84(B)

Pabouve Temnepatypbl (Npoknagkun)

* Applications: Designed for Oil hydraulic Applications * Sectors: Industrial, Agricultural

according to European Directive 97.23.EC *Cchepa NnpUMEHEeHMS: NPOMbILLNIEHHOCTb, CEMbXOTEXHMKA

* AHanoru
FASTER PV /CPV

DNP PPV / PPS

ARGUS SVK
PARKER 4200

CTPYKTYPA APTUKYINA
NMPUMEP:

105.11113 BD

N

105. 1-> Carbon ST 1 -> Male/ 0 > Without! 0 > Without/ DN 2 letters (see
Yrnepog. ctanb  LTekep Bes 3akpblTa  Bes npoknaaku 351/2” | 13 Table of Threads
2> Female/ 1> PoppetV./ 1 NBR page 999-1)
PoseTka KnanaH 2 > Viton
2> Ball/llap 3> EPDM 2 6ykBbl (CM.
Tabnuuy pe3bb
ctp. 999-1)

105-1

o
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INT EV A




105 CEPUA

STANDARD MALE MODELS

®A MALE/ LUTEKEP
APTUKYN &)
07 46 87,50 Y’ BSP 101.11113AD
13 48 20,56 89,50 %’ NPTF 101.11113BD
30 50 91,50 13 M22x1,5 101.11113NG 300Bar
%’ - 160RB 101.11113GF
% 140RB 101.11113GH
o =
A U
-

MpousBoaaTca B cooTBeTCTBUM € HOpmamMu ISO 7241-A wm
ISO 5675. L — o6was anvHa coeaMHeHUs.

®D FEMALE/ PO3ETKA STANDARD FEMALE MODELS

APTUKYN &

13 27 63,50 37,80 87,50 2" BSP 105.12113AD
13 2" NPTF 105.12113BD 300Bar
M22x1,5 105.12113NG

IR =
ptototeletetetetetetol e

L2

gv
I - J:,

CH2

105-2

.
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA




105 CEPUA

PLUGS SAIJIYLLIKA HA PO3ETKY

TpeGOBaHMﬂM ISO'5675. CtaHaapT KpacHoro uBeTa ocTarnbHbIE No4 3aKas.
Co3pgaHbl ans 3awnTtbl BPC B He NoAKNMOYeHHOM COCTOSAHUMN.

CTPYKTYPA APTUKYJNA
A1 SArNYLEK

NMPUMEP:

101.5333 AA

AN

Materlal Part/MacTtb Colour/UBeT Standard

101. 1 > Carbon ST/ 3 > Plug/ 0 >Plain Metal/ DN AA
Cranb Ha posetky MeTannuyeckui an
105. 5 - Plastic 4 - Cap/ 1->Red 2> % | 10
Ha wrekep 2 >Blue .
5 - Parking/ 3 >Yellow 8> |13
CraumoHapH. 4 >Green
5 ->Black
6 >White

PLUG/ SATMYLUKA HA PO3ETKY

YELLOW WHITE

10 101.5312AA  101.5322AA  101.5332AA  101.5342AA  101.5352AA  101.5362AA
13  101.5313AA  101.5323AA  101.5333AA  101.5343AA  101.5353AA  101.5363AA

CAP/ 3AMMYLUKA HA LUTEKEP

YELLOW WHITE

10 101.5412AA  101.5422AA  101.5432AA  101.5442AA  101.5452AA  101.5462AA
13  101.5413AA  101.5423AA  101.5433AA  101.5443AA  101.5453AA  101.5463AA

INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



105 CEPUA

PARKINGS
PS H SAMIYIUKNA

M PARKING 3B
DN  APTMKYN @A L
< - 13 101.1563AA 32 34
S
L
T PARKING 1T
DN  APTUKYN @A L
é - 13 101.1563AC 30 38
L
PARKING 6B
% DN  APTUKYN @A L
g 13 101.1563AA 34 38
I PARKING PSH
O DN  APTUKYN @A L
g 13 105.1563AB 37,80 40
L

1054

.
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA




106 CEPUA
DIA

liponsBoasATCH B COOTBETCTBUN C HOPMOW! SO 56175,
Special product forr American market. CneunpoayKT a5 AMEpPMKaHCKONO pbIHKa.
Poppet Valve or Ball closing system. [locTynHbI WapOoBbIe U KilanaHHbIe.

* Materials * Pabouue Temnepartypbl (Npoknaaku)

Body/Kopnyc::Carbon Steel EN -10277-3
Seals/npoknagku: NBR, Viton or EPDM
Back—Up-Ring/3awmTa ot npogaenusaHusa: PTFE
Balls/Wapbi: AISI 1010/1015
Springs:/MpyxuHbl: Carbon Steel

DIN 17233/84(B)

* Applications: Designed for Oil hydraulic Applications * Sectors: Industrial, Agricultural

according to European Directive 97.23.EC

Specia| for American market 'chepa NPUMEeHeHUA: NPOoMbILLITIEHHOCTb, CEeJIbXOTEXHUKA
* AHANOI'N

FASTER NV-NS
AEROQUIP FD76
PARKER 4000
SNAP-TITE 60

CTPYKTYPA APTUKYNA
Mpumep:

106.11114 BE

106. 1 - Carbon ST/ 1 - Male/ 0 = Withouty 0 > Without/ DN 2 letters (see
Yrnepog. ctane LTekep Bes sakpbitus  Bes npoknaaku 45 % | 20 Table of Threads
2> Female/ 1> PoppetV./ 1> NBR page 999-1)
PoseTka KnanaH 2 - Viton
2> Ball/lllap 3> EPDM 2 Byksbl (CM.
Tabnvuy pe3bb
ctp. 999-1)

-
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INT EV A



—EA STANDARD MALE MODEL
| : CTAHOAPTHBIE MOAENU LUTEKEPA

APTUKYN
20 %’ NPTF 106.11114BE 250Bar 36 56 26,85 112
o 20 %’ NPTF 106.11214BE* 250Bar 36 56 26,85 112
o |
* Ball Valve Style
MpousBoasAaTcs B COOTBETCTBUM C HOpMoM ISO 5675. L — obwasn anvHa coeguHeEHUS.
®D STANDARD FEMALE MODEL
CTAHOAPTHbLIE MOOEIN PO3ETKHU
APTUKYII. @
20 %’ NPTF 106.12114BE 250Bar 38 82 4550 112
20 %’ NPTF 106.12214BE* 250Bar 38 82 4550 112
— @

CH2
|

* Ball Valve Style

-
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



107 CEPU/IA

PS « PE3bBEbI DIN2353
» PE3bBbI'DIN2355:CTALUNOHARHBIE

» MYJIBTUP 3bEI§!@IN3§52‘BSP/NPTF/ORB

lpon3BoaAsTCs B COOTBETCTBMU C HOPMOM ISO 7241-AT/1ISO'5675.
HocTynHbI WapoBbLIe U KianaHHbIe.
Pe3b6a DIN2353, Takke pe3bba nog 3akas.

* Materials * Working temperature (Seals)

Body/Kopnyc:Carbon Steel EN -10277-3 *Paboyas Temnepartypa (Nnpoknagku)
Seals/lMpoknagku: NBR

Back-Up-Ring: PTFE

Balls/LWWapsi: AISI 1010/1015

Springs/lMpyxuHbl: Carbon Steel DIN 17233/84(B)

* Applications: Designed for Oil hydraulic Applications
according to European Directive 97.23.EC

« AHAJIOTU
FASTER PV 9/ CPV
ARGUS SVK DNP PPV3
PARKER 4200 STUCCI IRS
CTPYKTYPA APTUKYNA
NMPUMEP:
102. WUTEKEP 1 - Carbon ST 1 - Male/ 0 - Without/ 0 = Without/ DN 2 letters (see
107. PO3ETKA Yrnepog. ctanb  LTekep Bes 3akpblTa  Bes npoknaaku Table of Threads
. 2> Female/ 1~ PoppetV./ 1-> NBR 22 10 38 page 999-1)
PoseTka KnanaH 2> VITON 2 Gykebi (cm
2 > Ball/ :
Wap 3> EPDM 3> 13 12"  Ta6nuuy pessb
cTp. 999-1)

107-1

i
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA




107 CEPU/IA

PS DIN2353 _Iihreads

PE3b

DA | MALE/ LUTEKEP | STANDARD MALE MODELS

7 T DN CH1 L1 OF L E APTUKYN @)

OT
- 1022 4057 11,50 8107 12 M12x15 6L 102.11112)B
13 2L 98 5456 10580 12 M14x15 8L 102.11112JC
_ - 151,80 35 M16xL5  10L 102.11112JD
1o M85 12l 102111120 00

M16x1,5 8S 102.11112KD

e e e eeeeeeeeeee—————ee e

\Eb [ M18x1,5 10S 102.11112KE

| M20x1,5 12S 102.11112KF

%" BSP - 102.11112AN

— M14x1,5 8L 102.11113JC

—

r | . M16x1,5  10L 102.11113JD

- M18x15 12l 102.11113JE

T a M22x15 150 102.11113JG
=y 13 _M26x15 18l 1021111831 o0

—— M18x15  10S 102.11113KE

M20x15 _ 12S 102.11113KF

SN M22x15 _ 14S 102.11113KG

= M24x15 _ 16S 102.11113KH

N M30x2 ___ 20S 102.11113KJ

OF * DN10 MALE drawing

L — obwan AnvHa coeguHeHuUs.

@D | FEMALE/ PO3ETKA | STANDARD FEMALE MODELS |

10 22 6550 31 97,07 12 M12x1,5 6L 107.12112JB
13 —21 7180 o o, 10580 12 M14x1,5 8L 107.12112JC
30 9480 ~ '~ 151,80 35 M16x1,5 10L 107.12112JD
M18x1,5 120 107.12112JE
10 “Vitex1s 85 107.12112kD___ 2/0Bar
M18x1,5 10S 107.12112KE
M20x1,5 125 107.12112KF
i % BSP - 107.12112AN
~ M14x1,5 8L 107.121131C
i M16x1,5 10L 107.121131D
M18x1,5 120 107.12113JE
M22x1,5 150 107.12113JG
M26x1,5 18L 107.12113J
13 “\isx1,5  10S 107.12113KE___ 200Bar
M20x15 125 107.12113KF
M22x15 _ 14S 107.12113KG
M24x15 165 107.12113KH
M30x2 20S 107.12113KJ

* DN10 FEMALE drawing

107=-2

i
INTEVA S.A. Reserves the right to make modifications in its products without prior notice lNTEVA




107 CEPU/IA

PSM DIN2353 —Bulkhead
DIN2353¢ - CTAUNO H l_.‘l‘=’EI'IJ1EHVIE

PA MALE/ LUTEKEP STANDARD MALE MODELS
o1 -
DN CHL CH2 L1 @D L APTUKYN @
19
— M12x1,5 6L 102.11112LB
cH2 0 2z %71'57 Sl M14x1,5 8L 102.11112LC
. g CEE M16x15  10L 102.11112LD
e e 10 ~M18x1,5 120 102.11112LE __ 270Bar
= e M16x15  8S 102.11112MD
» / —— e M18x15  10S 102.11112ME
1 - ey M20xL,5 125 102.11112MF
13 i e 2956 Tro'0 M14x1,5 8L 102.11113LC
5 —— e M16x15  10L 102.11113LD
' o e M18x15  12L 102.11113LE
S\ 3079 151,80 Vaods il 103iiiial
30 36 79 151,80 ' :
; 13 “Misx15  10S 102.11113mE 2208
— M20x1,5 125 102.11113MF
\ M22x1,5  14S 102.11113MG
M24x15  16S 102.11113MH
M30x2 20S 102.11113MJ
¥D .
) * DN13 MALE drawing

L — obwas agnuHa coeguHeHus.

STANDARD FEMALE MODELS
‘ | FEMALE/ PO3ETKA |

DN CH2 CH3 L2 @D L APTUKYT @
_19 M12x1,5 6L 107.12112LB
10 22 22 875 31 141,07 M14x1,5 8L 107.12112LC
24 M16x1,5 10L 107.12112LD

19 78 149,80 10 _M18x1,5 12L 107.12112LE __ 270Bar
30 79 151,80 M16x1,5 8S 107.12112MD
24 68 129,80 M18x1,5 10S 107.12112ME
- 27 19 151,80 M20x1,5 12S 107.12112MF
N 13 27 30 56 g, 10580 M14xL1,5 8L 107.12113LC
24 68 129,80 M16x1,5 10L 107.12113LD
27 79 151,80 M18x1,5 121 107.12113LE
CH2 27 79 151,80 M22x1,5 15L 107.12113LG
30 79 151,80 M26x1,5 18L 107.12113LI

30 36 79 151,80 13 “\isx1,5  10S 107.12113ME 2208
M20x1,5 12S 107.12113MF
M22x1,5 14S 107.12113MG
CH3 M24x1,5  16S 107.12113MH
M30x2 20S 107.12113MJ

o1
< PA * DN13 FEMALE drawing

107=3

i
INTEVA S.A. Reserves the right to make modifications in its products without prior notice lNTEVA




107 CEPUA

PSM DIN 3852

BSP/NPIE/ORB

OA MALE/ LUTEKEP STANDARD MALE MODELS
T )
APTUKYN @
1/n
s v' BSP 102.11112AB
= BSP 5 " NPTF 102.11112BB
8 ”
10 % NPTF 22 50,57 17,30 99,07 10 % BSP 102.11112AC 270Bar
M16x15 22 %" NPTF 102.11112BC
M18X1’5 22 M16x1,5 102.11112ND
. 7 B"Sb - P M18x1,5 102.11112NE
= = : %" BSP 102.11113AC
2" BSP 27 60 113,80 .7 BSP
CH1 % NPTF 30 62 117.80 /2 102.11113AD
M14x15 27 50 113’80 %" NPTF 102.11113BE
- X2, L M14x1,5 102.11113NC
M16x1,5 27 60 113,80 :
13 20,56 M16x1,5 102.11113ND
M18,1,5 27 60 113,80 13 250Bar
M22x1.5 27 62 117.80 M18x1,5 102.11113NE
; % -160’RB 27 60 113’80 M22x1,5 102.11113NG
‘ \ 7-140RB 27 60 113’80 %" -160RB 102.11113GF
N N *3,” 160RB 27 67.20 128’20 %"-140RB 102.11113GH
= * : *34”-160RB 102.11113GFA
OF . * This reference is habitually provided in the Spanish market,
= . * DN13 MALE drawmg being the head cylindrical instead of 27mm hexagonal.
L — obwasa gnuHa coeguHeHus.
- D - FEMALE/ PO3ETKA STANDARD FEMALE MODELS
DA APTUKYI @
1/n
1//: I\IIBPS'II'DF 22 Ya" BSP 107.12112AB
ST BSP 25 ¥ NPTF 107.12112BB
10 3 66,5 31 99,07 %" BSP 107.12112AC
s FPTE 22 10 5 NPTF 107.12112BC 270Bar
M18le5 22 M16x1,5 107.12112ND
3% BSi:’ 27 7580 113.80 M18x1,5 107.12112NE
-y % BSP 27 7580 113.80 % BSP 107.12113AC
% NPTF___ 30 77,80 117,80 /2 BSP 107.12113AD
MI4xl5 27 7580 113,80 7 NPTE 107.12113BE
M16x1,5 27 75,80 113,80 M14x1,5 107.12113NC
13 37,80 M16x1,5 107.12113ND
M18,1,5 27 75,80 113,80 13 M18.15 107 12113NE 250Bar
M22x1,5 27 77,80 117,80 L -
\ %" -160RB__ 27 75,80 113,80 M22x1,5 107.12113NG
g 7% 140RB 27 75,80 113,80 %" -160RB 107.12113GF
* 3/ 8 - .
v 3,” 160RB 27 83 128.20 7%"-140RB 107.12113GH
I . *%” -160RB 107.12113GFA
DA | * i * This reference is habitually provided in the Spanish market,
DN13 FEMALE drawmg being the head cylindrical instead of 27mm hexagonal.

1074

-
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA




107 CEPU/IA
PSM

PLUGS - 3AITYWKWN HA PO3ETKY
CAPS -3 FJ'IYLLIKM HA LUTEKE
APHBIE

Tpe6OBaHMﬂM ISO 5675. CTaHnapT KpacHOro LBeTa, ocTanbHbIe Mo 3aKas.
Co3pgaHbl ans 3awnTtbl BPC B He NoAKNIO4YeHHOM COCTOAHUM.

CTPYKTYPA APTUKYIIA
SArNYLUKN

NMPUMEP

101.5313 AA

N

Standard

Colour Size

DN AA

107. 1 > Carbon ST 3 - Plug/ 0 >Plain Metal/
Cranb Ha poseTky Metannuiecknit .., | 13
101. 5 Plastic 4 - Capl/ 1 >Red
105. Mnactuk Ha wrekep 2 >Blue
5- Parking/ 3 2>Yellow
CraumoHapH. 4 >Green
5 >Black
6 >White
PLUG/ 3arnywka Ha po3eTKy
YELLOW WHITE
13 101.5313AA E * * *
CAP/ 3arnyuwika Ha wTekep
YELLOW WHITE
13 101.5413AA E * * * *

INTEVA S.A. Reserves the right to make modifications in its products without prior notice

INTEVA



107 CEPU/IA

PS M PARKINGS—
SAIJIYIUKHA CTALI,I/IOHAPHbIE__

- ‘ = \ J
CozhaHbl AN CTalMOHAPHOro 3aKpenieHns WTeKkepa
HocTtynHbl 4 mogenu paamep DN13 3B, 3T, 6B u PSH..

M PARKING 3B
DN  APTMKYN @A L
o 13 101.1533AA 32 34
= .
L
75 PARKING 1T
[B]\\] APTUKYN DA L
< 13 101.1
_ 1533AC 38 30
S
L
I~ PARKING 6B
APTUKYN
4 HA 13 101.1533AB 34 38
= B
3
=
g
s
1 |
[ PARKING PSH
o DN  APTMKYA @A L
o 13 105.1533AA 37,50 40
S
L

1076

i
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA




120 CEPUA

”:R DIN 2353; DIN3852 /:BSP
DIN 2858, SAE/ORB

551 TPOMOSHBIX CUCTEM U MPULIENHONO 00OPYAOBaAHNS.
Mpon3BoasiTcA B cooTBeTCTBMU € HopMou ISO5676 / ISO/TC23 / NFU16006.
Pe3sbb6a BSP, DIN2353; DIN3852, SAE/ORB, Takxe pe3bba nop 3akas.

» Materials * Working temperature (Seals)
Ij%%”;’;_écarbon Steel EN *Pabouas Temnepartypa (npoknagkm)
Seals/lpoknagku: NBR, Viton or

EPDM

Balls/LWapsbl: AISI 316W 14401
Bﬂ{lings/npyx(vmbl: Carbon Steel ! 2 iz ke10)
17233/84(B) -30°C -10°C -40°C

» Applications: Designed for Oil hydraulic Applications
according to European Directive 97.23.EC

* AHanoru
FASTER VF
GROMELLE Q-9000

CTPYKTYPA APTUKYIA
NMPUMEP:
120. 1-> Carbon St 1-> Male 1- PoppetV. 1->NBR DN 2 letters (see
Yrnepog. ctane WUTEKEP KNAMAH 2 - Viton 35w |13 Table of Threads

2 > Female 3 > EPDM page 999-1)

PO3ETKA
2 6ykBbl (CM.
Tabnuuy pe3bb
ctp. 999-1)

120-1

-
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INT EV A




120 CEPUA

I FR DIN 2353 SAE

MpousBoaaTcsa B cooTBETCTBMMU C HOpMoK ISO5676 /
ISO/TC23 / NFU16006

DN CHIL CHS ~ C * CMELUNPEONOXEHUE:
13 32 24 51 29 23 % LLitekep ¢ NNacTUKOBOMN KPbILLIKOM 1 20.5433AC
27 BKMoUMTENBHO, AonucaTtb 6a3oBblii koa 010.

(MuHumaneHoe konnyectso: 250 LWT.)

STANDARD MALE MODELS
APTUKYN &)

- . M18x1,5 12L 120.11113JE
3 ™ + The nut is included in the Bulkhead version M20x1,5 @135  120.11113KFA
13 M22x,15 15L 120.11113JG 150Bar
%" BSP M. - 120.11113A0
" BSP - 120.11113AD

MALE/ LWUTEKEP

STANDARD FEMALE MODELS
APTUKYN )

13 27 57 45 * %" BSP 120.12113AC
4" BSP 120.12113AD

da 13 M18x1.5 120.12113NE 150 Bar
M20x1.5 120.12113NF

» Metal parking parts is included in all female parts

120-2

il
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA




120 CEPUA

DIN 23853
J== Ial DA

*Manufactured according to ISO 5676 / ISO/TC23 NFU 16006 norms.

MALE/ LUTEKEP

APTUKYIL. @

1 1 1 1 1 1
32 147,50 29 119,50/ * 1120.11113HFA! 150Bar
1 1 1 1 1 1

¥"-16UNF M.

]
1
13}
i (without 37° cone)

S s B MALE/ LUTEKEP

APTKYN &9

¥%"-16UNF M.

32
Prolonged

90 62

*

1 1
1120.11113GFA! 150Bar
1 1

N
©

MALE/ LUTEKEP

@A1 @T CHL CH2 C @F E Aptikyn (@3

M16XL,5;

1
*
IM20x1,5! 26,

M36x2 ! 10L! 32 | 27 1120.11113JDA | 150Bar

* The nut is included in the Bulkhead version

MALE/ WUTEKEP

APTUKYN @

M22x1,5

J 13! {15L | 32 161,50 29 | 35 | * |120.11113JGA | 150Bar
‘ 1 _Prolonged 1 1 1 1 1 1 1
| ;
2F | « The nut is included in the Bulkhead version
DA _
, .- - MALE/ LUTEKEP
: @T CHLCH2 C OF APTKYn @9
L= R N R R U SO A :
& 13| Bulkhead | 15L 32} 27 77,50 29 i49,50i * [120.11113LGA150Bar
i _Prolonged i i i i i i i i

t—t -~ * The nut is included in the Bulkhead version

INTEVA S.A. Reserves the right to make modifications in its products without prior notice

SPECIAL OPTIONS: I
Male with plastic cap

120.5433AC included, |
add to base code 010. !
(Min. quantity: 250units) |

MponssoasTtca B
COOTBETCTBUMN C HOPMOW
1SO5676 / ISO/TC23 /
NFU16006

* CNEUNPEONOXEHUE

LLiTekep ¢ nnactukoBon
Kpbiwkon 120.5433AC
BKJIIOUMTENBHO, AoNMcaTb
6asoBbIt kog 010.
(MvHMManbHoe KonuyecTBo:
250 WT.)

INTEVA



120 CEPUA

IER

TEXHUWYECKWME OAHHbIE KoadppumumeHT 6esonacHoctn 1:4

DN Min Burst Pressure (bar) Max. Working Pressure
Male Female Coupled
13 24 1/m 1360 640 1260 150

* Safety Factor 1:4

‘n

p (bar)

12

0 5 10 15 20 25 30 35 40 45 50 55 60 I/m

i
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



120.CEPUA

| R CAR.~SATIIYLLKA HA
[ T\ WITEKEP. «

».

POVSBOASATCS B COOTBETCT
CTaHAapT XenToro LuBeTa.
Co3aaHbl ansa 3awntbl BPC B He nogKno4YeHHOM COCTOSHUMN.

CTPYKTYPA APTUKYNA
3ATTIYLIKN NPUMEP:

120. 1 > Carbon ST 4 > Cap 0 >Plain Metal DN AA
CTANb HA WUITEKEP  Metannndecknit . |
. . > % 13
5 - Plastic 5 - Parking 1 >Red
NMAACTUK CraupoHapH. 2 >Blue
3 >Yellow
4 >Green
5 =>Black
6 >White

DN APTUKYTII %]D) @D1

13 120.5433AA 30 30

- - Standard in yellow

.0,-

DN APTUKYN L oA
7 /\ 13 120.1503AA 17 29,80

oA |

i
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



122 CEPVIA

AG R DIN 2353

DIN38524/ BSP

PE3LBOBLIE COEMVHEHVIA.

A TPOMO3HBIX CUCTEM U MPULIEMHORO 0G0PYA0BaAHMS:
Pe3bba BSP, DIN2353; DIN3852, SAE/ORB, Take pe3bba noz 3akas.

* Materials * Working temperature (Seals)

BggylKgpnyc: Carbon Steel EN *Pabouas Temnepatypa (npoknaakm)

Seals/Moknaagkn: NBR, Viton or EPDM
Balls/Lapsbl: AISI 316W 14401
Springs/IMpyxwuHbl: Carbon Steel DIN
17233/84(B)

¢ Applications: Designed to connect hydraulic systems of a * Sectors: cenbxoaTexHuka
tractor and a trailer. Designed for Oil hydraulic. Applications
according to European Directive 97.23.EC

* AHanorum
GROMELLE K-8000
DNP VT
CTPYKTYPA APTUKYNA
NMPUMEP:
Part/MacTtb
122. 1-> Carbon St 1 -> Male 1- PoppetV. 1->NBR DN 2 letters (see
WTEKEP KNAMAH 2 - Viton 35 1% |13 Table of Threads
2 > Female 3 > EPDM page 999-1)
PO3ETKA
2 BykBbl (CM.
Tabnuuy pe3bb
cTp. 999-1)

-
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INT EV A



122 CEPVIA
AGR

DIN 2853

DINB852)/ BSP"

DA T CH1 CH2 C @OA2 E APTUKYN

IM18x1,5! 12L ! ! ! ! ! ! 1122.11113JE |

1 1 1 fr—

13 | M20x1,5 | @13,5; 36 i o 550,505 36 i 23 i * 1122.11113KFA!
i M22x1,51 15L | i i i i i 1122.11113JG |

)

250Bar

« The nut is included in the Bulkhead version

MALE/ LWUTEKEP

APTUKYN
1

1
1 1
i 122.11113A0 i

15

)(.

1 1 1
1 1 1
13 i 2" BSP M 36 i42,50i M36x2

&

250Bar

MALE/ LWUTEKEP

APTUKYN

13 i v BSP H 36 ! 30

1 1
54 | M36x2 ! *

S

1
122.11113AD i 250Bar

FEMALE/ PO3ETKA

APTUKYN

24 41 58,50 122.12113NE

>*

1
1

131 M18x1,5
1

)

250Bar

* The METAL PARKING is included in all female parts.

FEMALE/ PO3ETKA

APTUKYN

*

%BSPM i
72 BS I 24 41

42,
Without 60° cone ! 50

122.12113A0A

250Bar

* The METAL PARKING is included in all female parts.

INTEVA S.A. Reserves the right to make modifications in its products without prior notice

SPECIAL OPTIONS: I
Male with plastic cap

120.5433AC included, |
add to base code 010. !
(Min. quantity: 250units) |

MponssoasTtca B
COOTBETCTBUMN C HOPMOW
1SO5676 / ISO/TC23 /
NFU16006

* CNEUNPEONOXEHUE

LLiTekep ¢ nnactukoBon
Kpbiwkon 120.5433AC
BKJIIOUMTENBHO, AoNMcaTb
6asoBbIt kog 010.
(MvHMManbHoe KonuyecTBo:
250 WT.)

INTEVA



122 CEPVIA

AGR

DIN 28538

MALE/ LUTEKEP

APTUKYN

3/4 “-16UNF M

47
Without 37° cone

i M36x2
1

1
i 36
1

*

| 122.11113HFA
1

S

250Bar

MALE/ LUTEKEP

APTUKYN

3/4 “-16UNF M
1 Prolonged

-

36 | 89,50
1

M36x2 | * | 12211113GFA
1 1

250Bar

MALE/ LUTEKEP

@T CH1 CH2 C DA

APTUKYN
1

1
10L i 36

1 1
1 1
13 EM16X1,5i M20x1,5

S

1 1 1 1 1
1 1 1 1 1
27 i53,50i M36X2i * i122.11113JDAi2508ar

[ @ « The nut is included in the Bulkhead version

MALE/ LUTEKEP

APTUKYTN

M22x1,5

)

Prolonged Bulkhead

| P10L | 36 | 61 !M3ex2! * | 12211113]GA | 250Bar
i Prolonged 1 1 1 1 1 1
& DA o » The nut is included in the Bulkhead version
DA2
et MALE/ LUTEKEP
DN DA2 @T CH1ICH2 C DA L APTUKYN @
g f ] ] ] ] ] ] ] ] ]
N 1 M16x1,5 1 1 1 1 1 1 1 1
o . 13! 110L! 36127 1 77 1 M36x2 | * | 122.11113LGA | 250Bar

E 1 1 1 1 1 1 1 1

* The nut is included in the Bulkhead version

INTEVA S.A. Reserves the right to make modifications in its products without prior notice

SPECIAL OPTIONS: I
Male with plastic cap

120.5433AC included, |
add to base code 010. !
(Min. quantity: 250units) |

MponssoasTtca B
COOTBETCTBUMN C HOPMOW
1SO5676 / ISO/TC23 /
NFU16006

* CNEUNPEONOXEHUE

LLiTekep ¢ nnactukoBon
Kpbiwkon 120.5433AC
BKIIOUUTENBHO, AonucaTb
6asoBbIt kog 010.

(MvHMManbHoe KonuyecTBo:
250 WT.)

INTEVA



122 CEPA

AGR CAP — 3AFMYLLKA
LITEKEPA
< ARKIN@ S SAFAYVILIKA
TALUMOHAPHAS

CTaHAapT HeJITono ABera.
Co3paHbl and 3awntbl BPC B He NOAKNHOYEHHOM COCTOSSHUN.

CTPYKTYPA APTUKYINA
SArNyLIKn

NMPUMEP:

122.5433 AA

_

AA

122. 1 > Carbon ST 4 > Cap 0 >Plain Metal DN
5 > Plastic Ha wrekep MeTannuckuii ) |
3> % 13
5 > Parking 1 >Red
CTraumoHapH. 2 2>Blue

3 >Yellow
4 >Green
5 =>Black
6 >White

122.5433AA M36x2

Standard in yellow

APTUKYI
@A

‘ ‘ 122.5533AA 17 29,80

122—4

INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



123 CEPA
AGR+ISO®-A

lpon3BoasiTCH AN Coe ANHEHWUS rTMAPaBANYECKN3 CUCTEM TaPKTOPOB U NMPULIENOB
Pe3bba BSP, DIN2353; DIN3852, SAE/ORB, Takxe pe3bba nopa 3akas.

* Materials * Working temperature (Seals)

Carbon Steel EN -10277-3 *Pabouas TemnepaHTypa (Npoknaakmu)
Seals: NBR, Viton or EPDM

Balls: AISI 1010/1015
Springs: Carbon Steel
DIN 17233/84(B)

* Applications: Designed for Oil hydraulic. Applications
according to European Directive 97.23.EC

* AHanoru

GROMELLE K-8000
DNP VT

CTpyKTypa apTukyna
Mpumep:

123.11113 C

123. 1-> Carbon ST 1 - Male 1> PoppetV. 1- NBR DN C short
LUTEKEP KINAMAH 2 S Viton 35> % | 13
2 > Female 3> EPDM KOPOTKAA
PO3ETKA L large
ONMMHHAA

123-1

-
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INT EV A




123 CEPUS
AGR+ISO-A"L .

APTUKYN

123.11113C 250Bar

* CNEUNPEONIOXEHUE

LLiTtekep ¢ nnacTukoBomn
Kpbiwkon 122.5433AC
BKIHOUYNTENLHO,
Aaonucartb 6a30BbIN Kof
010.

(MuHumanbHoe
konuyectsBo: 250 LUT.)

MALE/ LUTEKEP

APTUKYTN

131 27 1 36 1 2056 ! 36 : 104 i 123.11113L i 250Bar

FEMALE/ PO3ETKA

il
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



125 CEPUA

TFH Bbicokasi MponyCckHasAs CNOoCOOHOCTh.

Ve éJ-lHehéBﬁe'Huﬂ :

Bighiowandreducedidroprpressure:
HocTynHbI KilanaHHbIE U C 3aKpbITUeEM cuctemMbl C.U.R.P.
Pe3bba BSPT, NPTF, DIN 2353, DIN 3852, SAE /' ORB, a Takxe pe3b6a nog 3akas.
Mogenun na AlSI| 316 HepxaBerLUen cTanu nNpu MUHUMaribHOM KonnyecTBe 3aKa3sa.

 Materials * Working temperature (Seals)

Carbon Steel EN -10277-3 / AISI 316L *Paboune Temnepatypbl (Mpoknaakm)
Seals: NBR, Viton or EPDM
Back-up-ring: PTFE
Balls: AISI 1010/1015
Springs: Carbon Steel

DIN 17233/84(B)

* Applications: Designed for Oil hydraulic Applications
according to European Directive 97.23.EC

« AHAJIOU

RECTUS TEMA T-CEPUM
CEJN 525

CTPYKTYPA APTUKYJIA
NMPUMEP:

125.12113 AD

1> Carbon ST 1 - Male 0 - Without 0 - Without DN 2 letters (see
Yrmepoga. ctans LWUTEKEP Bes 3akpbITusi Bes npoknagku | v | gg  Table of Threads
2> AISI316 2> Female 1-> PoppetV. 1- NBR page 999-1)
Hepx. ctanb PO3ETKA KnanaH 2 > Viton 2 % |10
4 > BRASS 3 > CURP* 3> EPDM 2 BykBbI (CM.
NatyHe 3 Y% |13 Tabnuuy pe3bb
cTp. 999-1)

4 % |20

5 1 25

7 1% |40

* C.U.R.P. - CONNECTION UNDER RESIDUAL PRESSURE
« C.U.R.P. - COEOAMHEHME NOA OCTATOYHbIM OABNEHUEM
* CUICTEMA 3AKPbITUA C.U.R.P - HE JOCTYMNHA B MOOENAX PASMEPA DN06

125-1

INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA




1/4" DNOG (CLRP not available)

< ? (a]
Q S
CH1
L1

STANDARD MALE MODELS STANDARD FEMALE MODELS
DN @A REF. % CH1 @D L1 L DN @A REF. % CH2  CH3 L2 L
¥
06 %'BSP 125.11111AB 450Bar 19 19 45 81 06 %’BSP 125.12111AB 450Bar 22 21 64 81

3/8" DNID

s 8
CH1
L1
L
STANDARD MALE MODELS STANDARD FEMALE MODELS
DN oA REF. % CH1 2D L1 & DN oA REF. % CH2 2B L2 E
w ¥
10  %"BSP 125.11112AC 350Bar 22 19,85 38 74 10  %"BSP 125.12112AC 350Bar 30 34 60 74

1/2" DNI3

_ 8 g
CH1
CH2
L1 'L L2
L
STANDARD MALE MODELS STANDARD FEMALE MODELS
DN oA REF. % CH1 2D L1 L DN oA REF. % CH2 2B L2 L
1
13 %" BSP 125.11113AD 300Bar 2% 247 415 82 13 " BSP 125.12113AD 300Bar 36 40 65 82

4
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



125 CEPUA
TFH Carbon Steel

3/4" DN200

STANDARD MALE MODELS STANDARD FEMALE MODELS
DN @A REF. % CH1 o0 L1 L DN @A REF. % CH2 o8B L2 L
v ¥
20 % BSP 12511114AE 280Bar 36 327 46 91 20 % BSP 12512114AE 280Bar 46 52 72 91

STANDARD MALE MODELS STANDARD FEMALE MODELS
DN oA REF. % CH1 2D L1 L DN oA REF. % CH2 o8B L2 L
L w
25 1"BSP 125.11115AF 250Bar 46 40,8 63 1154 25 1"BSP 125.12115AF 250Bar 46 62 88 1154

11/2" DNAD

STANDARD MALE MODELS STANDARD FEMALE MODELS
DN oA REF. % CH1 2D L1 L DN oA REF. % CH2 2B (L) L
2 ¥
40 1% BSP 125.11117AH 200Bar 60 48,5 107 173 40 11" BSP 125.12117AH 200Bar 60 73 112 173

1
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



125 cepud

TEH  PLUGS =3AMYLUKN HA POSETKY
CAPS ,-_.3ArnyLu1<\M€\,.{J‘J1,;EL<EP

TFH SERIES PLUGS,/ CAPS have been designed to protect FEMALE [coupler) or MALE (nipple)
parts while they are disconnected.
Manufacured according to ISO 7241-A norm, DN13 size meets as well ISO 5675 requirements.

Example;

125.5373 AA

e

125. 5 - Plastic 3> Plug 1-> Red DN AA
4> Cap 2 > Blue 15w | 06
3 Yellow '
4 > Green 2->%" |10
5 - Black
6 > White 3>% |13
7 > Grey
4->%" | 20
5>1" | 25

YELLOW
06 = b 3 & & = 125.5371AA
10 = i z * % * 125.5372AA
13 * * * * * * 125.5373AA
20 * i ki i i x 125.5374AA
25 ¥ * z * * = 125.5375AA
CAP

DN RED BLUE YELLOW BLACK WHITE

06 * i * % * * 125.5471AA
10 * * * * * * 125.5472AA
13 & 2 * & % i 125.5473AA
20 * 2 * * * * 125.5474AA
25 * * * * * * 125.5475AA

* Standard models in color Grey.
Other colors upon request and minimum quantities.
Ask for minimum quantities.

1254

.
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA




125 CEPUA

TEXHNYECKNE OAHHbLIE KoadbdumumneHT 6e3onacHoctn 1:4

4
3 e
> 06/ 9// 13 ,//
) )4 A
="
0

0 10 20 30 40 50 60 70 80 90 100 110 120 I/m

s /[ L

2 20/ /:5 iz

1 ,//,///40
o

0 100 200 300 400 500 600 700 800 900 1000|/m

TECHNICAL DATA
Male Female coupled
06 1650 1700 1800 450 bar
10 1320 1400 1400 350 bar
13 1100 1200 1200 300 bar
20 1050 1100 1120 280 bar
25 980 1050 1000 250 bar
40 750 780 800 200 bar

* Safety factor 1:4

o
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



125 CEPUA JIEH

C.U.R.P. - CUCTEMA 3AKPbITUA

CURP CLOSING SYSTEM

This system allows an easy connection under residual pressure.

_d
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



BEICokas nponyCcKkHas COCOBHOCTH, MUHUManbLHOE NageHne aaBreHns.
CBoboaHbIn npoxon 6e3 knanaHa. Peabba BSP, Takke pe3bba noa 3akas.

* Materials * Working temperature (Seals)
Body/Kopnyc: Carbon Steel EN -10277-3, ‘PABOYAA TEMMNEPATYPA NPOKNAOKA

AlSI316, Brass DIN-EN 12164
Seals/lMpoknagku: Viton
Balls/LLap: As version
Springs/MpyxuHbl: As version

* Applications: Designed for Oil and Hot Water. Applications * Cchepa npumeHeHus: . High pressure cleaning systems
according to European Directive 97.23.EC YucTka nop BbICOKUM AaBEHUEM.
* AHanoru

%" TEMA 3800
KEW

CTPYKTYPA APTUKYJIA
NMPUMEP:

126.12022 AC

126. 1> Carbon ST 1> Male 0 - Without 0 - Without DN 5 letters (see
Yrnepoa.cTans  LUTEKEP  Bes3akpbitus 2> %" | 10 Table of Threads
2 > AISI 316 2 > Female Be3s npoknagku page 999-1)
Hepx. ctanb PO3ETKA
4 > Brass 2 3 VITON 2 BykBbl (CM.
NaTyHb Tabnuuy pe3bb
8-> Carbon ST Ni cTp. 999-1)
CTanb HUKENUPOBaH..

9 - Brass Ni.
JlaTyHb
HUKENMPOBAH.

126-1

i
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA




126 CEPUA

TPL

DA MALE/ LUTEKEP

—— DN @A CHl L1 @F @C L MATERIAL APTUKYN @

White Cr, Passivation

126.11002AC

. (Crgs Free) 350Bar
10 %'BSP 22 38 19,90 18,25 58 N'Cke"P'Satt:g Carbon ¢ 21002AC
] AISI 316 126.21002AC 300 Bar

L1
CH1

@C
QF

* | — obwaa aonnHa coegnHeHus

FEMALE/ PO3ETKA

DN DA CH2 L2 @D MATERIAL APTUKYN @

Nickel-plated Carbon Steel  126.82022AC  350Bar

Brass 126.21002AC
10 %"BSP 30 44 35 58 90 Bar
Nickel-plated Brass 126.92022AC
= AlSI316 126.22022AC 300 Bar

L2

CH2 —

DA

126-2

il
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



126 CEPUA

TP L PLUGS = 3AIJIYLUKUN HA PO3ETKY

COOTBETCTBYET TpeboBaHMAM ISO 5675. CTaHAapT ceporo LuBeTa, ocTalibHbIE No4 3aKas.
Co3paHbl ansa 3awnTtbl BPC B He nogcoegUMHEeHHOM COCTOSHUMN.

CTPYKTYPA APTUKYIIA

SATTIYLLIKN NPUMEP

125.5372 AA

o e

5 - Plastic 3> Plug 1- Red
HA PO3ETKY 2 -> Blue 23> % | 10
4 > Cap 3 - Yellow
HA LUTEKEP 4 > Green
5 - Black
6 > White
7 2> Grey

PLUG/ SATNYLUKA HA PO3ETKY

YELLOW

10 * * * * * * 125.5372AA

CAP/ 3ArMyLWKA HA LUTEKEP

YELLOW

10 * * * * * * 125.5472AA

« Standard models in color Grey.
Other colors upon request and minimum quantities.

Ask for minimum quantities.

INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



127 CEPUA
JAP

IiponzBoasnTca ansi ANOHCKOrO PbIHKA.
HocTynHbI WapoBkLIe U KianaHHbIe.
Pe3bb6a BSP, Takxe pe3bba noa 3akas.

* Materials * Working temperature (Seals)
Body/Kopnyc: Carbon Steel EN -10277-3, *Paboyas Temnepartypa (npoknaku)
Seals/Mpoknagku: NBR, Viton or EPDM
Back-up-ring: PTFE

Balls/LLlapbi: AISI 1010/1015 -
Springs/MpyxuHbl: Carbon Steel DIN 17233/84(B) -30°C -10°C -40°C

* Applications: Designed for Oil hydraulic Applications Sectors: CenbxoaTexHnka, NPOMbILIEHHOCTb.
according to European Directive 97.23.Ecto
Special for Japon market

* AHanoru

FASTER HNVY

CTPYKTYPA APTUKYIIA
NMPUMEP:
Cepus Material Part/MacTtb Closing Thread
127. 1 > Carbon ST 1-> Male 1-> Poppet V. 0 - Without DN 2 letters (see
Yrnepoa. crans WTEKEP KNAMNAH 5> 1 | 25 Table of Threads
2 > Female BE3 MPOKNAOKM page 999-1)
PO3ETKA 1> NBR
2 3 Viton 2 BykBbl (CM.
35 EPDM Tabnvuy pesbb
cTp. 999-1)

127-1

-
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INT EV A




DA

L
c
CH1
j\l
(ol

OF

25

1" BSP 41

MALE/ WUTEKEP
APTUKYN @

63 36,20 126 127.11115AF 250Bar

* | — obLwwan anvHa coeaMHeHus

N

DA

25

1" BSP 41

FEMALE/ PO3ETKA

APTUKYN @

98 58 126 127.12115AF 250 Bar

1272

i
INTEVA S.A. Reserves the right to make modifications in its products without prior notice lNTEVA



128 CEPJA
I\Z

IIpoV3BOACTBO MO 3aKa3y KPYNHENLLINX aBTOMOBUITECTPONTENBHBIX KOMIaHUN.
HocTynHbI WapoBbLIe U KianaHHbIe.
Pe3bb6a BSP, Takxke pe3bba nop 3akas.

* Materials » Working temperature (Seals)

Carbon Steel EN -10277-3, *Paboyas Temnepartypa (Npoknagku)
Seals: NBR, Viton or EPDM
Back-up-ring: PTFE

Balls: AISI 1010/1015
Springs: Carbon Steel DIN 17233/84(B)

» Applications: Designed for Oil hydraulic Applications
according to European Directive 97.23.EC

* AHanoru

TALLERES ARIZA

CTPYKTYPA APTUKYIIA
NMPUMEP:

128.11215 AF

128. 1-> carbonST 1> Male 2 > Ball/lWap 0 > Without DN 2 letters (see
Yrnepoa. ctans  WTEKEP 1-> NBR 4> %" | 20 Table of Threads
2 2> Female 2 = Viton i page 999_1)
PO3ETKA 3> EPDM 5> 1 25
2 BykBbl (CM.
Tabnuuy pe3bb
cTp. 999-1)

128-1

.
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INT EV A




128 CEPUA

T\VZ

DA MALE/ LUTEKEP
APTUKYN
20 %’BSP 36 59 28 117,50 128.11214AE  250Bar
25 1"BSP 41 72 3650 138  128.11215AF  230Bar
T
(SR W)
-
FEMALE/ PO3ETKA
APTUKYN @
—
—J 20 %’ BSP 38 835014550 117,50 128.12214AE | 250Bar
=5 %:
ﬁ/ 7
—7
= o )
] ! 7l
A
V4
oA |
oD
i 1 FEMALE/ PO3ETKA
— "
APTUKYN @
i i i i i i i
25 11”BSP! 41 | 105 57,50 | 138 | 128.12215AF | 230Bar
-
v
1

128-2

il
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA




129 CEPWA

ISO_A SAFETY:SIEEEVE

CTONORHOE'KOJIbUO,

N“""

lIpon3BoasTCs B COOTBETCTEBUN C HOpMOM ISOI7241=A; pazmMep DNAS CooTBETCTBYET TPEOOBAHNAM
ISO'5675. [IOCTYMHbI WapOoBbLIe U KinanaHHbIe. [JocTynHbI pasmepa DN20 3/4” BSP .
OcTanbHble pa3Mepbl U pe3b0bl Nod 3aKkas.

* Materials * Working temperature (Seals)

Body/ Kopnyc: Carbon Steel EN -10277-3, AISI 316, AISI -PaBouas TemnepaTypa (Npoknaakm)
303, Brass
Seals/ Mpoknagkn: NBR , Viton or EPDM
Back-Up-Ring/ 3awwTa oT npogasnueaxus: PTFE
Balls/ lWapsbi: AISI 1010/1015
Springs/MpyxwuHbl: Carbon Steel

DIN 17233/84(B)

» Applications: Designed for Oil hydraulic Applications * Sectors: Cenbxo3TexHuKa, NPOMbILLNIEHHOCTb
according to European Directive 97.23.EC

AHanoru

FASTER ANV

AEROQUIP FD56
PARKER 6600

SNAP-TITE 61
CTPYKTYPA APTUKYNA
Mpumep:
129 1> Carbon ST 1 > Male 0 > Without 0 - Without DN 2 letters (see
2> AISI316 2 - Female 1-> PoppetV. 1-> NBR 1> v | o0s Table of Threads
3> AISI 303 2 > Ball 2 > Viton page 999-1)
4 > Brass 3 > EPDM 2> % |10
2 Byksbl (CM.
3> % |13 Tabnuuy pe3bb
cTp. 999-1)
4->3/4” | 20
5> 1 |25
6>1%" | 32
7>1% | 40
8> 2” |50

129-1

i
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA




129 CEPWA

ISO_A SAFETY:SIEEEVE

CTONOPHOE'KOJIGUO.

@D , STANDARD MODEL/PO3ETKA

- ‘ APTUKYN ‘% CH2

" BSP  129.12111AB

06

350Bar 19 51 26 72

" NPTF  129.12111BB
%" BSP  129.12112AC
10 %"NPTF 129.12112BC 300Bar 24 5850 32 81
%" BSPT 129.12112DC
72" BSP  129.12113AD
13  "NPTF 129.12113BD 300Bar 30 63,50 38 87,50
2" BSPT 129.12113DD

= N 20 ;f,‘,",\ﬁf‘;: Eg:igﬂjg‘g 250Bar 38 8350 46 112
25 11,,",\'13PS1'.3F Egigﬂgg‘:ﬁ 230Bar 46 97 55 126

32 11,,”%‘,\?;'.3,: Eg:igﬂggg 230Bar 50 117 70 150

CH2 ‘ 40 11,,"1}?",\?;'.3,: Egigﬂ;@ﬂ 200Bar 60 133 8450 167

s0 2 BSP  129.12LI8AL 4505, 75 165 100 210

2"NPTF  129.12118BI

_ QA |

Manufactured according to ISO 7241-A norm, DN13 size meets as well ISO 5675 requirements

129-2

.
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA




131 CEPUA
CPR ¢ NNoCKUMUIPAS EMAMU

liponsBoaAsITCS B COOTBETCTBMM C HOpMON! |SOI16026!
C llnockoun lloBepxHOCTLH PasbLeMOB, YTO MO3BOJISIET N30eXaTh NOoTepyn paboyen cpeabl BO
BpemMs coeanHeHus/pasbeanHEHUs.
Pe3b6a BSP, NPT, SAE/ORB, Tak e pe3bba nog 3akas.

* Materials * Working temperature (Seals)

Body//KopnycCarbon Steel EN -10277-3 / AlSI 316L *Paboyas Temnepartypa (Npoknagku)
Seals/Mpoknaaku: NBR. Viton or EPDM
Back-up-ring/3awura ot npogaBnuBanus: PTFE

Balls/LWapsi: AISI 1010/1015
Springs/IMpyxuHbl: Carbon Steel DIN 17233/84(B)

* Applications: Designed for Oil hydraulic Applications * Sectors: CTPOUTENbCTBO, CTPOUTENbHAS TEXHUKA
according to European Directive 97.23.EC
* AHAIOI'n
FASTER 2FFI DNP PLT4
PARKER FEM STUCCI FIRG

AEROQUIP FD89  SNAP-TITE 74

CTPYKTYPA APTUKYNA  npuMEP:

131.11113 AD

131. 1 - Carbon ST 1 Male 1-> PoppetV. 1-> NBR DN 2 letters (see
Yrnepoa.crank )| TEKEP KNAMAH 2>Viton 354, |os Table of Threads
2> AISI316 2 > Female 3> EPDM page 999-1)
Hepx. ctanb PO3ETKA 2>% |10
8 > Carbon ST. NQ 2 BykBbl (CM.
Yrnepoa. ctans 3> %" | 13 Tabnuuy pe3bb
HUKENNPOBaH. a5 | 20 cTp. 999-1)

5> 1 |25
6>1%"| 32
7>1%"| 40
8> 2 |50

-
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INT EV A



131 CEPUA

CRR. c nnockimyl

=

PASIBEMANMW

cHt— A MALE/ LUTEKEP
DN CH1
07 22 48 1620 8550
09 24 6250 19,80 116,50
13 27 62,50 24,50 134,50
= 15 36 7050 27 132
=14 17 45 8250 30 154
= ( 21 55 90 36 173
@ 30 70 111 57 215
= = 45 75 125 73

TR

T

_or |

STANDARD MODELS

LUTEKEP

PO3ETKA

@

* L — obwan gnuHa coegnHeHus

v BSP  131.11111AB 131.12111AB

07 = "NPTF _ 131.11111BB 1311211188 °00B&
% BSP _ 131.11112AC 131.12112AC
% NPTF __ 131.11112BC 131.12112BC
%"BSP _ 131.11112AD 131.12112DC

09 =% “NPTF _ 131.11112BD 131.121128D °°0B&
%"-160RB__ 131.11112GF 131.12112GF
%"140RB__ 131.11112GH 131.12112GH
% BSP __ 131.11113AD 131.12113AD
% NPTF _ 131.11113BD 131.12113BD
% BSP _ 131.11113AE 131.12113AE

13 = "NPTF  131.11113BE 131.12113BE - 0B&"
% - 140RB__ 131.11113GH 131.12113GH
11/16" 120RB 131.11113GK_ 131.12113GK
% BSP  131.11114AE 131.12114AE

15 % NPTF _ 131.11114BE 131.12114BE 350Bar
11/16-120RB 131.11114GK_ 131.12114GK
1"BSP _ 131.11115AF 131.12115AF

17 1"NPTF___ 131.11115BF 131.12115BF 350Bar
15/16"-120RB 131.11115GO_131.12115GO

o1 1/ BSP_131.11116AG 131.12116AG .. o -
1% NPTF__ 131.11116BG 131.12116BG
1% BSP _ 131.11117AH 131.12117AH

30 99, NPTF _ 131.11117BH 131.12117BH >20B&

45  2"BSP __ 131.11118AI 131.12118AI 250Bar

»D B
| FEMALE/ PO3ETKA
o 07 22 48 28 85,50
b 09 27 6450 32 116,50
1332 8050 38 13450
1536 78 42 132
1745 9250 48 154
21 55 105 55 173
- v 30 65 13250 80 215
45 80 165 100

INTEVA S.A. Reserves the right to make modifications in its products without prior notice

INTEVA



M12x1.5 6L 131.11111JB 55 12 106,2
CH1 w 07 ML14x1,5 8L 131111119c 000 Bar 22 54 162 11 104,2
\ % BSP M. * 131.11112AN 62,5 12 1244
ML4x15 [ 131.11112)C 615 11 1222
M16x1.5 10L 131.11112JD
09 M16x1,5 8S 13L11110kD 500 Bar 30 625 1979 1 1oaa
M18x1,5 10S __ 131.11112KE ’ '
M20x1,5 12S 131.11112KF
M14x1,5 8L 131.11113)C 73 11 1349
M16x1.5 10L 131.11113JD
% M18x1.5 12L 131.11113JE
[as] ;§ M22x1,5 15L 131.11113JG
13 M26x1,5 18L 131.11113J1 350 Bar 36 24,58
BN M18xL,5 10S__ 131.11113KE & 12 1369
o = T M20a5 155 I3LILIIKE
= M22x1,5 14S___ 131.11113KG
Eeall M24x1,5 16S___ 131.11113KH
M18x15 121 131.11114JE
= M22x1,5 150 131.11114JG 74 12 1395
= M26x1,5 18L 131.11114J1
15 M30x2 220 131.11114J)_ 350 Bar 36 80 _ 27,08 __18 1515
M22x1,5 14S___ 131.11114KG
ﬁ§ M24x1,5 16S___ 131.11114KH [ 12 1395
M30x2 20S 131.11114KJ 80 18 1515
M26x1.5 18L 131.11115J1 82 12 152,2
oF M30x2 220 131.11115J] 2 88 18 164,2
M36x2 28L 131.11115JK o1 1572
17 M45x2 351 13LIULISIM. oo 46 2 16 1512
M30x2 20S 131.11115KJ a o 163.2
M36x2 255 131.11115KK 18 :
M42x2 308 131.11115KL 46 o1 1552
* L — 0614as ANMHA COOUHEHNS M52x2 385 131.11115KN 55 20 1532
@D ‘ STANDARD FEMALE MODELS / PO3ETKA
ot Apikvn g3
M12x1,5 6L 131.12111JB 62 12 106,2
o7 M14x1,5 8L 131121110c 00 Bar 27 63 215 11 104,2
% BSP M. * 131.12112AN 775 12 1244
ML4xL5 [ 131.12112JC 76,5 11 1222
M16x1,5 10L 131.12112JD
4 09 M16xL5 85 i3lioiigkD o0 Bar 30 75 33 i 1244
M18xL,5 10S__ 131.12112KE ! "
M20xXL.5 125 131.12112KF
M14xL5 8L 131.12113)C 795 11 1349
M16x1,5 10L 131.12113JD
[8] M18x1,5 121 131.12113JE
M22x1,5 15L 131.12113JG
13 M26xL,5 18L 131121131 350 Bar 2 385
M18xL5 105 131.12113KE 80,5 12 136,9
M20xL,5 125 131.12113KF
M22xL,5 145 131.12113KG
M24xL,5 165 131.12113KH
M18xL,5 121 131.12114JE
M22xL,5 150 131.12114JG 83,1 12 1395
M26xL,5 18L 131.12114J1
15 M30x2 22L 131.12114J] 350 Bar 2 89.1 42 18 1515
w M22xL5 145 131.12114KG
M24xL,5 16S___ 131.12114KH 831 12 1395
M30x2 20S 131.12114KJ 89.1 18 1515
M26x1,5 18L 131.12115J1 92 12 152,2
ar | M30x2 22L 131.12115J] o8 18 164,2
on M36x2 28L 131.12115JK 157,2
M45x2 350 131.12115JM 46 92 16 1512
1 M30x2 20S 13L.12115Kk) So0 Bar % 30 163.2
M36x2 255 131.12115KK 18 i
M42x2 308 131.12115KL 9% 1552
M52x2 385 131.12115KN 55 94 20 1532

131-3

.
INTEVA S.A. Reserves the right to make modifications in its products without prior notice lNTEVA



131 CEPU/A

DIN2353

M12x1,5 oL ) 68 25
07 iads 2= S = 500Bar 22 P— 162 =
M14x1,5 8L 3 2LC 84, 34
M16xL,5 100 13 2LD 85, 35
W 09 M16x1,5 8S___ 131.11112MD__  350Bar 30 765 _ 19,79 26
M18xL,5 105 13111112ME 77, 27
M20x1,5 125 131.11112MF 85,5 35 170,2
M14xL5 8L 3 LC 34 182
M16xL5 oL 13 LD 97
18xL, oL 13 E 183
g M22x1,5 50 13 G
13 M26XL.5 8L 131.11113L1 350Bar 36 ® s 181
M18x1,5 0S 31.11113ME 183
M20x1,5 25 11113MF —_—
@ M22xL5 45 131.11113MG 97 182
M24x1,5 6S 31.11113MH
M18x1,5 121 131.11114LE 97 185,5
= M22x1,5 5L 131.11114LG
M26x1,5 8L 1311111400 % 1835
15 L, L 350Bar 36 27,08 35
M24x1,5 165 13L.11114MH
— M30x2 205 13L.11114MJ o7 1845
. M26x1,5 8L 131.11115L1
30x2 2L 1311111500 41 106 35 199.2
36x2 260 13111115l 98 34 90.2
45x2 350 13L.11115LM 6 00 36 86,2
o 30x2 205 13L11115M) _  So0B& " 6 0 34 98,2
36x2 255 13111115MK__ 09 38 05,2
42x2 0S 131 11115ML 6 99.2
M52x2 8S  131.11115M 55 104 40 96.2
oF
* L — obuwasa gnvHa coeanHeHust
oD STANDARD FEMALE MODELS PO3ETKA

T APTUKYTN

M12x1,5 6L 131.12111LB 75 25 1322
o7 M14x1,5 8L 131.12111LC 5008ar 27 84 215 34 150,2
M14x1,5 8L 131.12112.C 99,5 34 168,2
M16x1,5 10L  131.12112LD 100,5 35 170,2
09 M16x1,5 8S__ 13L.12112MD 350Bar 30 915 33 26 1522
M18x1,5 10S  131.12112ME 925 27 154,2
M20x1,5 125 131.12112MF 100,5 35 170,2
- M14x1,5 8L 131.12113LC 1025 34 182
M16x1,5 10L  131.12113LD
M18xL,5 120 13L.12113LE 108,5 183
M22x1,5 150 131.12113LG 1025 181
13 M26x1,5 18L  13L1.12113LI 350Bar 41 385 a5
o M18x1,5 10S__ 131.12113ME 183
M20x1,5 12S 131.12113MF 1035
M22x1,5 14s__ 131.12113MG " 182
M24x1,5 16S _ 131.12113MH
M18x1,5 121 131.12114LE 106.1 1855
M22x1,5 150 131.12114LG
M26x1,5 180 13L.12114LI 1835
15 M30x2 220 131.12114L) 350Bar 41 1051 * 35
CH M24x1,5 16S__ 131.12114MH 1845
" M30x2 20S  131.12114MJ ’
M26x1,5 180 13L.12115L0
M30x2 220 131.12115LJ 115 35 199.2
¢ M36x2 280 13L.12115LK 114 34 1902
M45x2 350 131.12115LM 46 108 36 186,2
f R M30x2 205 131.12115MJ 350Bar 114 85 34 108.2
M36x2 255 131.12115MK 118 38 205,2
(71N M42x2 30S__ 131.12115ML 117 0 199.2
A M52x2 38S 131.12115MN 55 114 196.2

1314

.
INTEVA S.A. Reserves the right to make modifications in its products without prior notice lNTEVA




131 CEPU/A
p CPR AlS| 316 STAINLESS STEEL

NMpoun3BoasTca B cooTBeTCTBMM € HopMou ISO 16028.
C lNnockon lNNoBepxHOCTHLIO Pa3sbeMoB, YTO NO3BOJMISET U3bexaTb NoTepy paboyen cpeabl BO

BpeMs CoeANHEHNS/pasbeaNHEHNS.
Pesboa BSP, NPI; SAE/ORB; Takke pesbbainos 3akas.

AlS| 316IHEPKABEIOLIAACTATIL

» Materials * Working temperature (Seals)
Body/Kopnyc: Stainless steel AlSI 316 *Pabouyas Temnepartypa (npoknagkm)
Seals/Mpoknagku: NBR, Viton or EPDM
Back-up-ring/3awwuTa ot npogaBnuBaHua: PTFE
Ballsllapsl: AISI 1010/1015

-30°C -10°C -40°C

Springs/MpyxwuHbl: AISI302 DIN17224

* Applications: Designed for Oil hydraulic Applications * Sectors: MpoMbIWNEHHOCTb, XuMmnyeckas
according to European Directive 97.23.EC NPOMBbILLUNIEHHOCTb

* AHAINOI'n

FASTER 2FFI DNP PLT4

PARKER FEM STUCCI FIRG

AEROQUIP FD89  SNAP-TITE 74

CTPYKTYPA APTUKYTJIA
NMPUMEP:

131.21123 AD

131. 2 > AISI316 1-> Male 1-> PoppetV. 1-> NBR DN 2 letters (see
WTEKEP KNANAH 2 - Viton 1> % |06 Table of Threads
2 > Female 3> EPDM page 999-1)
POSETKA 2> % |10

2 BykBbl (CM.

3> % |13 Tabnuuy pe3bb
cTp. 999-1)

4> %" | 20

5>1 |25

6->1%"| 32

7>1%"| 40

8> 2" |50

131-5

-
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INT EV A




131 CEPUA

CP

R AISIB16 STAINLESS STEEL
6 HEP

ABEIOLUASA CTATIL

cHt— A MALE/ LUTEKEP
DN CH1
07 22 48 1620 8550
09 24 6250 19,80 116,50
13 27 62,50 24,50 134,50
= 15 36 7050 27 132
=14 17 45 8250 30 154
= ( 21 55 90 36 173
@ 30 70 111 57 215
= = 45 75 125 73

TR

T

_or |

STANDARD MODELS

LUTEKEP

PO3ETKA

&

* L — obwas anvHa coegmMHeHus

o7 VBSP  13121121AB 131.22121AB ... -
2" NPTF 131.21121BB 131.22121BB
% BSP  131.21122AC 131.22122AC
% NPTF _ 131.21122BC 131.22122BC
%"BSP _ 131.21122AD 131.22122DC

09 =5 “NPTF _ 131.21122BD 131.221228D 2°0B&"
%"-160RB__ 131.21122GF 131.22122GF
%"140RB__ 131.21122GH 131.22122GH
%' BSP __ 131.21123AD 131.22123AD
%’ NPTF _ 131.21123BD 131.22123BD
% BSP  131.21123AE 131.22123AE

13 =5 "NPTF  13121123BE 131.22123BE 2°05&"
7 - 140RB _ 131.21123GH 131.22123GH
11/16" 120RB_131.21123GK_131.22123GK
% BSP  131.21124AE 131.22124AE

15 % NPTF _ 131.21124BE 131.22124BE 250Bar
11/16"-120RB_131.21124GK_ 131.22124GK
1"BSP _ 131.21125AF 131.22125AF

17 1"NPTF___ 131.21125BF 131.22125BF 250Bar
15/16"-120RB 131.21125G0O_ 131.22125GO

o1 1/ BSP_131.21126AG 131.22126AG . o
1% NPTF__ 131.21126BG 131.22126BG
1% BSP _ 131.21127AH 131.22127AH

30 99 NPTF  131.21127BH 131.22127BH 2205

45  2’BSP  131.21128A1 131.22128A1 100Bar

»D B
| FEMALE/ PO3ETKA
o 07 22 48 28 85,50
b 09 27 6450 32 116,50
1332 8050 38 13450
1536 78 42 132
1745 9250 48 154
21 55 105 55 173
- v 30 65 13250 80 215
45 80 165 100

131-6

INTEVA S.A. Reserves the right to make modifications in its products without prior notice

INTEVA



131 CEPU/A

CPRVBVINIEPOAVCTOVIGTATIN
PRSI P)KA‘BEIGLIIEWCTAHVI

0 CPR TEXHUWSECKVIE [IAHIHBIE

TEXHUYECKUE OAHHbIE. KoadbcpuumeHT 6esonacHoctu 1:4

Rated Flow i Max. Working Pressure *
07 181/m 1950 1890 2000 500 bar
08 451/m 1300 1200 1400 350 bar
13 751/m 1300 1200 1400 350 bar
15 150 1/m 1250 1180 1400 350 bar
17 200 I/m 1200 1150 1400 350 bar
21 220 1/m 1150 1150 1400 350 bar
30 240 1/m 1080 1100 1400 350 bar * Safety factor 1:4

Carbon Steel Models

0l/m

=11\ Al LA

DN Rated Flow Min Burst Pressure (bar) Max. Working Pressure
Male Female Coupled
07 181/m 1450 1400 1400 350 bar
0s 451/m 1020 1100 1000 250 bar
13 751/m 1000 980 1000 250 bar
15 1501/m 950 970 1000 250 bar
a7 2001/m 950 940 1000 250 bar
21 2201/m 930 900 1000 250 bar
30 2401/m 930 890 1000 250 bar

* Safety factor 1:4
Stainless Steel Models

0 40 80 120 160 200 240 I/m

131=7

INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA




131 CEPU/A

CP R DN-09 3/8* PO3ETKA

[Ansa cuctem BbLICOKOro AaBrennd
Hanpymep; Ans noghemaimy

HbBIX KOHTeMHepOB

STANDARD MODEL CARBON STEEL

APTUKYI @ Ec oD

09 3/8”"BSP  131B.12112AC 350 24 33 119

OCOBEHHOCTW. PO3ETKA paspabotaHa ans
ncnomnb3oBaHMsa B paboTe CMCTEM C BbICOKOYaCTOTHbLIM
NynbCUMPYOLWMM AaBrieHneM 1 rmapoyaapos.
Hasnexue: 350 6ap.

BO3MOXXHOCTb NOAKMIOYEHMS C OCTATOYHBIM CPEAHUM
OaBreHnem.

HukenmpoBaHHas BHeLLHas NOBEPXHOCTb Kopryca
OYeHb YCTONYMBA K KOppPO3un, 4to obecneuvmsaet
[OMNroBEYHOCTb B CaMblX 9KCTPEMarnbHbIX cpeaax.
OproHoMnyHaga oopmMa Ansi NErkoro NogKMoYEHUs n
OTKITHOYEHNS.

C nnockvM pasbeMoM, YTO YCTpaHAET YTeukn n
3arpsA3HEHNE OKpYKatoLLEen cpeabl.

MarotoBneHo B cooTBeTCTBMM C HOpMmamu ISO 16028

131-8

INTEVA S.A. Reserves the right to make modifications in its products without prior notice

TECHNICAL DATA

DN el Min. Burst Pressure re BIDLCE
Flow Pressure
Male Female Coupled
09 45 |/m 350 bar
1300 1200 1400
p [bar)
5
A
: /
/
}/
2
1 e
d o
0 iﬁ-

0 10 20 30 40 50 60 70 80 90 100 I/m

.
INTEVA



131 CEPUA

CTPYKTYPA APTUKYNA NPUMEP:

AR 131.5313 AA

131. 5 - Plastic 3> F.Cap 1->Red DN AA

SAIMYLLKA 2 >Blue 1> v | o7

PO3ETKMN 3 >Yellow

4 > M.Cap 4 >Green 2> % |09

SAMMYLKA 5 >Black

LUTEKEPA 6 >White 3> %" |13
4> ¥ | 15
5> 1" |17
6>17%" |21
7>1%" | 30
8> 2" |45

FEMALE CAP/ 3ATNYLUKA PO3ETKH

YELLOW WHITE

07 131.5311AA

09 131.5312AA
13  131.5313AA
15 131.5314AA
17 131.5315AA

E B
B
BB
B
* k| k| k| *

MALE CAP/ SATNMYLIKA LUTEKEPA

YELLOW WHITE

07 131.5411AA

09 131.5412AA
13 131.5413AA
15 131.5414AA
17 131.5415AA

E B B
E B
B
B
L R B

* Available upon request

* Use 131 instead of 130 in reference to ask for CPR Caps

131-9

il
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA




140 CEPU/IA
CVE

CBOOOAHbLIN MpoXoa 6e3 KianaHa.
Pe3bba BSP, Takxe pe3bba noa 3akas.

* Materials * Working temperature (Seals)
Body/Kopnyc: Carbon Steel EN -10277-3 /AISI 316L/ Brass *Paboune TeMnepaTtypbl (MPOKNaaKm)
Seals/npoknagku: NBR, Viton or EPDM
Back-up-ring: PTFE

Balls/LWapebi: AISI 1010/1015
Springs/npyxwuHbl: Carbon Steel DIN 17233/84(B)

C(pepa npuMeHeHus: YuncTka nog BbICOKUM AaBMNEHNEM,
NPOMbILLNEHHOCTb

* Applications: Designed for Oil hydraulic Applications
according to European Directive 97.23.EC

* AHAJOIM

GROMELLE 7000

CTPYKTYPA APTUKYNA
NMPUMEP:
140. 1> Carbon ST 1-> Male 0 -> Without 0 = Without DN 2 letters (see
yrl'lepo,q. Cranb. WUTEKEP BE3 1-> NBR 1> 06 Table of Threads
2> AISI316 2> Female  3AKPBITUSL 2 5 Viton page 999-1)
Hepx. ctanb PO3ETKA 3>EPDM 2> % |10
4 > Brass 2 BykBbl (CM.
NaTtyHe 3> %" |13 Tabnuuy pesbb

cTp. 999-1)

140-1

i
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA




MWHUMaNbHbIM KOofinyecTBaMm.
[nsa 3akasa nagenns ¢ HUKeNMpPoBaHHOW NOBEPXHOCTLIO gonucatb 011.

MALE (CARBON ST.)/ LUTEKEP (YINEPOQ,. CTATb)

@ A APTUKYN
06 2" BSP 19 25 14,10 45,10 140.11001AB 700 Bar
| 10 %" BSP 22 28 18,90 48,50 140.11002AC 600 Bar
/A 13 2" BSP 27 33 20,40 55,50 140.11003AD 500 Bar

L
CH1
DN

* L — obLasa anvHa coeanHeHus

FEMALE (CARBON ST.)/PO3ETKA(YINEPO[. CTA/b)

@ D APTUKYN
06 " BSP 22 35 29,50 45,10 140.12011AB 700 Bar
) O 10 %" BSP 27 38 34 48,50 140.12012AC 600 Bar
| ol 13 2" BSP 32 45 39,50 55,50 140.12013AD 500 Bar

CH2

140-2

il
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA




140 CEPUA

CVF PLUGS SAMITYLLUKA .PO3ETKI/I

CosgaHbl ans 3alvThbl EPC B He NOAKJTFOYEeHHOM COCTOSIHUMN
lNMponsBoasTcsa B cooTBecTBUM ¢ HopMmamm |SO 5675, paamep DN13 cooTBeCTBYeT HOpMam
ISO7241-A

CTPYKTYPA APTUKYIA
3ANIYLUKN NMPUMEP:

104.5353 AA

Standard

104. 1 - Carbon ST 3 - Plug 0 - Plain Metal DN AA
CTAIb 4> Cap 1> Red 1> v | oe
140. 55 Plastc  5- Parking 2 > Blue
3 > Yellow 2> % |10
4 > Green
5 - Black 3> % |13
6 > White
> % |20
5> 1" |25

PLUG/ SATNYLUKA HA PO3ETKY

YELLOW WHITE
06 * * * * 104.5351AA *
10 * * * * 104.5352AA *
13 * * * * 101.5353AA *
20 * * * * 104.5354AA *
25 * * * * 104.5355AA *

CAP/ 3ArMYLWKA HA LUTEKEP

YELLOW WHITE
06 * * * * 104.5451AA *
10 * * * * 104.5452AA *
13 * * * * 101.5453AA *
20 * * * * 104.5454AA *
25 * * * * 104.5455AA *

* NOT AVAILABLE

INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



190 CEPUA
RBP

&

CozgaHHbI A5y HU3KOro AaBsieHns go 35Bar.
HoctynHbl TonbKo (free-flow/ cBo6oAHBIN NPOTOK) 6e3 3aKkpbITHUs
Pe3bba BSP, Takxe pe3bba noa 3akas.

* Materials * Working temperature (Seals)
Brass DIN-EN 12164 *Paboumne Temnepartyphbi (Mpoknagku)
Seals: Silicone

Balls: AISI 316W 14401
Springs: AISI302 DIN 17224

-25°C

* Applications: Designed for Hot water Applications * Ccpepa npumeHeHus: OxnaauTenbHbe CUCTEMBI,

according to European Directive 97.23.EC
OxnaguntenbHble CUCTEMBbI npun oTnnBKe CbOpM..

CTPYKTYPA APTUKYIA
NMPUMEP:

190.41001 AN

190. 4 - Brass 1> Male 0 - Without 3 = Silicone DN Male parts/
NATYHb LWITEKEP BE3 CUIIKOH 15 4 |06 LUTEKEP:
2 > Female 3AKPbITUA

PO3ETKA 253 |10 2letters(see
Table of Threads

page 999-1)

2 BykBbI (CM.
Tabnvuy pe3bb
ctp. 999-1)

Female parts/
PO3ETKA:

180°XX
90°XY

.
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INT EV A



190 CEPUA

RBP

MALE/ LWUTEKEP

APTUKYN

= 2/38 %"BSP M. 1 9,60 6 26 190.41001AM
317 %’BSP M. 1330 8 a1 190.41002AM

%"BSPM. 27 ' 190.41002AN

MALE/ LUTEKEP

! APTUKYN
2/38 YWBSPM. 19 9,60 6 26 190.41001AB
4 ¢ 2> BSP 17 31 190.41002AB
5 3/17 13,30 8
i % BSPM. 27 34 190.41002AC

®A |
-—20
FEMALE/ PO3ETKA
APTUKYN
2/38 17 56 10 6 71,50 190.42031XX
3/17 23,50 57 13,30 8 82 190.42032XX

FEMALE/ PO3ETKA

APTUKYIN

= 190.42031XY

3/17 24 42 48 13,30 8

60 190.42032XY

INTEVA S.A. Reserves the right to make modifications in its products without prior notice

INTEVA



201 CEPUA

Co3aaHbl AN rPYy30nogbEeMHBIX CUCTEM aBTOMOLUIIEN.
MuHumanbHoe nageHve gaBreHns. JOoCcTynHbI KnanaHHbIE.
Pe3bba BSP, Takxxe pe3bba nop 3akas.

* Materials * Working temperature (Seals)
Body/Kopnyc:Carbon Steel EN10277-3
Seals/Mpoknagku: NBR, Viton or EPDM
Springs/MpyxuHbl: Carbon Steel DIN 17233/84(B)

» Applications: Designed for Oil hydraulic Applications Cdepa NnpuMeHeHnA: aBTOMOOUNECTPOEHNE,
according to European Directive 97.23.EC MPOMBbILLUIIEHHOCTb.

* AHanoru: FASTER CVE
EDBRO VCR
MOJAEJb APTUKYNA
NPUMEP:
Cepus Closing Thread
201. 1-> Carbon St. 1> Male 1> PoppetV 0 - Without DN 2 letters (see
Yrnepoa. ctanb WUTEKEP KNAMAH BE3 4> % |20 Tableof Threads
2 > Female MPOKNAOKN page 999_1)
PO3ETKA 1> NBR 52> 1 |25
2 3 Viton 2 6ykBbl (CM.
3> EPDM Tabnvuy pesbb
cTp. 999-1)

.
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INT EV A



oM | MALE/ LUTEKEP

DAL @A2 CH1 C

APTUKYN

S

20 1"BSP 46 68 44

20 %BSP 1% 46 78 44 138 201.11114AE 350 Bar
25 1"BSP_ BSP 55 83 53,60 148 201.11115AF 300 Bar
MALE/ WUTEKEP

APTUKYT

118,50 201.11114AQ

350 Bar

] FEMALE/ PO3ETKA

20 %" BSP 41,50 33 78 115 138

APTUKYN

201.12114AE

@

350 Bar

25 1”BSP 51 40 83 115 148

201.12115AF

300 Bar

FEMALE/ PO3ETKA

20 1"BSP_ 33 41,50 74 115

APTUKYN

118,50 201.12114AQ

&

350 Bar

E/C

INTEVA S.A. Reserves the right to make modifications in its products without prior notice

INTEVA



201 SERIES

TexHn4yeckue gaHHble. KoadcunumeHT 6esonacHocTn 1:4

TECHNICAL DATA

DN Rated Flow Min Burst Pressure (bar) Max. Working Pressure
Male Female Coupled
20 120 I/m 1100 1300 1325 350 bar
25 160 I/m 1200 900 1325 300 bar
Ap (bar)
2,5
2
1,5
(!
0,5
0
0 40 80 120 160 200 240 I/m

.
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INT EV A



201 CEPVIA

\/C

CARPS

PLUGS - SAINIYLUKU PO3ETKA

—-3Arnvwlgﬁj|u=r5§FP A
PARKl& S,— 3ATAYILIKACT?

CTPYKTYPA APTUKYJIA

SAIrNyLIKn NMPUMEP:

- 201.6304

|

AA

SO

201 1 - Carbon ST 3 - Plug 0 - Plain Metal DN AA
CTAIb HAPOSETKY ~ METANMY. . .,
6 > Aluminium 4 - Cap
HA WUTEKEP 5325 1’
5 - Parking
CTAUNOHAP.
= APTUKYI
= T
’ 201.6304AA
+\;[;A 25  201.6305AA 60 191 25 42
= O
DN APTUKYI oA L B m
20 201.6404AA 48 191 13 42
A\ 25  201.6405AA 60 191 18 52
\\ o
gk DN APTUKYII oA L
— 7 20 201.1504AA 45 25
A
= i 25 201.1505AA 55 25
== B

2014

INTEVA S.A. Reserves the right to make modifications in its products without prior notice

INTEVA



202, CEPUA
HPA

CozaaHbl ansd UMINHOPOBBIX CUCTEM AOMKPATOR, HACOCORB U MOAO0OHBIX CUCTEM
BbICOKOIO AaBfieHUs.
HdocTynHbl WapoBbie U KnanaHHble. Pe3abba NPT, Takke pe3bba nop 3akas.

» Materials ;
* Working temperature (Seals)
CARBON STEEL STAINLESS
STEEL
Carbon Steel
Body AIS| 316L
EN-10277-3 8 ’ . C )
NBR, Vit NBR, Vit
Seals EPOM EPoM -30°C -10°C -40°C
Balls AISI 1010/1015 | AISI316 W. 14401
Springs Carbon Steel AISI302 DIN
DIN 17233/84(B) 17224
* Applications: Designed for Oil hydraulic Applications « Sectors: MPOMbILLNEHHOCTb.
according to European Directive 97.23.EC
* AHAJIOIUA

DNP PVS / PVM
ENERPAC C-604
CEJN 230
PARKER 3000

CTPYKTYPA APTUKYIIA
NMPUAMEP:

202. 12242 BN

202. 1-> Carbon St. 1 -> Male 1 > PoppetV 0 - Without DN 2 letters (see

Yrnepog. ctane LUTEKEP KNAMNAH BE3 1506 ' Table of Threads
2> AIS|I 316 2 > Female 2 - Ball MPOKNAOKN page 999-1)
Hepx. ctanb PO3ETKA LUAP 2 = Viton 2>10 %
4 > NBR 90Sh 2 Byksel (CM.
Tabnuvuy pe3bb
ctp. 999-1)

-
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INT EV A



202 CEPVIA

HPA  POPPETWALVE

Al

DAl

STANDARD MALE MODELS/
— LUTEKEP YIMEPOQA. CTAIb

DN @Al  APTUKYN @ EIC @G
06 Y~ NPTF 202.11141BB 1200Bar  * & “ e &

%—dh 10 % NPTF 202.11142BC 1200Bar 24 13/16”UN 38,88 18,99 72,75

STAINLESS STEEL MALE MODELS/

LUTEKEP HEPX. CTAJlb

N DN DAL APTUKYN @ E/C 2G

@F 06 %’ NPTF 202.21121BB 1200Bar  * * * * *

E/C —

L1

@G 10 %"NPTF 202.21122BC 1200Bar 24 1 3/16” UN 42,50 18,99 72,75

* | — obLaa anvHa coeguHeHns

STANDARD FEMALE MODELS/
PO3ETKA YITEPOA. TACIlb

APTUKYN @ CH2 L2 DE

06 Y’NPTF M. 202.12141BM 1200Bar * * * *

10 %"NPTF M. 202.12142BN 1200Bar 22 4550 34,50 72,75

STAINLESS STEEL FEMALE MODELS/
PO3ETKA HEPX. CTAIlb

APTUKYN @ CH2 L2

06 %’NPTF M. 202.22121BM 1200Bar * * * *

10 %" NPTF M. 202.22122BN 1200Bar 22 45,50 34,50 72,75

_d
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



202 CEPVIA

BALL VALVE
HPA we

DA | STANDARD MALE MODELS/
] LUTEKEP YIMEPOA. CTAIlb

APTUKYN @ E/C 2G L1

06 Y’ NPTF  202.11201BB 700Bar 19 1"UN 34 1585 755

10 %’NPTF 202.11202BC 700Bar 24 13/16” UN 38,88 18,99 87,14

L1

STAINLESS STEEL MALE MODELS/
LUTEKEP HEPX. CTAJIb

y. APTUKYN @ E/C 2G

@F 06 Y’ NPTF 202.21201BB 700Bar 19 1"UN 34 15,85 75,5

@G 10 %"NPTF 202.21202BC 700Bar 24 1 3/16” UN 38,88 18,99 87,14

* L — obwasa gnvHa coegnHeHust

VE STANDARD FEMALE MODELS/
PO3ETKA YITIEPO[. CTAJlb

APTUKYN @ CH2 L2

06 " NPTF M. 202.12241BM  700Bar 19 53 30 75,5

10 %" NPTF M. 202.12242BN  700Bar 24 64 34,50 87,14

STAINLESS STEEL FEMALE MODELS/
PO3ETKA HEPX. CTAJlb

APTUKYN @ CH2 L2 @D

06 " NPTF M. 202.22221BM  700Bar 19 53 30 75,5

10 %"NPTF M. 202.22222BN  700Bar 24 64 34,50 87,14

1
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



202.CEPIA

PLUGS — 3arnyLiku po3eTku
PA pusrp

CTaHAOAPT MIIACTUK YepHOoro uBeTa.

CTPYKTYPA APTUKYIIA MPUMEP

202.6302 AA

K

202. 2> AISI 316 3-> Plug 0 - Plain Metal DN AA
HEPX. CTAlb HA PO3ETKY METANY. 12> v | os
5 > Plastic 4-> Cap 5 > Black/
6 = Aluminium HA WUTEKEP YEPHbI/ 2> % |10
—_ 4%
X METAL PLUG/ HA PO3ETKY METAJIINTUMECKUE
/ DN ALUMINIUM AISI 316 @C L 7B
A 06 202.6301AA 202.2301AA 15,85 24 25
10 202.6302AA 202.2302AA 19 28 30

,,,,,

PLASTIC PLUG HA PO3ETKY NMNJACTUK

DN PLASTIC @C L 2B
06 202.5351AA 15,7 24 25
i 10 202.5352AA 19 28 30
1
 a N
[ _ METAL CAP/ HA LUTEKEP METAJIJTMYECKUE
4 DN ALUMINIUM AISI 316 @C L 7B
Al 06 202.6401AA 202.2401AA 29 28 25
10 202.6402AA 202.2402AA 34 34 30
)

m ’ PLASTIC CAP/ HA WUTEKEP NNMACTUK

A DN PLASTIC @C L 7B
74 ?\H ) 06 202.5451AA 15,7 24 25
; ; 10 202.5452AA 19 28 30

1
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



203 CEPVIA
IRENY

Co3aaHHbI Asis NCHosIb30BaHNS B MAPaBIANYECKUX CUCTEMaX BbICOKOrRO AABSIEHNS.
HoctynHbl knnanaHHbIE. Pe3bba BSP, NPT, Takxke pe3bba nog 3akas.
Mop 3aka3 u3 AlISI316 HepxaBeloLen cTanu.

* Materials * Working temperature (Seals)
Carbon Steel EN -10277-3, AlSI 316 and AISI 303
Seals: NBR, Viton or EPDM

Back-up-ring: PTFE

Springs: Carbon Steel DIN 17233/84(B)

» Applications: Designed for Oil hydraulic Applications *Ccpepa npumMeHeHUs: NPOMBILLNEHHOCTb, HEPTAHAs
according to European Directive 97.23.EC NPOMBbILLIIEHHOCTb, MaLLUMHOCTPOEHME.

AHAJOI'

GROMELLE 6000
TUTHILL 6000

CTPYKTYPA APTUKYINA
NMPUMEP:
203. 1> Carbon ST 1-> Male 0 -> Without 0 > Without DN 2 letters (see
Yrnepog. ctane LWTEKEP BE3 BE3 1> |os Table of Threads
2 > AISI316 2 > Female 3AKPbITUA MPOKNAOKU page 999-1)
Hepx. cTanb PO3ETKA 1-> PoppetV 1 > NBR 2> % |10
KITAMAH. 2 S Viton 2 BykBbl (CM.
2 - Ball/ 3> EpPDM 32 % |13 Tabnuuy pessb
LUAP cTp. 999-1)
4> %" |20
5> 1" |25
6>1 %" | 32
7>1%"| 40
8>2 |50

203-1

-
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INT EV A




203 CEPVIA

MALE/ WUTEKEP

STANDARD MODELS

LUTEKEP

PO3ETKA

&

06 19 36 14,90 M27x15 72
10 22 40,50 18,95 M30x1,5 81
13 27 46 22 M35x1,5 92
20 35 56 28,95 M45x1,5 112
25 41 63 36 M54x1,5 126
32 58 75 49,80 M70x2 150
40 61 8350 55 M78x2 167
50 71 118 69,40 M92x2 237

* L — obwas anvHa coegmHeHus

06 Ys" BSP 203.11111AB  203.12111AB 950Bar
2" NPTF 203.11111BB  203.12111BB
10 %" BSP 203.11112AC 203.12112AC
%" NPTF 203.11112BC  203.12112BC 750Bar
13 2" BSP 203.11113AD 203.12113AD
2" NPTF 203.11113BD  203.12113BD
20 4" BSP 203.11114AE  203.12114AE 650Bar
¥ NPTF 203.11114BE  203.12114BE
25 1" BSP 203.11115AF 203.12115AF
1" NPTF 203.11115BF 203.12115BF 450Bar
32 1% BSP__ 203.11116AG_203.12116AG
1% NPTF  203.11116BG_203.12116BG
20 1%" BSP 203.11117AH 203.12117AH
1% NPTF  203.11117BH 203.12117BH 300Bar
50 2" BSP 203.11118A1  203.12118Al
2" NPTF 203.11118BI  203.12118BI

FEMALE/ PO3ETKA

| 102 22 67 36 81
e () 18 27 7350 41 92

o 3 /s 20 35 89,50 50 112
25 41 10550 65 126

32 58 13050 80 150

uil' g 40 61 14350 85 167

= 50 71 20350 105 237

E/C \’\

__DA

L2 TS|

2032

INTEVA S.A. Reserves the right to make modifications in its products without prior notice

- |
INTEVA



203 CEPVIA

TEXHUYECKUE XAPAKTEPUCTUKU KoadpcpuumeHT 6e3onacHocTtu 1:4

Rated Flow Max. Working Pressure
Male Female Coupled
06 18 1/m 3650 3500 3800 950 bar
10 381/m 3000 2900 3000 750 bar
13 621/m 2950 3000 3000 750 bar
20 116 1/m 2520 2500 2600 650 bar
25 194 1/m 1800 1650 1800 450 bar
32 2901/m 1700 1650 1800 450 bar
40 3181/m 1100 1250 1200 300 bar
50 3651/m 1100 1100 1200 300 bar * Safety factor 1:4
Carbon Steel Models
Ap (bar)
8
7
6 -
5
4 3{'
) // //
o K
0 20 40 60 80 100 120 140 160 I/m
Ap (bar)
8

500

o B N W b U0 O N
C{\ no
| o
; t&~
n
N\
N

0 100 200 300 400 500 600 700 800 900 1000I/m

203-3

.
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INT EV A



203 SERIES

S

f{"h \ ?&3 TGW PLUGS =3ariyLKn Ha po3eTKy
3 .

CAPS = 3arnyluku; ‘exgp‘

TGW 3arnyLKn Mpou3BOASTCH U3 MeTanna
Co3aaHbl And 3alnThbl CoeAWMHEHUN B HE NOAKMHOYEHHOM COCTOSSHUN.

CTPYKTYPA APTUKYNA _
3ATTIYLLUKMN NPUMEP:

203.6404 AA

203. 1-> Carbon St 3 > Plug 0 - Plain Metal DN AA

CTANb HAPO3ETKY METAUIMY. o\ | o6
6 = Aluminium 4 - Cap

HA LUTEKEP 2>% |10

3> %" |13

4> % |20

5> 1 |25

6 >1 %" | 32

7>1%"| 40

8->2" |50

PLUG/ 3arnywwka Ha po3eTKy

APTUKYN
L 06 203.6301AA 32 18,50 25
) 10 203.6302AA 35 20,50 30
13 203.6303AA 40 20,50
20 203.6304AA 50 25,50 42
SR 25 203.6305AA 60 27
_;’ 4 32 203.6306AA 75 39 50
A 40 203.6307AA 85 41
- 50 203.6308AA 99 43

! APTUKYN
A N 06 203.6401AA 32 30 25
A 10 203.6402AA 35 37 30
ol 13 203.6403AA 40 38
] = 20 203.6404AA 50 46 42
[ 25 203.6405AA 60 55
N =_1 32 203.6406AA 75 77 50
1 = 40 203.6407AA 85 74
50 203.6408AA 100 121

2034

i
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



204 CEPUA

‘ IN=V

- lNpounzBoasitcs and VicnaHCKoro pbIHKa.
HocTynHbl KnanaHHble. Pe3bba BSP, Takke pe3bba nop 3akas.

* Working temperature (Seals)
* Materials

Carbon Steel EN -10277-3
Seals: NBR, Viton or EPDM
Springs: Carbon Steel DIN 17233/84(B)

» Applications: Designed for Oil hydraulic Applications *» Sectors: CEJIbXO3TEXHWKA
according to European Directive 97.23.EC
Special for Spanish market

CTPYKTYPA APTUKYINA
NMPUMEP:

204.12113 AD

204. 1-> Carbon ST 1 -> Male 0 - Without 0 = Without DN 2 letters (see
2> Female  1->PoppetV. 1- NBR 35 1y | 13 Table of Threads

2 > Ball 2 > Viton page 999-1)
3 > EPDM
2 BykBbI (CM.
Tabnuuy pe3bb
cTp. 999-1)

.
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INT EV A



oA MALE/ WUTEKEP

APTMKYN &9

13 %"BSP 25 36 49,5 21,80 30,50 88 204.11113AD 400 Bar

FEMALE/ PO3ETKA

APTUKYN &

13 2" BSP 27 69,5 33 88 204.12113AD 400Bar

-
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



204 CEPUA

AEV CAPS - 3AIIYLLUKA

NiEY

CTPYKTYPA APTUKYINA
SArTYLUKHN

NMPUMEP:

204.1303 AA

A

204. 1-> Carbon St 4 > Cap 0 - Plain Metal DN AA
3> W | 13

CH3 CAP

DN APTUKYN CH3 L
13 204.1303AA 36 20

=
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



205 CEPVIA

ST(G  BSP/NRIF
N

DINS852/ SAE

Ans rnapaBiayecknX CMCTEM BbICOKONO AaBsieHNs. HOCTYNHB! KilanaHHBIE:
Pe3abba BSP, NPT, DIN2353, DIN3852, SAE/ORB, Takxe pe3bba noj 3akas.
N3 HepxaBewwen ctanu AlSI316 npu 3aka3e MMHUMArIbHOroO KONIM4YecTBa.

* Materials * Working temperature (Seals)
Body/Kopnyc:Carbon Steel EN -10277-3 / AISI 316L
Seals/Mpoknagku: NBR, Viton or EPDM

Back-up-ring/3awwuTa ot npogaBnuBaHua: PTFE

Springs/IMpyxuHbl: Carbon Steel DIN 17233/84(B)

+ Applications: Designed for Oil hydraulic Applications Cdrepa npumeHeHus: Cenbxo3TexHUKa, CTPOUTENbLCTBO,
according to European Directive 97.23.EC NMPOMBILLNIEHHOCTb, aBTOMOGUIECTPOEHME.

* AHANOIn
FASTER Cvwv
DNP PVV3
ARGUS HD

VOSWINKEL HS

CTPYKTYPA APTUKYNA
NMPUMEP:
205. 1-> Carbon ST 1 - Male 0 - Without 0 = Without DN 2 letters (see
Yrnepog. ctane  WUTEKEP BE3 BE3 1> v | o6 Table of Threads
2 > AISI316 2> Female 3AKPbITUAA  3AKPbITUSA page 999-1)
Hepx. cTanb PO3ETKA 1- PoppetV. 1- NBR 2> % |10
KITAMAH 2 S VITON 2 BykBbl (CM.
3> EpDM 32 % |13 Tabnuuy pessb
cTp. 999-1)
4> % |20
5> 1" |25
6>1%"| 32

2051

i
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA




205 CEPVIA

STG

BSP /NPTE
./ SAE"

MALE/ LUTEKEP STANDARD MODELS
DA
' : DN CHL CH2 C @D WTEKEP  PO3ETKA &9
06 19 30 59.30 34 94 %" BSP_ 205.11111AB  205.12111AB
10 22 30 61,20 34 98 06 ¥ NPTF_ 205.11111BB_ 205.12111BB
13 27 36 67,50 41,80 109 M14x1,5 205.1111INC 205.1211INC
20 36 41 80 48 135 Y’ BSP__ 205.11112AB  205.12112AB _ 450Bar
25 41 55 875 5980 152 104 BSP_ 205.11112AC 205.12112AC
32 50 75 142 79,80 241,80 % NPTF__ 205.11112BC_ 205.12112BC
M16x1,5 205.11112ND_205.12112ND
o % BSP__ 205.11113AC_ 205.12113AC
%" BSP__ 205.11113AD 205.12113AD
%" NPTF__ 205.11113BD 205.12113BD
13 M18x15 205.11113NE_ 205.12113NE
M22x15_ 205.11113NG 205.12113NG _ ,q o
%’ -160RB_205.11113GF_ 205.12113GF
7% -140RB_205.11113GH_205.12113GH
% BSP __ 205.11114AE  205.12114AE
20 % NPTF_ 205.11114BE_ 205.12114BE
L /D - M22x1,5 205.11114NG_205.12114NG
% BSP __ 205.11115AE 205.12115AE
25  1"BSP__ 205.11115AF 205.12115AF
1”NPTF__ 205.11115BF 205.12115BF
1% BSP_205.11116AG 205.12116AG _ 300Bar
* L — obwasa anvHa coeanHeHns 32 1% NPTF 205.11116BG_ 205.12116BG
1% BSP__ 205.11116AH_205.12116AH
1% NPTF_205.11116BH_205.12116BH

FEMALE/ PO3ETKA

06 19 22 60 Rd24x2 94
10 22 24 64 Rd28x2 98
13 27 32 70 Rd36x2 109
20 36 36 86 Rd42x2 135
25 41 41 100 Rd48x3 152
32 50 60 150 Rd70x3 241,80

CMEU. MOOENb C LULECTUFPAHHOW
FAMKOWN - CEPUA 215.

B APTUKYJIE CTABUTb 215 BMECTO 205

For request with hexagonal nut use reference 215 instead of 205.

INTEVA S.A. Reserves the right to make modifications in its products without prior notice

INTEVA




205 CEPVIA

% G BSP /INPIE
@/ Si| DINB852)/ SAE

TEXHUYECKUE XAPAKTEPUCTUKW. KoadhdumumHeT 6e3onacHocTu 1:4

Rated Flow Min Burst Pressure (bar) Max. Working Pressure*
Male Female Coupled
06 12 |/min 1580 1500 1800 450 bar
10 32 |/min 1750 1680 1800 450 bar
13 75 |/min 1580 1500 1600 400 bar
20 145 |/min 1520 1400 1600 400 bar
25 255 |/min 1200 1150 1200 300 bar
32 440 |/min 1450 1520 1650 410 bar * Safety factor 1:4

Carbon Steel Models

Ap (bar)
5

0 10 20 30 40 50 60 70 80 90 I/m

Ap (bar)
5

SR~ I

0 60 120 180 240 320 380 420 480 I/m

205-3

.
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INT EV A



CEPWUA

DIN2853

e s S asoBar 19 30 4930 34 12 93,80
M18XL5 120 205 E
M14xL5 8L 20 C
o 3 0L aeeD usoBar 22 30 6020 34 12 96
M18XL5 10S  205.11112KE
M20xL.5 1S 205.11112KF
M14xL5 8L 205.11113)C
ML6xL5 0L 205.111130D
M18XL5 2L 205.111130E
u M22xL5 50 205.11113JG
13 M26xL5 8L 205.11113)1  400Bar 27 36 6350 41,80 12 101
M18xL5 0S  205.11113KE
M20xL 5 2S  205.11113KE
i M22xL5 45 205.11113KG
M24xL5 6S  205.11113KH
M18xL5 2L 205.11114)E 1
M22xL5 50 205.11114JG 72 12
M26xL.5 8L 205.11114J1 24
20 M30x2 2L 205.11114J) 400Bar 36 41 78 48 8 136
M22x1,5 4S 205.11114KG
M24xL5 65 205.11114KH 72 12 119
M30x2 20S_ 205.11114KJ 76 6 27
M26x1,5 180 205.11115J1 2
302 220 205.11115J7 70,50 1 146
36x2 2680 205.111150K “
45x2 350 205.11115IM 68,50 6 142
25 30x2 20S  205.11115Kk) >00Bar 55 59,80
36x2 255 205.11115K 2050 18 146
T vaze 0S  205.11115KL 6 :
M52x2 8S  205.11115K 55 20 150
* L — obuwias AnnHa coeguHeHus Mo 05 202 11T16KL =
32 Maze 398 20 LLUSKL  300Bar  —22 75 143 7980 20 243,80
- STANDARD FEMALE MODELS/ PO3ETKA
D A2
i T APTUKYN
06 mﬁﬁg gt 58311511111113 450Bar 19 22 50 Rd24x2 12 93,80
ML8XL5 120 205.12112JE
ML4xL5 8L 205.12112C
10 —'—migﬁg 1805" gggizzﬁgig 450Bar 22 24 63 Rd28x2 12 9%
ML8XL5 __ 10S _ 205.12112KE
M20x1,5 12S 205.12112KF
ML4xL5 8L 205.12113)C
ML6xL5 10l 205.121131D
e ML8XL5 12 205.12113JE
M22xL5  15L  205.12113JG
13 M26xL5  18L  205.12113)l _ 400Bar 27 32 66 Rd36x2 12 101
MI8XL5 __ 10S _ 205.12113KE
M20xL5 125 205.12113KF
M22xL5  14S _ 205.12113KG
M24xL5  16S _ 205.12113KH
MI8XL5  12L  205.12114JE
M22xL5  15L  205.12114JG 78 12 119
M26xL5  18L  205.12114Ji
20 M30x2 20U 205.121143) _  400Bar 36 36 84 Rd42e 18 131
M22x15  14S _ 205.12114KG
M24xL5 165 205.12114KH 8 12 19
11 M30x2 20S  205.12114KJ 82 16 127
M26x15  18L _ 205.12115] o1 2
M30x2 2oL 205121151 97 146
M36x2 28L 205.12115JK " 97 18
M45x2 350 205.12115]M 95 142
25 M30x2 20S _ 205.12116K) _  So0Bar 41 Rd48X3—5
M36x2 255 205.12115KK 97 18 146
M42x2 30S_ 205.12115KL 46
M52x2 385 205.12115KN 55 9 20 150
m —piae 305 ZBLLOK . g00p —2— 60 151 RAT0G 20 243,80

2054

.
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



205 CEPVIA

DIN2358

@D

M12x1,5 6L 205.11111LB 28.80
06 ML e o S0slilliic- A4%0Bar 19 30 19 o
M14xL,5 8L 205.11112LC 19 50
M16x1,5 __ 10L _205.11112LD 9 50
10 _MI16xL5 8S_ 205.11112MD_  450Bar 22 30
M18xL5 105 205.11112ME 24 138,20
M20xL5 125 205.11112MF 22
M14xL,5 8L 205.11113LC 19 8550 34 56,50
M16xL,5 OL_ 205.11113LD 22 86,50 35 57,50
18x1, 2L 205 E 247550 24 36,50
M22x1,5 5L 205.11113LG 27
13 M26xL,5 8L 20511113LI  400Bar 27 36 30 %650 4180 38 15750
M18xL,5 0S_205.11113ME 247550 24 136,50
M20xL,5 25 205.11113MF 22
M22xL,5 45 205.11113MG 27 86,50 35 157,50
M24xL,5 6S  205.11113MH 30
M18xL,5 121 205.11114LE _ 24 86 26 157
M22x1,5 5L 205.11114LG 27
20 M26XL,5 8L 2051ILT4LI_ , 0 a I 48 33 i
M30x2 22l 205.11114L) 6 o4 34 173
M24xL5 165 205.11114MH 0 89 29
M30x2 20S__ 205.11114MJ 6 96 36 163
M26xL5 __ 18L _ 205.11115LI 0 9950 33 18550
30x2 22 205.11115L) 6
36x2 28L  205.11115L T4 10050 34 187,50
45x2 350 205.11115L 55 102,50 36 19150
% 30x2 20 20511115M1_ JooBar 4l % 736 10150 2% T35 18950
36x2 255 205.11115MK 41 104,50 38 oeso
T wmae 30S_ 205.11115ML _ 50 0650 20 i
M52x2 385 205.11115M 65 i 199,50
32 M42x2 30S_ 205.11116ML__ 300Bar__ 50 75 50 143 40 284

L — obwaa annuHa coegnHeHus

STANDARD FEMALE MODELS/ PO3ETKA

3’ CH1

2T APTUKYN E/C CH3 B
M12x15 6L 205.12111LB 72 25 128.80
06 M14x1,5 8L 205.12111LC  2°0Bar 19 22 19— Rdaax 34 146,80
Ml4xl5 8L 205.12112LC 9 85 34 151,50
M16x1,5 10l 205.12112LD by 11 26 127.50
10 M16x1,5 8S  205.12112MD 450Bar 22 24 Rd 28x2
M18xL,5 _ 10S 205.12112ME 24 780 27 13820
M20x1,5  12S  205.12112MF 22
MI4xl5 8L 205.12113LC 19 88 34 156,50
ML6x1,5 _ 10L_ 205.12113LD 22 89 35 157.50
M18x1,5  12L  205.12113LE 2418 24 136,50
M22x1.5 50 205.12113LG 27
13~ M26x15 8L 205.12113L1  400Bar 27 32 30 0 Rdsexe o0 15750
MI8xL5 _ 10S 205.12113ME 24718 24 136,50
M20x15 125 205.12113MF 22
M22x1,5  14S_ 205.12113MG 27 88 3 157,50
M24x1,5  16S 205.12113MH 30
Mi8xL5 121 205.12114LE 24 92 26 157
M22x1,5  15L  205.12114LG 21 o, a o
M26x1,5 18 _ 205.12114LI 30
20 M30x2 2oL 205.12114Ly  200Bar 36 36 TRgmoo— Rd422 Ty 17a
M24x15  16S 205.12114MH 30 100 29
M30x2 __ 20S _ 205.12114MJ 36 95 36 163
M26x15  18L  205.12115LI 30 112 33 18550
M30x2____ 22l 205.12115L) 36
M36x2 __ 28L  205.12115LK a1 M8 34 187,50
M45x2  35L  205.12115LM 55 115 36 19150
25 M30x2 __ 20S _ 205.12115M)  S00Bar 4l 4l gy RA48BE 518950
M36x2 255 205.12115MK 41 117 B oceo
M42x2____30S__205.12115ML 50 .o 20 .
M52x2 385 205.12115MN 65 199,50
32 M42x2  30S 205.12116ML _ 300Bar 50 _ 60 50 _ 171 Rd70x3 40 284

INTEVA S.A. Reserves the right to make modifications in its products without prior notice

- |
INTEVA



205 CEPVIA

PLUGS 3arnyu.|KM Ha, pO3eTKY
i M\-JaI'IfI!TeKep

3arnyliky cTaHOAPT KPacHoro LBeTa. o 3akas YepHbI LiBET.
Co3paHbl Ans 3alnThl cCOeUHEeHUN B He NOAKMFYeHHOM COCTOAHUN.

CTPYKTYPA APTUKYIA

3AMNYIUKN MPUMEP:

205.5414 AA

205. 1 > Carbon ST 3 - Plug 0 2> Plain Metal DN AA
CTANb HA PO3ETKY 1 S>Red 1> | o6
2> AISI316 4> Cap
HEPX.CTAIIb HA WUTEKEP 2>%" |10
5 - Plastic
3> % |13
4> 3% | 20
5>1 |25
6>1%"| 32

PLUG/ 3arnywku Ha po3eTKy

1 APTUKYN
L oo | 06 205.5311AA Rd 24x2 20 90
& : 10 205.5312AA Rd 28x2 24 100
i 18 13 205.5313AA Rd 36x2 29,50 135
20 205.5314AA Rd 42x2 37 187
L A 25 205.5315AA Rd 48x3 41 145
32 205.5316AA Rd 70x2 55 200

CAP/ 3arnyLwuku Ha wrTekep

APTUKYN
06 205.5411AA Rd 24x2 20 90
ali 10 205.5412AA Rd 28x2 24 100
el 1 13 205.5413AA Rd 36x2 29,50 135
20 205.5414AA Rd 42x2 37 187
] 25 205.5415AA Rd 48x3 41 145
32 205.5416AA Rd 70x2 55 200

INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



206 CEPVIA
SRK DIN 2353

HoctynHbI ¢ pe3sbon DIN2353; apyrve pe3bobl nog 3akas.
M3 HepxaBerowen ctanu AlSI 316 npu 3akaze MUMHUMaribHOro KosinyecTtBa

* Materials * Working temperature (Seals)
Body/Kopnyc:Carbon Steel EN -10277-3 / AlSI 316L
Seals/npoynapgku: NBR, Viton or EPDM
Back-up-ring: PTFE

Springs/MpyxuHbl: Carbon Steel DIN 17233/84(B)

* Applications:  Designed for Oil hydraulic Applications * SEClOrS. MPOMBILINEHHOCTL, CENBXOSTEXHMKA,
according to European Directive 97.23.EC CTpouTenbHas TEXHMKa

+ AHAJNOIW:

Voswinkel Serie RS
Argus Serie RK

CTPYKTYPA APTUKYIIA
NMPUMEP:
206. 1-> Carbon ST 1 - Male 0 - Without 0 = Without DN 2 letters (see
Yrnepog. ctane LUTEKEP BE3 BE3 1> v | o6 Table of Threads
2> AISI316 2> Female 3AKPbITUA  NPOKNAQKK page 999-1)
Hepx. cTanb PO3ETKA 1- PoppetV. 1- NBR 2> % |10
KITAMAH 2 S VITON 2 BykBbl (CM.
3> EpDM 32 % |13 Tabnuuy pessb
cTp. 999-1)
4> % |20
5> 1" |25
6>1%"| 32

i
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



206 CEPVIA
SRK DIN 2353

M14x1,5 8L 206. 2JC
M16x1,5 10L 206. 2JD
M18x1,5 121 206. 2JE
10 :z;i ?2)2 ‘?(0)2 ;iE 400 Bar 32 22 62,5 39 215 103,5
M22x1,5 15L 206 2JG
M22x1,5 14s 206 2KG
M24x1,5 16S 206. 2KH
M18x1,5 2L 206.11113JE
M22x1,5 5L 206.11113JG
13 M22x1,5 14s 206.11113KG 300 Bar 46 24 70 45 20 119
v M24x1,5 16S 206.11113KH
M26x1,5 8L 206.11113JI
i M26x1,5 8L 206.11114J1
20 ggg gg; gggjj:ijj:ljﬁli‘.]] 320 Bar 60 32 83 59,1 27,4 140
36x2 258 206.11114KK
30x2 221 206.111153J
30x2 20S 206.11115KJ
25 36x2 28L 206. 5JK_ 300 Bar 55 41 105 63,9 35 144
36x2 258 206 5KK
42%2 0S 206 5KL
45x2 5L 206 6JM
32 T MB2x2 8S 206.11116KN 420 Bar * 55 133 90 38 227
@D

* L — obLasa anvHa coeanHeHus

STANDARD FEMALE MODELS/ PO3ETKA

DA 2T  APTUKYN

M14x15 8L 206.12112JC
M16x1,5 10L 206.12112JD
M18x1,5 12L  206.12112JE
M18x1,5 10S _ 206.12112KE
M20x1,5 12S _ 206.12112KF
M22x1,5 15L  206.12112JG

Rd 32x3

10 400 Bar

M22x1,5 14S__ 206.12112KG
M24x1,5 16S__206.12112KH
M18x1,5 12L  206.12113JE
M22x1,5 15L  206.12113JG
13 _M22x1,5 14S_206.12113KG_ 300 Bar Rd 36x3 M36x1 41 41 37,5 65 119
M24x1,5 16S__206.12113KH
M26x1,5 18L 206.12113J1

|||

|

M26x1,5 18L _ 206.12114JI
20 —mggg gcz); gggjgﬂjij 320Bar  Rd48x3  M45x1,5 55 55 4 79 140
M36x2 255 206.12114KK
M30x2 220  206.121151J
M30x2__ 20S__ 206.12115K]
25 _M36x2__ 28 206.12115JK_ 300Bar  Rd54x4  M54x15 55 60 46 89 144
_M36x2__ 255 206.12115KK_
M42x2__ 30S__ 206.12115KL
M45x2 350 206.12116JM

_M45x2 350 206.12116IM N
32 “\sax2 385 206.12116kN | ‘20Bar  Rd79x4 55 133 90 38 227

|

DA3

o
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



206 CEPVIA

SRK DIN2353

TEXHUYECKUE XAPAKTEPUCTUKW. KoadcdhdumumeHT 6e3onacHoctn 1:4
Rated Flow Min Burst Pressure (bar) Max. Working Pressure *
Male Female  Coupled
10 29 |/min 1500 1580 1600 400 bar
13 72 |/min 1200 1150 1200 300 bar
20 135 I/min 1250 1300 1280 320 bar
25 250 I/min 1200 1150 1200 300 bar
32 430 I/ min 1550 1600 1680 420 bar

Ap (bar)

: = |

0 60 120 180 240 320 380 420 480 I/m

-
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INT EV A



N 206 CEPV/SA
(Q{" x\; \3 SRK PLUGS =3arfyLwKn Ha po3eTKy

. CAPS — 3arnyiliku agevlgepi\

s

RK 3arfyLliky U3 MeTanna.
Co3aaHbl And 3alnThbl CoeAWMHEHUN B HE NOAKMHOYEHHOM COCTOSSHUN.

CTPYKTYPA APTUKYNA
3AITIYIUKN NMPUMEP:

Part Standard

207. 1 - Carbon St 3 > Plug 0 - Plain Metal DN AA

(0))

Cranb HA PO3ETKY METAJIINY. 2> % |10
6 > Aluminium 4 - Cap

HA WUTEKEP 3>7%" |13

4> 3 |20

5> 1" |25

6->1%"| 32

: PLUG/ SATNYLWLKUN HA PO3ETKY
y DN APTUKYN oA 2B c L
“lu : 10 206.6302AA 32x3 39 25 31
7 13 206.6303AA 36x3 44,5 25 31
S 20 206.6304AA 48x3 59 32 38
- 2L - 25 206.6305AA 54x4 64 39 45
- o8 iy 32 206.6306AA 794 89,5 44 50
; CAP/ 3ATNYWKWU HA LUTEKEP
i APTUKYN
- 10 206.6402AA  32x3 39 26 32
v 13 206.6403AA  36x3 44,5 24 30
LI B 7 1 : 20 206.6404AA  48x3 59 34 40
e oA 25  206.6405AA  5dx4 64 42 48
- i - 32 206.6406AA  79x4 89,5 74 80

i
INTEVA S.A. Reserves the right to make modifications in its products without prior notice lNTEVA



207 CEPUA
CAT

HocTynHbI ¢ pessbon DINSB52; Apyrne pe3bobl nod 3aKkas.
N3 HepxaBerowen ctanu AlSI 316 npu 3akase MUHUMaNrbHOro KosinyectBa

» Materials * Working temperature (Seals)
Carbon Steel EN -10277-3 / AISI 316L
Seals: NBR, Viton or EPDM
Back-up-ring: PTFE

Springs: Carbon Steel DIN 17233/84(B)

* Applications: Designed for Oil hydraulic Applications *Sectors: NPOMBbILLIIEHHOCTb, CENbX03TEXHUKA,

according to European Directive 97.23.EC CTPOUTENbHAs TEXHUKA

* AHAIOIN:
DNP VAV
CTPYKTYPA APTUKYNA
NMPUMEP:
207. 1-> Carbon ST 1-> Male 0 > Without 0 - Without DN 2 letters (see
Ynepop. crans  LUTEKEP BE3 1> NBR 3> 1 |13 Table of Threads
2 > AISI316 2> Female  3AKPbITUA 2 - Viton page 999-1)
Hepx. ctanb PO3ETKA 1> PoppetV. 3 -> EPDM 55 1" | 25
KITAMAH 2 BykBbl (CM.
Tabnvuy pesbb
cTp. 999-1)

207-1

i
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA




207 CEPUA

MALE/ WUTEKEP

DA E/C CH1 B oF

13 M22x1,5 27 41 46 22,25 Rd 35x2

&

APTUKYN

92 207.11113NG 400 Bar

25 M30x1,5 36 65 68

E/C

38 Rd54x3

134 207.11115NS 360 Bar

CH1

* | — 0o6LLaa anvHa coeguHeHns

FEMALE/ PO3ETKA

13

M22x1,5 30 62 Rd 35x2 92

25 M30x1,5 46 96 Rd 54x3 134

APTUKYN &)
207.12113NG  400Bar
207.12115NS 360 Bar

CH2

oA

207-2

INTEVA S.A. Reserves the right to make modifications in its products without prior notice

-
INTEVA



CAT 3arnylikn s MeTanna,
co34aHbl Angd 3alnTbl coeAUHEeHUN B He NOAKIMHYEeHHOM COCTOSHUMN.

CTPYKTYPA APTUKYJIA
3AITIYLUKMN NMPUMEP:

207.6403 AA

Standard

207. 1> Carbon St 3 - Plug 0 - Plain Metal DN AA
CTANb HA PO3ETKY METAJINY. 35> |13
6 = Aluminium 4 - Cap
HA LUTEKEP 5> 1" |25

. T PLUG/ 3arnyLiku Ha po3eTKy
f / APTUKYN
o 13 207.6303AA  Rd35x2 40 21 27
iy , 25  207.6305AA  Rd 54x3 60 37,5 435
- @A -—
— QB -—
, CAP/ 3arnywukm Ha wrekep
! APTUKYN
| 13 207.6403AA  Rd 35x2 40 21 27
L | 25  207.6405AA  Rd54x3 60 29 35
L DA
- QB -—

2073

-
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



— 402 CEPUA

V2R H 2-X XOOOBbIE LUAPOBbIE KPAHbI
PE3BBEBI BSPY NRIE/ORB/SSAE

lpon3BoAsiTCH N3 KanMopoBaHHOM cTanu: ocTYHHBI C KPENEXHBIMU OTBEPCTUAMU 1 6ES.
Pe3bba BSP, NPT, SAE/ORB] Takxe pe3bba nof 3akas.
Mo 3aka3y NocTaBnATCA C KOMOMHUPOBAHHLIMU pe3bbamu.

* Materials » Pabouue Temnepartypbl (Npoknaaku)

Kopnyc:Carbon Steel EN -10277-3 / AISI 316L / AlSI 303
Seals/Mpoknagku: NBR, Viton or EPDM

Seating Ball/Onopa wapa: P.O.M (Delrin®)
Handle/Pykositka: ZAMAK-5

+ Applications: Designed for Oil hydraulic Applications Cdbepa npumeHeHus: CenbxosTexHuka,
according to European Directive 97.23.EC NMPOMbILLUIIEHHOCTb.

* AHAJIOINN:
PISTER BKH
MHA BKH
HYDAC KHB
DMIC DVH

CTPYKTYPA APTUKYJIA
NPUMEP:

402.1015 AF

402. 1-> Carbon ST 0-> No 1> NBR DN 2 letters (see
Yrnepoa. cTanb €3 MOHTaXHbIX 2 > VITON ;5 1, | o Table of Threads
2 > AISI316 oTBepcTumn 3 > EPDM page 999-1)
Hepx. cTanb 1-> Yes 2>% |10
3 > AISI303 C MOHTaXHbIMU 2 BykBbI (CM.
Hepx.crans  OTBepcTMsSMU 3> %" | 138 Tabnuuy pesbb
cTp. 999-1)
4> %" |20
5> 1 |25

INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



V2R H 2-X XOOOBbIE LUAPOBbIE KPAHbI
PE3BBbI BSP/ NP ORBA.SAE

SW

(@}

STANDARD MODELS

APTUKYN APTUKYN

C MOHT. BE3
OTBEPCTUAMWU MOHT.OTBEPC

va" BSP 402.1111AB  402.1011AB
7" NPTF _ 402.1111BB  402.1011.BB

06 105,50

7/16"-
200RB 402.1111GA 402.1011GA
%" BSP__ 402.1112AC _ 402.1012AC 500Bar
10 _%"NPTF  402.1112BC  402.1012BC 27 75,40 45 40 50,50 105,50 76 16 32 890 520 31,50
9/16” ORB_ 402.1112GC  402.1012GC
2" BSP _ 402.1113AD  402.1013AD
13 %" NPTF _ 402.1113BD__ 402.1013BD 30 84,50 50 45 55,50 10550 81 17,50 35 8,90 6,50 38,50
%" - 160RB 402.1113GF _ 402.1013GF
%" BSP 402.1114AE _ 402.1014AE
%" NPTF  402.1114BE  402.1014BE

20 1116 400Bar 41 93,40 60 58 73 15950 108 23 50 13,90 6,50 48,50
120RB 402.1114GK  402.1014GK
" BSP 402.1115AF  402.1015AF 46 114,50
1”NPTF  402.1115BF  402.1015BF 46 114,50
1%"BSP__ 402.1115AG  402.1015AG 50 136,50
1%”NPTF 402.1115BG _ 402.1015BG 50 136,50
25 197 BSP 402 1116AH 402 1015AH 350Bar —'—146 50 65 65 80 159,50 115 27,50 57 13,90 8,50 50,50
1%"NPTF 402.1115BH 402.1015BH 146,50
15/16"-
120RB 402.1115GO  402.1015GO 46 114,50

INTEVA S.A. Reserves the right to make modifications in its products without prior notice lNTEVA



Y 402 CEPUA

P V2 R H 2-X XOAOBLIE LIAPOBLIE KPAHbI
f'f'r‘r-f*f«‘ Mining Industry

\y

POMBILIIEHHOCTE

CrieunansHas pe3|=.6b| AIA ropHoﬁ IPOMBILIIIEHHOCIN:
npOM3BOAﬂTCﬂ n3 KanMGpOBaHHOﬁ cTalin. D,OCTyﬂHbI C KperneXXHbIMNn oTBeEpCTUAMN U oes.

» Materials » Pabouure Temnepartypbl (Mpoknagku)
Body/Kopnyc: Carbon Steel EN -10277-3
Seals/Mpoknagku: NBR, Viton or EPDM
Seating Ball/Onopa wapa : P.O.M (Delrin®)
Handle/Pykositka: ZAMAK-5

* Applications: Designed for Oil hydraulic Applications « Sectors: Mining industry,

according to European Directive 97.23.EC
"opHogo6bIBatoLL@s NPOMBILLIIEHHOCTb

CTPYKTYPA APTUKYNA
NMPUMEP:
Mounting H. Pe3bb6a
402. 1> Carbon ST 0-> No 1> NBR DN MIN3
Yrnepoga. ctans Be3 MoHTaxHbIx 2 - VITON i
oTBepcTUn 3>EpDM 377 |18
1-> Yes
C MOHTaXHbIMU
OTBEpCTUAMU

4023

i
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA




e 402 CEPVA

ﬁ?f? \/ 2R H 2% XOBOBLIE WIAPOBbLIE KPAHb!

Mining Industr

\\§

SwW

/ E
CH2 J CH1 A CH3 &

-

STANDARD MODELS

APTUKYN APTUKYN @

BE3 MOHT. C MOHTAX.
OTBEPCTUM  OTBEPCTUAMWU

3
13 Rd 33x3,18 (Special Mining  402.1013MIN3  402.1113MIN3 500Bar 80 140 100 110 129 214 191 52 100 16,98 * *
industry)

4024

=
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA




B 402 SERIES
m‘?“ “ \/2\M T 2XXOBOBLIE WAPOBLIE KPAHb!

“mm;) o PE3BEBI DINI2353

lIpon3BoAsiTCH N3 KannopoBaHHOW cTanu: oCTYNHBI C KPENEXHBIMW OTBEPCTUSMIN M 0ES.
1o 3aka3y NocTaBAATCA C KOMOMHUPOBAHHLIMU pe3bbamu.

* Materials * Pabouune Temnepatypbl (Mpoknagku)
Body/Kopniyc: Carbon Steel EN -10277-3 / AlSI 316L
Seals/Mpoknagku: NBR, Viton or EPDM

Seating Ball/Onopa wapa: P.O.M (Delrin®)
Handle/Pykositka: ZAMAK-5

* Applications: Designed for Oil hydraulic Applications * Cdepa npumeHeHus: Cenbxo3TexHuka,
according to European Directive 97.23.EC MNPOMBILLNIEHHOCTb, aBTOMOBMIECTPOEHNME.
* AHAIOI'U:
PISTER BKH
MHA BKH
HYDAC KHB
CTPYKTYPA APTUKYIIA
NMPUMEP:
Yrnepoa. ctane  BE3 MOHTAX. 2 5 VITON ;5 1 | 5 Table of Threads
2> AISI316 ~ OTBEPCTUM 3 > EPDM page 999-1)
Hepx. ctanb 1- Yes 2> % |10
C MOHTAX. 2 BykBbl (CM.
OTBEPCTUSAMU 3> 7% |13 Tabnuuy pe3bb
cTp. 999-1)
4> %" | 20
5>1 |25
6>17%"] 32

402-5

i
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA




oy 402 CEPUA
m?‘ww V2 MT 2-X XOOOBbIE LUAPOBbIE KPAHbI

K
-
G SW
i @ T
i @ E[ N A\
. \\p)
CH1 E C
A
L

STANDARD MODELS
APTUKYN  APTUKYN

C MOHTAX. BE3. MOHTAX.
OTBEPCTUSAIMA OTBEPCTUW

M12x1,5 6L  402.1111JB  402.1011JB 78,60
M1dx15 8L 402.1111JC _ 402.1011JC

06 Mioxe 55 400 LLLIKD  402-1011%5 22 960 40 35 4550 10550 71 13 26 890 450 3LSO
M18x15 10S _ 402.1111KE _ 402.1011KE
M16x15 10l 402.1112JD  402.1012JD 77.40
M18x15 12U  402.1112JE  402.1012JE

10 “M22x1,5 15l 402.1112)G _402.1012JG_ 500Bar 27 o, 45 35 5050 10550 76 16 32 890 520 3150
M20x15  12S _ 402.1112KF _ 402.1012KF '
M22x15  14S _ 402.1112KG _ 402.1012KG
M22x15  15L  402.1113)G _ 402.1013JG

13 -M26x1,5 18L  402.1113J1 _ 402.1013JI 30 9250 50 45 5550 10550 81 17,50 35 8,90 650 38,50

M24x1,5 16S  402.1113KH  402.1013KH
M30x2 20S  402.1113KJ  402.1013KJ
M30x2 221  402.11143J 402.1014JJ

20 M30x2 _ 20S _ 402.1114KJ _ 402.1014KJ _ 400Bar 41 19840 50 53 73 15050 108 23 50 13,90 6,50 48,50
M36x2 255 402.1114KK _ 402.1014KK 114.40
M36x2  28L  402.1115JK _ 402.1015JK 11350

25 oo 508 4051110kl 405 do1okL~ 350Bar 46 13500 65 65 80 15950 115 2750 57 13,90 850 5050

402-6

.
INTEVA S.A. Reserves the right to make modifications in its products without prior notice lNTEVA



412 CEPUA

V2 R D 2-X XOAOBbIE UMIIMHOPUYECKWUE

LUAPOBBIE KPAHBI
PE3bEb BS‘WP‘TEJ.;ORB/ SN=

llpon3BoasiTCH U3 KanMopoBaHHOW cTanu: [oCTYNHBI C KPENEXXHBIMU OTBEPCTUSIMU U 0€E3.
Mo 3aka3y NocTaBnAATCA C KOMOMHUPOBAHHLIMU pe3bbamu.

* Materials * PaGouune Temnepartypbl (Mpoknaaku)

Body/Kopnyc:Carbon Steel EN -10277-3, Stainless Steel
AISI 316L, Stainless Steel AISI 303

Seals/Mpoknagku: NBR, Viton or EPDM

Seating Ball/Onopa wapa: P.O.M (Delrin®)
Handle/PykosTka: ZAMAK-5

* Applications: Designed for Oil hydraulic Applications ® Sectors: NpoMBbILMEHHOCTb, CENbXO3TEXHNKA.
according to European Directive 97.23.EC

AHAJOI'

PISTER BKH
MHA BKH
HYDAC BKH
DMIC BVH

CTPYKTYPA APTUKYJIA
NPUMEP:

412.2014 GK

==

1> Carbon ST 0> No 1> NBR DN 2 letters (see
Yrnepop. crane  Be3 MoWTax. 25 VITON  ;  +0 | g Table of Threads
2 > AISI 316 oTBepcTumn 3 > EPDM page 999-1)
Hepx. ctanb 2> % |10
3 > AISI 303 2 Byksbl (CM.
Hepx. cTanb 35 % | 13 Tabnuuy pesbb
cTp. 999-1)

45 ¥ | 20

5> 1 25

6->1%" | 32

7>1%" | 40

8-> 2 50

INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



412 SERIES

2-X XO0OOBbIE LUWIIMHOPNYECKUE

\/2RD

LIAPOBbIE KPAH bl

STANDARD MODELS (AISI 316)

MOZAEJIN U3 HEPX. CTAIIU

Jin
L
—~ [
H "
‘ [ \—cm
DN CH1 L A M K H J B @C
06 22 40 | 45,550 71 13 35 38
74,50
10 27 45 50,50 105,50 76 16 40 45
13 30 84,50 50 55,50 81 | 17,50 | 45 48
20 41 93,40 60 73 108 | 50 | 595 | 65
46 114,50
25 50 136,50 65 80 159,50 | 115 | 27,50 | 65 70
55 146,50
32 55 110 80 100 135 | 41 |8575| 90
40 65 120 85 114 176 | 44,50 | 105 | 110
214
50 80 140 100 129 191 | 52 | 115 | 120

APTUKYN &)

v, BSP 412.2021AB

06 v NPTF 412.2021.8B  500Bar
7/16"200RB ___ 412.2021GA
% BSP 412.2022AC

10~ % NPTF 412.2022BC _ 500Bar
9/16™-180RB ___ 412.2022GC
v BSP 412.2023AD

13 % NPTF 412.2023BD  500Bar
% -160RB ___ 412.2023GF
% BSP 412.2024.AE

20 % NPTF 412.2024BE _ 400Bar
1116™-120RB___ 412.2024GK
1" BSP 412.2025AF
1" NPTF 412.2025BF
17 BSP 412.2025AG

25 1V NPTF ___ 412.2025BG _ 350Bar
112 BSP 412.2025AH
12 NPTF 412.2025BH
15/16™-120RB___ 412.2025GO
1Y BSP 412.2026AG

32 1V NPTF __ 412.2026BG _ 320Bar
15/8"120RB ___ 412.2026GT
12 BSP 412.2027AH

40 T NPTE 412202781 >20Bar
2" BSP 412.2028A1

50 2" NPTF 412202881 >20Bar

STANDARD MODELS (AISI 316)
MOAEINN U3 HEPX. CTAITU

APTUKYN
M12x1,5 6L 412.2021J8
M14x15 8L 412.2021JC

06 M16x1,5 8s 412.2021KD S00Bar
M18x1.5 10S 412.2021KE
M16x1.5 10L 412.2022JD

M18x1.5 120 412.2022JE S00Bar
10 M22x1.5 150 412.2022JG
M20x1.5 125 412.2022KF
M22x1.5 145 412.2022KG
M22x1.5 150 412.2023)G

13 M26x1.5 18L 412.2023J1 500Bar
M24x1.5 165 412.2023KH
M30x2 20S 412.2023KJ
M30x2 220 412.2024J)

20 M30x2 20S 412.2024KJ 400Bar
M36x2 255 412.2024KK
M36x2 28L 412.2025JK

25 Ma2x2 30S 412.2025KL 350Bar
M45x2 350 412.2026IM

32 M52x2 38S 412.2026KN 320Bar

Safety pressure factor 1:4

INTEVA S.A. Reserves the right to make modifications in its products without prior notice

INTEVA



412 CEPUA

V2RD 2-X XOOQOBbIE UMWIIMHOPUYECKUE

LIJAPOBbIE KPAH bl

&

DN CH1 L A Y/ K H J B aC
32 55 110 80 100 159,50 135 41 85,75 90
40 65 120 85 114 176 | 44,50 105 110
214
50 80 140 100 129 191 52 115 120
STANDARD MODELS (CARBON STEEL) STANDARD MODELS (CARBON STEEL)
MOLOEIN YIMEPOA. CTAIlb MOLOEIN YIMEPOL. CTAJlb
APTUKYN &) APTUKYN &)
5y _ Md5X2 351 412.10160M 0o 11, BSP 412.1016AG
M52x2 38S  412.1016KN 32 1% NPTF 412.1016BG _ 320Bar
15/8"-120RB ___ 412.1016GT
175 BSP 412.1017AH
40 T NPT 412101781 S20Bar
2" BSP 412.1018Al
50 2" NPTF 412.1018BI 3208ar

INTEVA S.A. Reserves the right to make modifications in its products without prior notice lNTEVA



432 CEPUA

VS R H 3-X XOOOBbIE LUAPOBbLIE KPAHbI
PE3bbEbI BSP/ NRIET ORB/ISAE

”‘Qy\‘—'“'

lIpon3BoAsTCH N3 KanMopoBaHHOW CTanm.
HocCTynHbI € KpeneXXHbIMU OTBEPCTUSIMU U 0€3.
Mo 3aka3y NocTaBnATCA C KOMOMHUPOBaAHHLIMU pe3bbamu.

* Materials + Paboumne Temnepatypbl (Nnpoknagku)
Body/Kopnyc:Carbon Steel EN -10277-3
Seals/Mpoknaku: NBR, Viton or EPDM
Seating Ball/Onopa wapa: P.O.M (Delrin®)
HandlePykositka: ZAMAK-5

* Applications: Designed for Oil hydraulic Applications
according to European Directive 97.23.EC

* AHAJIOINU:

PISTER BK3
MHA BK3
HYDAC KHB3K

CTPYKTYPA APTUKYJIA
NPUMEP:

432.1113 AD

.

432. 1> Carbon ST 0> No 1> NBR DN 2 letters (see
(L Ball) Yrnepoa. crans BE3 MOHTAX. 2> VITON | .. | g Table of Threads
L-TUmn OTBEPCTM 3 > EPDM page 999-1)
LUAPA 1-> Yes 253% |10

nnn C MOHTAX. 2 Byksbl (CM.

433, OTBEPCTUAMU 3> %" |13 Tabnuuy pesbb

cTp. 999-1
(T8ah s |z TPV
LUAPA 5> 1 |25

i
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



432 CEPUA

V3 R H 3-X XOAOBbIE LUAPOBBLIE KPAHbI

PE3bBbI BSP Nl?{-uF\/:Ol%B‘rsAE

Sw
oG

SERE - =
=

L
AN
)

CH1 ¢ p

(> m

(A dimension)

STANDARD MODELS

APTUKYN APTUKYN

C MOHTAX. BE3 MOHT.
OTBEPCTUSMU OTBEPCTUW

V2" BSP 432.1111AB  432.1011AB 13

06 V2" NPTF 432.1111BB  432.1011BB 22 72,60 40 35 4550 10550 71 13 26 8,90 4,50 31,50 14
7/16"-200RB  432.1111GA  432.1011GA

%" BSP 432.1112AC  432.1012AC 15

10 %" NPTF 432.1112BC _ 432.1012BC _ 500Bar 27 75,40 45 40 50,50 10550 76 16 32 8,90 5,20 31,50 16
9/16” ORB 432.1112GC _ 432.1012GC
V2" BSP 432.1113AD  432.1013AD

13 72" NPTF 432.1113BD  432.1013BD 30 84,50 50 45 55,50 10550 81 17,50 35 8,90 6,50 38,50 19,50

%" - 160RB 432.1113GF  432.1013GF

¥4” BSP 432.1114AE  432.1014AE 19

20 74" NPTF 432.1114BE  432.1014BE _ 400Bar 41 93,40 60 60 73 159,50 108 23 50 13,90 6,50 48,50 21
11/16”-120RB  432.1114GK  432.1014GK

1" BSP 432.1115AF  432.1015AF 46 114,50 25

1" NPTF 432.1115BF  432.1015BF 46 114,50 25

1% BSP 432.1115AG _ 432.1015AG 50 136,50 31

25 1% NPTF 432.1115BG  432.1015BG _ 350Bar _ 50 136,50 65 65 80 159,50 115 27,50 57 13,90 8,50 50,50 25

1%" BSP 432.1115AH  432.1015AH 55 146,50 32

1%" NPTF 432.1115BH  432.1015BH 55 146,50 25

15/16” -120RB__ 432.1115GO _ 432.1015GO 46 114,50 25

TYPE “L" BALL TYPE “T" BALL

POSITION 2

-
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



432 CEPUA

\/3MIT 3XXOLOOBbIE WAPOBLIE KPAHbI
PE3bLEbI DIN'2353

lIpon3BoAsTCH N3 KanMopoBaHHOW CTanm.
HocCTynHbI € KpeneXXHbIMU OTBEPCTUSIMU U 0€3.
Mo 3aka3y NocTaBnATCA C KOMOMHUPOBaAHHLIMU pe3bbamu.

* Materials » Pabouue Temnepartypbl (Npoknaaku)

Body/Kopnyc:Carbon Steel EN -10277-3
Seals/Mpoknaku: NBR, Viton or EPDM

Seating Ball/Onopa wapa: P.O.M (Delrin®)
Handle/Pykositka: ZAMAK-5

» Applications: Designed for Oil hydraulic Applications *Sectors: NPOMbILLNEHHOCTb, CENbXO3TEXHNKA,
according to European Directive 97.23.EC

AHAJOI'

PISTER BK3
MHA BK3
HYDAC KHB3k

CTPYKTYPA APTUKYJIA
NPUMEP:

432.1013 KD

===

432, 1-> Carbon ST 0-> No 1> NBR DN 2 letters (see
2 > VITON (

(LBall)  Yrnepon. crane BE3 MOHTAX. 1> % |os Table of Threads
L THM OTBEPCTU 3> EPDM page 999-1)
LWIAPA 1-> Yes 2533% | 10

nnn C MOHTAX. 2 Byksbl (CM.

434, OTBEPCTUAMU 3> % |13 Tabnuuy pessb

cTp. 999-1)

(TTﬁZl-I,) 4> % |20
LWAPA 5> 1 |25

432-3

o
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INT EV A



432 CEPUA

3-X XOOOBbIE LLUAPOBbLIE KPAHbI
VSMT PE3bbbIl DIN-2353\--- t- |

& Re
y @ @
- @) JJ° <X -
\_ 4

(A dimension)

STANDARD MODELS
APTUKYN  APTHKYN

@T C MOHTAX. BE3 MOHT.

OTBEPCTUAMU OTBEPCTUW
M12x1,5 6L  432.1111JB 432.1011JB 78,60

——
M14x15 8L  432.1111JC 432.1011JC 79,60 13
06 _Mi6x15 10L 432.1111JD 432.1011JD 22 78,60 40 35 45,50 10550 71 13 26 8,90 4,50 31,50
M16x15 8S  432.1111KD 432.1011KD 79,60 14
M18x1,5 10S 432.1111KE 432.1011KE 79,60
M16x1,5 10L  432.1112JD 432.1012JD 77,40 14
M18x1,5 12L  432.1112JE 432.1012JE 500Bar 15
10 __M22x1,5 15L 432.1112JG 432.1012JG 27 79.40 45 40 50,50 105,50 76 16 32 8,90 520 31,50
M20x1,5 12S  432.1112KF 432.1012KF ’ 2
M22x1,5 14S  432.1112KG 432.1012KG
M22x1,5 15L 432.1113JG 432.1013JG
M26x1,5 18L  432.1113Jl 432.1013J1 92,50
13 ——M24X1 5 165 432.1113KH 232 1013KH 30 50 45 55,50 105,50 81 17,50 35 8,90 6,50 38,50 15,50
M30x2 20S _ 432.1113KJ 432.1013KJ 98,50
20 M30x2 221 432.1114JJ 432.1014JJ 108,40
M30x2 20S _ 432.1114KJ 432.1014KJ 400Bar 41 114,40 60 58 73 159,50 108 23 50 13,90 6,50 48,50 17
M36x2 25S  432.1114KK 432.1014KK 114,40
25 M36x2 28L 482 1115JK 432.1015JK 350Bar 46 128,50 65 65 80 159,50 115 27,50 57 13,90 8,50 50,50 25

M42x2 30S  432.1115KL 432.1015KL

TYPE “L" BALL TYPE “T" BALL
POSITION 1 POSITION 2

.
INTEVA S.A. Reserves the right to make modifications in its products without prior notice lNTEVA



433 CEPVIA

V3 R H 3-X XOAOBbIE LUAPOBBIE KPAHbI

PE3BEBI BSRPBSP
FEMALE= ALaE* 'MA\L- \
‘ .

lIpon3BoAsTCH N3 KanMopoBaHHOW CTanm.
HocCTynHbI € KpeneXXHbIMU OTBEPCTUSIMU U 0e3.
Mo 3aka3y NocTaBnATCA C KOMOMHUPOBaHHLIMU pe3bbamu.

* Materials » Pabouue Temnepartypbl (Npoknaaku)

Body/Kopnyc:Carbon Steel EN -10277-3
Seals/Mpoknagku: NBR, Viton or EPDM

Seating Ball/Onopa wapa: P.O.M (Delrin®)
Handle/Pykositka: ZAMAK-5

* Sectors: NPOMbILLUJTIEHHOCTb, CEJIbXO3TEXHUKA,

* Applications: Designed for Oil hydraulic Applications
according to European Directive 97.23.EC

CTPYKTYPA APTUKYJIA
NPUMEP:

433.1115 AG

e

433. 1-> Carbon ST 0-> No 1> NBR DN 2 letters (see
(LBall)  Yrnepop.crane BE3 MOHTAX. 23> VITON |, . | 55 Table of Threads
L TvN OTBEPCTUH 3> EPDM i

page 999-1)
LWIAPA 1-> Yes 233% | 10
W C MOHTAXHbIMU 2 6ykBbl (CM.
433. OTBEPCTUAMMU 35 % |13 Tabnuuy pessb
cTp. 999-1)
(TTES,H,) 4> % |20
WAPA 5> 1 25

4331

INTEVA S.A. Reserves the right to make modifications in its products without prior notice INT EV A




433 CEPVIA

VB R H 3-X XOAOBbIE LUAPOBBLIE KPAHbI

PE3BLEB| BSR =\| F
FEEMALEEMALE-FEMALE ™ =
‘. AL

— QG

51

|1
o)
5
0
F

T
i
€
-
S
|

(A dimension)

STANDARD MODELS

APTUKYN APTUKYN

C MOHTAX. BE3 MOHTAX.
OTBEPCTUAMU OTBEPCTUW

06 Ys" BSP 433.1111AB  433.1011AB 22 72,60 40 35 4550 10550 71 13 26 890 4,50 31,50 13
10 %" BSP 433.1112AC  433.1012AC _ 500Bar __ 27 7540 45 40 50,50 10550 76 16 32 890 5,20 31,50 15
13 72" BSP 433.1113AB  433.1013AB 30 8450 50 45 5550 10550 81 17,50 35 8,90 6,50 38,50 17,50
20 %" BSP 433.1114AE _ 433.1014AE__ 400Bar 41 93.40 60 60 73 159,50 108 23 50 13,90 6,50 48,50 19
1" BSP 433.1115AF  433.1015AF 46 114,50 25
25 1% BSP 433.1115AG _ 433.1015AG _ 350Bar _ 50 136,50 65 65 80 159,50 115 27,50 57 13,90 8,50 50,50 28
1%" BSP 433.1115AH  433.1015AH 55 146,50
TYPE "L BALL TYPE “T" BALL

POSITION 2

o
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



452 CEPUA

V2CR 2-X XOAOBbIE LUAPOBbIE KPAHbI

ANA KPEMJIEHAWA HA TIAHESIN
PE3bLEbBI BSP./ NPT{EQSA\_E \GRB/ DIN2353

iponsBoasTCA N3 KanmbpoBaHHOW CTanw.
BkrnroyaeT B cebsi pe3b0y U ranky s KpenneHnsa Ha naHenn.
Pe3bba BSP, NPT, SAE/ORB 'y DIN 2352, Takxe pe3bba noa 3akas.
Mo 3aka3y nocTaBnATCA C KOMOMHMPOBAHHLIMU pe3bbamu.

* Materials * Pabouune Temnepartypbl (Npoknaaku)

Body/Kopnyc:Carbon Steel EN -10277-3
Seals/Mpoknagku: NBR, Viton or EPDM
Seating Ball/Onopa wapa: P.O.M (Delrin®)
Handle/Pykostka: ZAMAK-5 -30°C

-10°C -40°C

* Applications: Designed for Oil hydraulic Applications *Sectors: NPOMbILLINEHHOCTb, CEMNbXO3TEXHUKA,

according to European Directive 97.23.EC

* AHAJIOINN:

INTEVA STANDARD

CTPYKTYPA APTUKYNA

NPUMEP:

452.1112 KF

=

452. 1-> Carbon ST 0-> No 1-> NBR
Yrnepoaucr. Bes MoHTaxX. 2 - Viton 15w
. cTanb oTBEepCcTUM 3> EPDM
1-> Yes 2> %
C MOHTax.
oTBEpPCTUAMMU 3> %
4>
55> 1

INTEVA S.A. Reserves the right to make modifications in its products without prior notice

DN
06

10

13

20

25

2 letters (see
Table of Threads
page 999-1)

2 Byksbl (CM.
Tabnuuy pe3bb
cTp. 999-1)

BkntoyaeT B cebs pe3bby 1 ranky ons KpenneHus Ha naHenu.

=
INTEVA



452 CEPUA

V2CR 2-X XOAOBbIE LUAPOBbIE KPAHbI
ANA KPEINJIEAWA HATIAHESIN

PELEBIBS Qs%

RBY DIN2353

K
e ?Q
— SW
(mE|
* AL )| o
1 5
CT T 2%
Y
® I - : - o — - —
| "
A CH1 C
i

STANDARD MODELS

APTUKYN @ oo oo
Vs BSP 452.1011AB
V" NPTF 452.1011BB 72,60
7/16"-120RB____ 452.1011GA
06 _ M12x1,5 6L 452.1011JB 22 30 7860 40 35 4550 10550 71 13 26 890 M32x1,5
M14x1,5 8L 452.1011JC
M16x1,5 10L  452.1011JD 79,60
M16x1,5 85 452.1011KD
% BSP 452.1012AC
% NPTF 452.1012BC 75,40
9/16"-180RB___ 452.1012GC
M16x15 10L  452.1012JD _ 500Bar 77,40
10 — oS 120 455 1012)E 27 41 45 40 5050 10550 76 16 32 890 M32x1,5
M22x15 150  452.10121G 19,40
M20x15 125 452.1012KF :
M22x15 145 452.1012KG
% BSP 452.1013AD
%" NPTF 452.1013BD 84,50
% -160RB 452.1013GF
13 _ M22x1,515L  452.1013]G 30 41 50 45 5550 10550 81 17,50 35 890 M32x1,5
M26x1,5 18L 452.1013J1 9250
M24x1,5 165 452.1013KH :
M30x2 20S 452.1013KJ
% BSP 452.1014AE
% NPTF 452.1014BE 93,40
20 1,1\2138)('2122258 25522..11%114;% 400Bar 41 50 “onan 60 58 73 159,50 108 23 50 13,90 M45x1,5
M30x2 20S 452.1014KJ :
M36x2 255 452.1014KK 114,40
1" BSP 452.1015AF
25 12/16,',“_'31;2% :5?22,'11811522 ssoBar 46 50 %0 65 65 80 15050 115 27,50 57 13,90 M45x1,5
M36x2 28L 452.1015JK 113,50

INTEVA S.A. Reserves the right to make modifications in its products without prior notice

- |
INTEVA



453 CEPVIA

VSCR 3-X XOOOBbIE LUAPOBBbIE KPAHbI
AnA KPEI'IJ'IEHI/IFI HA I'IAHEJ'II/I

IiponsBoasTCA N3 KannbpoBaHHOW CTann.
HocTynHbI ¢ KpeneXHbIMU OTBEPCTUSIMU U Be3.
Mo 3aka3y NocTaBnATCA C KOMOMHUPOBaHHLIMU pe3bbamu.

* Materials » Pabouue Temnepartypbl (npokangku)

Kopnyc:Carbon Steel EN -10277-3
Seals/Mpoknagku: NBR, Viton or EPDM
Seating Ball/Onopa wapa: P.O.M (Delrin®)
Handle/Pykositka: ZAMAK-5

» Applications: Designed for Oil hydraulic Applications
according to European Directive 97.23.EC

*Sectors: NPOMBILLNEHHOCTb, CENbX03TEXHMKA,

MalLLMHOCTPOEHME

CTPYKTYPA APTUKYJIA
NPUMEP:

453.1014 AE

.

453, 1> Carbon ST 0-> No
(L Ball) L TUN WWAPA BE3 MOHTAV)K.
nnm OTBEPCTUMU
455, 1-> Yes
(T Ball) T TUN LWAPA C MOHTAX.
OTBEPCTUAMU

4531

1-> NBR

2> VITON 1 1

3 > EPDM

23 3

35 1

45w

5> 1

INTEVA S.A. Reserves the right to make modifications in its products without prior notice

DN
06

10

13

20

25

2 letters (see
Table of Threads
page 999-1)

2 BykBbI (CM.
Tabnuuy pe3bb
cTp. 999-1)

BkntoyaeT B cebs pe3bby 1 ranky ons KpenneHus Ha naHenu.

=
INTEVA



453 CEPVIA

V3CR &SP

FEMALEMAISE- FEMA N\

NIl

‘ |
4 . 1#aq
/—CHZ l
. *)%%/
. ’ —=r—h 7.
) — } I )
i = =ty DO
— o c |

L

STANDARD MODELS

APTUKYN
06 Yo' BSP 453.1011AB 22 30 7260 40 35 4550 7113 26 M32x1,5 13
10 %' BSP 453.1012AC _ 500Bar _ 27, 7540 45 40 5050 10550 76 16 32 _ 890 M3zl 515
13 Y2’ BSP 453.1013AD 30 8450 50 45 5550 81 17,50 35 6 ©T175
20 % BSP 4531014AE __ 400Bar 41 50 93,40 60 58 73 108 23 50 19
25 1" BSP 453.1015AF  350Bar 46 50 11450 65 65 80 o0°0 115 2750 57 > Ma5xL5 o5
TYPE “L" BALL TYPE “T" BALL
POSITION 2 POSITION 1 POSITION 2
P P P
B A B A B A B

4532

INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



470.CEPUA

EK2 BSP

BDIN2358

lIpon3BoAsATCH N3 KanMopoBaHHOW CTanw.
Mo 3aka3y NocTaBRAATCA C KOMOMHUPOBaHHLIMU pe3bbamu.

* Materials * Working temperature (Seals)

Carbon Steel EN -10277-3
Seals: NBR, Viton or EPDM
Handle: ZAMAK-5

» Applications: Designed for Oil hydraulic Applications *Sectors: NPOMbILLIEHHOCTb, CENbXO3TEXHUKA,

according to European Directive 97.23.EC

CTPYKTYPA APTUKYIA

NPUMEP:

470.1014 AE

470. 1-> Carbon ST 0-> No 1-> NBR DN 2 letters (see
Yrnepoa. ctane  BE3 MOHTAX. 2 5 VITON ;5 1 | 56 Table of Threads
OTBEPCTUMN 3 > EPDM page 999-1)
2>% |10
2 6ykBbI (CM.
35 %" |13 Ta6bnuuy pe3bb
cTp. 999-1)
4> %" |20
5> 1 |25

470-1

-
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INT EV A




470,CEPVA

A\\ STANDARD MODEL
)
arukyn (@9
/ 10 %'BSP  470.1012AC  250Bar 36 56 2685 112 53
(%
7,
v
2 1 '
1
L @A |
- E -

" STANDARD MODEL

APTUKYN @

470.1012KFA

@A B

10 M20x1,5

250Bar 36 56

26,85 112 53

INTEVA S.A. Reserves the right to make modifications in its products without prior notice

INTEVA



471 CEPUA
EKB BSP

liponsBOaAsSTCH U3 cTanu.
Pe3bba BSP, Takxe pe3bba nof 3akas.
OTKpbITUE U 3aKpbITUE NPON3BOAUTCS PYYKOU KpaHa.

e Materials * Working temperature (Seals)
Kopnyc: Carbon Steel EN -10277-3
Seals/Mpoknagku: NBR, Viton or EPDM
Handle/Pykosatka: ZAMAK-5

-30°C -10°C -40°C
* Applications: Designed for Oil hydraulic Applications * Cdpepa npumeHeHus: CenbxosTexHuKa,
according to European Directive 97.23.EC NPOMBbILLIIEHHOCTb, aBTOMOOUNECTPOEHME.

CTPYKTYPA APTUKYNA
NMPUMEP:
Mountlng
471. 1-> CarbonST 1-> Yes 1-> NBR DN 2 letters (see
Yrnepopa. ctans  C MOHTax. 2 > Viton 25 % | 10 Table of Threads

oTBEPCTUSMU 3 > EPDM ¢ page 999-1)
2 6ykBbI (CM.
Tabnuuy pe3bb
cTp. 999-1)

471-1

INTEVA S.A. Reserves the right to make modifications in its products without prior notice INT EV A




471 CEPUA
EK3, Bsp

NIEY

ﬁ 1

STANDARD MODEL

APTUKYN @ oA B Cc oD OE OF

10 %"BSP 471.1112AC  190Bar 1520 25 29 7 65 26,50 127,25 61 15,550 8,50

471-2

i
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA




472 CEPYIA
/PN esp

lponzBoanTCcs 3 artOMNHWA.
Pe3bba BSP, Takxke pe3bba nof 3akas.
Co3aaHHbI Ansi NTHEBMaTUYeCKMX CUCTEM FpPy30BbLIX aBTOMOOUEen.

» Materials * Working temperature (Seals)
Kopnyc:Body: Aluminium
Inner parts: Carbon Steel EN 10277-3

Seals/Mpoknaagku: NBR
Handle/Pykositka: Carbon Steel EN 10277-3

-25°C

» Applications: Designed for Pneumatic Systems. Applications » Sectors: Trucks

according to European Directive 97.23.EC
*Cchepa npMMeHeHUsA: aBTOMOOUNECTPOEHNME.

CTPYKTYPA APTUKYJIA
NPUMEP:

472.611 AB

Size

472. 6 = Aluminum 1> NBR DN 2 letters (see

1> v | 06 Table of Threads
page 999-1)

2 bykBbI (CM.
Tabnuuy pe3b6
cTp. 999-1)

472-1

-
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INT EV A




472 CEPYIA
/PN esp

Jﬂ“ “_ENTRADA

STANDARD MODEL

APTUKYN @ 2B

06 72"BSP  472.611AB 15Bar 25 43 60,50 125 46 22 32

472-2

.
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA




502 CEPYIA
\/PC, es°

CozaaHbl And 6e30MacCHOCTM Ha cliydyau YTeYKU B CUCTEME.
BrioknpyeT/KoHTponupyeT cnyck rpy3a, npeaoTrBpallasi bbICTpoe nageHne AaBrieHns B
cucteme n Bo3MoXxHble aBapun. Peabba BSP, Takke pe3bba noa 3akas.

* Materials

Kopnyc: Carbon Steel EN -10277-3 / AISI 316L
Springs:/MpyxuHbl: Carbon Steel DIN 17233/84(B)

* Applications: Designed for Oil hydraulic Applications » Cchepa npMMeHeHUs: NPOMbILWIIEHHOCTb.
according to European Directive 97.23.EC

CTPYKTYPA APTUKYIIA
NPUMEP:

502.19992AN

4 Regulatlon Slze

502. 1> Carbon St. 999 > Random DN 2 letters (see
wm Yrnepopa. ctans AJIEATOPHOE 15w | o6 Table of Threads
2> AISI316 150> 1,5 0,1mm page 999-1)
503. Hepx.cranb 250> 25 0,1mm 2> %’ | 10
350 > 3,5 0,1mm 2 Gykebl (cM.
450 > 4,5 0,lmm 3> % |13  Tabnuuy pess6
cTp. 999-1)
4> %" | 20
5>1 |25

* Random regulation for VPC (999) although it is possible to
regulate them upon request.

* BHyTpeHHee perynupoBaHue cepum VPC aBnsaeTcs 4OroBOPHbLIM
(999). KnuneHT perynupyeT cam unu no 3akasy, Inteva npeanaraer
OTrpy3Ky C OTPErynMpoBaHHbIM NPOAYKTOM.

INTEVA S.A. Reserves the right to make modifications in its products without prior notice INT EV A



502 CEPVIA
\/PC BSP;

Ha Z1. lpy HopMasnbHbBIX YCIOBUAX, 0bpaTHLIV npoLece ¢ Z1 Ha Z CBOOOAEH.:
lpy yBennyeHun aaBneHus B HanpaBneHun Z1 - Z, auck broknpyet npoxon paboyeun cpeabl.
Takum obGpa3om KnanaH npefoTBpallaeT 6e3KOHTPOSIbHOE NaAeHe AaBrieHNSA B CUCTEME.
T- no3BonsAeT perynupoBatb MOMEHT peakuum AucKa, B 3aBUCUMOCTUN OT CUCTEMbI B KOTOPOM
YCTaHOBJIEH KanaH.

| | BODY M - F/ TUIN KOPMYCA MALE-FEMALE

APTUKYN CH1

CH1

. 06 " BSP M. " BSP__ 502.19991AM 19 50 12
10 %"BSP M. %" BSP 502.19992AN 22 59 13
13 %"BSP M. 2" BSP__ 502.19993A0 27 65 15 350Bar
20 %" BSP M. %" BSP 502.19994AP 36 78 16
25 1"BSP M. 1" BSP 502.19995AQ 41 92 18

“‘ e BODY F - F/ TN KOPMNYCA FEMALE-FEMALE
| 0 APTUKYN CH1
i ’ 9 06 ¥BSP % BSP___ 502.19991AB 19 48
< Nl U 10 % BSP % BSP___ 50219992AC 22 59
M 13 % BSP % BSP___ 50219993AD 27 62 350Bar
| 20 % BSP % BSP____ 502.19994AE 36 72
| 25 1"BSP 1"BSP____ 502.19995AF 41 86

CARTRIDGE/ KAPTPUOX /| BAPABAH

Z1

[ APTUKYN
06 va" BSP 503.19991AM 10 23
z | < 10 %" BSP 503.19992AN 13.80 23
= 13 2" BSP 503.19993A0 16 34 350Bar
' 20 %" BSP 503.19994AP 20 34
L 25 1" BSP 503.19995AQ 24 43

=7
=3
S R

DAl

MO CMNEL. 3AKA3Y:

Mo 3akasy, Inteva npegnaraet Cepuio VPC co wryuepom
perynupoBkv aaeneHus. [ns 3akasa gonucatb 3 uudpbl B
3aBMCUMOCTU OT AMaMeTpa, Hanpuvep:
+0,6mm___ 060
*1mm 100

il
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



504 CEPUA

m ATR CARBON SITEEL — YriepoaucTtas ctanb
AlS| 316 —iHepxaBejolias,.cranb

CozaaHHbI Ans npeaoTBpalleHVs BO3BpaTa paboyen cpedbl B CUCTEME.
3akpbiTve knanaHHoe Metann — MeTtann, 6e3 npokiiagku. Bbicokasi yCTOMUMBOCTL K nepenagam
AaBneHvs. [laBneHue OoTKpbITUA CTaHAAPTHOro KnanaHa 5psi. CneuynanbHbie gaBreHus no 3akasy.
Pe3bb6a BSP y NPT, Takxe pe3bba noa 3akas.

* Working temperature (Seals)

* Materials
CARBON STEEL STAINLESS STEEL
Carbon Steel
Body/Kopnyc EN-10277-3 AISI 316L
Seals/Mpoknagky | NBR, Viton or EPDM | NBR, Viton or EPDM -30°C -10°C -40°C
Springs/nNpy>uHel Carbon Steel AISI302 DIN 17224

DIN 17233/84(B)
* Cchepa npumeHeHus

* Yrnepog. ctanb - CenbXxo3TexHUKa, NPOMbILLUITEHHOCTb

» Applications: Designed for Oil hydraulic Applications
according to European Directive 97.23.EC

AHAJIOI'
GROMELLE 4000 DMIC CVH
PARKER DC SNAP TITE CPIFF

CTPYKTYPA APTUKYNIA  1puMEP:

504. 110006 AG

Opening
pressure

1> Carbon St 1 - Poppet V. 0-> Without 00 > 0,34Bar/5psi 0,3 DN 2 letters (see
Yrnepon. ctans  Knanad Bes npoknadkn 105 1ga14psi 03 0> %" |04 Taple of Threads
2 > AISI 316 1>NBROOSh o 5,y 36psi 0,3 » page 999-1)
Hepx. cTans 2 - Viton ’ AR
3> EPDM 45 > 4,5Bar/ 65psi 0,3 2% |10 2 GyKBbI (CM.
60 > 6Bar/ 87psi 0,3 ¢ Tabnuuy pe3b6

80 > 8Bar/ 115psi 0,3 3 > 15 | 13 cTp- 999-1)

99 - 10Bar/ 145psi 0,3
4>%" |20

5->1" |25
6>1%"| 32
7>1%"| 40

8>2" |50

INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



504 CEPVIA

ATR CARBON'STEEL — YrnepoaucTtas cranb
AlS| 816,— Hepxa

STANDARD CARBON STEEL MODELS
MOLOEIN U3 YIMEPOL. CTAIUN
DALl DA2 APTVKYN @

Y’ BSP 504.110000AA

w % NPTF 504.110000BA L 44
v BSP 504.110001AB

v v NPTF 504.110001B8 = 56
% BSP 504.110002AC

@ - % NPTF ___ 504.110002BC =2 70
v BSP 504.110003AD

& % NPT 504.110003BD . o & 77

0 % BSP 504.110004AE ” "
% NPTF __ 504.110004BE
1" BSP 504.110005AF

23 1" NPTE 504.110005BF e L
17 BSP __ 504.110006AG

€2 172 NPTF ___ 504.110006BG e 125
17 BSP ___ 504.110007AH

& 172 NPTF ___ 504.110007BH 2 140
2" BSP 504.110008AI

=y 2" NPTF 504.1100088  2°0Bar = L

STANDARD STAINLESS STEEL MODELS

I CTAHOAPTHbIE MOAOEJIN U3 HEPXX. CTAITAN
OAL/ A2 APTMKYN &)
Y’ BSP 504.210000AA
04 % NPTF 504.210000BA 45 i
v BSP 504.210001AB
e v NPTF 504.210001BB e £
% BSP 504.210002AC
o o % NPTF 504.210002BC e w
i v BSP 504.210003AD 0 -
v NPTF 504.2100038D _ oo
2 % BSP 504.210004AE i o0
% NPTF 504.210004BE
1" BSP 504.210005AF
2 1" NPTF 504.210005BF e —
17 BSP 504.210006AG
32 0 NPTF | 504.210006BG &3 e
1 BSP 504.210007AH
' 40 T NPTF | 504.210007BH e e
2" BSP 504.210008AI
e 2" NPTF 504.210008B1 20084 B Sy

MO CMNELU. 3AKA3Y:
Mo 3akasy, Inteva npegnaraet Ceputo ATR cneuunansHble JaBNeHUs: OTKPbITUS.

il
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



504 CEPUA

ATR CARBON STEEL — YrmepoaucTtaa crtanb

AlS| 316 = HepxaBerluas craib
Pe3bL0bl,

TEXHUYECKUE OAHHbIE. KoadhdumumeHT 6esonacHoctu 1:4

Working Pressure Max. Working Pressure*

I/m / GPM bar / psi bar / psi

04 8/211 300 / 4350 1200 / 17400
06 26 / 6,87 300/ 4350 1200 / 17400
10 44/116 300/ 4350 1200 / 17400
13 90 / 23,85 300/ 4350 1200 / 17400
20 152 / 40,2 300 / 4350 1200 / 17400
25 200/ 52,8 300/ 4350 1200 / 17400
32 370/ 97,8 300/ 4350 1200/ 17400
40 598 / 158 300/ 4350 1200/ 17400
50 875 /231 200 / 2900 800/ 11600

* Safety factor 1:4

Ap (bar) 6

500"
)/ S
13
10

o 25 ~
: S
04
y )
. et T [N T S — -

0O 100 200 300 400 500 600 700 800 9S00 1000 I/m

-
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INT EV A



505 CEPVIA

‘ﬂ(rFQ BSP

Male®+= Female

”va“__ﬁﬁ

Co3aaHHbI Ans npeaoTBpalleHVs Bo3BpaTa paboYyen cpeas! B CUCTEME.
3akpbiTve knanaHHoe MeTtann — MeTtann, 6e3 npokiaakm.
Bbicokasi yCcTOMYMBOCTb K nepenagam AaBlieHus.
HaBneHve oTKpbITUS CTaHAAPTHOro KranaHa Spsi. CneunanbHble JaBreHusi No 3aKkasy.
Pe3bb6a BSP, Takxe pe3bba noa 3akas.

e Materials * Working temperature (Seals)
Kopnyc:Carbon Steel EN10277-3 / Inox AISI 316L
Springs:/MpyxuHbl: Carbon Steel DIN 17233/84(B)
O-rings/Mpoknagku: NBR, Viton or EPDM

» Applications: Designed for Oil hydraulic Applications * Cchepa nprmMeHeHUs1: NPOMBbILLIIEHHOCTb,
according to European Directive 97.23.EC cenbXxo3TexHuKa.
*AHAINOIA:
GROMELLE 4000 DMIC CVH
PARKER DC SNAP TITE CPIFF
CTPYKTYPA APTUKYIIA
NMPUMEP:

505. 210008 Bl

Opening
pressure

505. 1-> Carbon St. 1 - PoppetV. 0 - Without 00 - 0,34Bar/5psi 0,3 DN 2 letters (see
Yrnepoga. ctans  KnanaH Bes npoknagkn 10 1gar 14psi 03 0> |oa Tableof Threads
2 > AISI 316L 1> NBR 90Sh 25 > 2.58ar] 36psi 03 page 999-1)
Hepx. ctanb 2 - Viton ) 1>% |06

3> EPDM 45 > 4,5Bar/ 65psi 0,3 2 6ykBbI (CM.
60 > 6Bar/87psi 03 2->%" |10 Tabnuuy pe3bb
! cTp. 999-1)
80 > 8Bar/ 115psi 0,3 3> 13
99 - 10Bar/ 145psi 0,3
4 >% |20
5->1" |25
62>1%"| 32
7>1%"| 40
8>2" |50

0051

-
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INT EV A




505 CEPVIA

/&]’FQ BSP

MALE -EEMALTE

NiEVA

STANDARD MODELS

APTUKYN &)
04 %' BSPM. %' BSP 505.110000AL 14 44
06 %' BSPM. " BSP 505.110001AM 19 56
10 %'BSPM. %" BSP 505.110002AN 22 70
13 %'BSPM. %' BSP 505.110008A0 oo 30 77
20 %' BSPM. % BSP 505.110004AP 36 90
25 1"BSPM. 1"BSP 505.110005AQ 46 106
32 1% BSPM. 1% BSP___ 505.110006AR 55 125
40 1%'BSPM. _ 1%'BSP__ 505.110007AS 60 140
50 _ 2"BSP M. 2"BSP 505.110008AT _ 200Bar 75 160

vl

SPECIAL OPTIONS:

ATR Check Valves that require special opening pressures can be delivered upon request by minimum quantities.
MO CMELU. 3AKA3Y:

ATR o6paT|-|b|e KnanaHbl C cneunanbHbIM AaBleéHNeM OTKPbITUA NPU 3aKa3e MUHUMaribHOIro Kosfim4yectBa.

0052

o
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA



505 CEPVIA

AR

BSP
MALE - FEMALE

TEXHUYECKUE OAHHDbIE.

KoacdhcbuumeHT 6e3onacHocTn 1:4

Working Pressure Max. Working Pressure *

I/m / GPM bar / psi bar / psi

04 8/211 300/ 4350 1200 / 17400
06 26/ 6,87 300/ 4350 1200 / 17400
10 44 / 11,6 300/ 4350 1200/ 17400
13 90/ 23,85 300 / 4350 1200 / 17400
20 152 / 40,2 300/ 4350 1200 / 17400
25 200/ 52,8 300 / 4350 1200 / 17400
32 370/ 97,8 300 / 4350 1200 / 17400
40 598 / 158 300 / 4350 1200/ 17400
50 875 /231 200 / 2900 800 / 11600

Ap (bar) 6

* Safety factor

RESSURE DR

1:4

P

04

]/ '

20

25

50
a0 f}

=

0O 100 200 300 400 500 600 700 800 9S00 1000 l/m

0053

INTEVA S.A. Reserves the right to make modifications in its products without prior notice

=
INTEVA



999 SERIES
THREADS,

BSP NPTF BSPT
PESbBA  pO3ETKA  LUTEKEP PESbBA  bO3ETKA LUTEKEP PESbBA ' po3ETKA  IITEKEP
(aronmbI) (aronmbI) (AIONMbI)
Ve AA AL Ve BA BL
Va? AB AM Vi’ BB BM 2 DB DM
%" AC AN %" BC BN %" DC DN
" AD AO s BD BO " DD DO
/4 AE AP 3 BE BP 74 DE DP
1 AF AQ 1" BF BO 1 DF DQ
1V AG AR 1 %" BG BR 1% DG DR
11" AH AS 11" BH BS 1% DH DS
2" Al AT 2" Bl BT 2" DI DT
2" AJ AU 2V BJ BU
3’ AK AV 3” BK BV

DIN3852 UNF CNEUMNAINBbHBLIE
ORB
PE3bBA PE3bBA PE3bBA PO3ETKA LUTEKEP PE3bBA
e CL M14x1,5 NC 7/16”-20UNF GA HA KFA M20x1,5 @13,5
Zs CM M16x1,5 ND 9/16”-18UNF GC HC KFB M20x1,5 KoHnuyeckan60°
% CN M18x1,5 NE 11/16”-16UN GE HE HFA ¥4"-16M. Bes 37°
Yo" CO M20x1,5 NF 34"-16 UNF GF HF JDA  M16x1,5 CtaumoHap. M20x1,5
" CP M22x1,5 NG 13/16”-16UN GG HG GFA %"-16UNF LinnnHgpuy.
1” CQ M24x1,5 NH 7/8"-14UNF GH HH JGA M22x1,5 Prolonged
1% CR M26x1,5 NI 1 1/16”-12UN GK HK JGB M22x1,5 15L Long. Hex 35mm
1% CS M30x2 NJ 1 3/16”-12UN GM HM LGA M22 CtaumoHapH.yamnHeH.
2" CT M36x2 NK 1 5/16”-12UN GO HO
M42x2 NL 1 7/16”-12UN GQ HQ
M45x2 NM 1 5/8"-12UN GT HT
M52x2 NN 111/16"-12UN GU HU
M30x1,5 NS 1 7/8”-12UN GV HV

DIN2353 DIN2353 CTAUMOHAPHbIE
PE3bBA PE3bBA PE3bBA PE3bBA
M12x1,5 6L JB M16x1,5 8S KD M12x1,5 6L LB M16x1,5 8S MD
M14x1,5 8L JC M18x1,5 10S KE M14x1,5 8L LC M18x1,5 10S ME
M16x1,5 10L JD M20x1,5 12S KF M16x1,5 10L LD M20x1,5 12S MF
M18x1,5 12L JE M22x1,5 14S KG M18x1,5 12L LE M22x1,5 14S MG
M22x1,5 15L JG M24x1,5 16S KH M22x1,5 15L LG M24x1,5 16S MH
M26x1,5 18L Ji M30x2 20S KJ M26x1,5 18L LI M30x2 20S MJ
M30x2 22L JJ M36x2 25S KK M30x2 22L LJ M36x2 25S MK
M36x2 28L JK M42x2 30S KL M36x2 28L LK M42x2 30S ML
M45x2 35L JM M52x2 38S KN M45x2 35L LM M52x2 38S MN

A
INTEVA S.A. Reserves the right to make modifications in its products without prior notice INTEVA






